## ABERDEEN SD 5(ABERDE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Egg Take		
Run:	NA			
Stock:	WYNOOCHEE R 22.0260	Shipping	200	11
Brood Origin:	MIXED	Received	250	13
Integrated/Segregated:	INTEGRATED	Planted		

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Sta	ge	
Received	01/2025	01/2025	LK ABI	ERDEEN HATCHE	ERY	250	20.0	13	JUVEN	ILE
Shipped	05/2025	05/2025	LK ABI	ERDEEN HATCHE	200	18.0	11	JUVEN	ILE	
Estimated Release		elease	FPP	Total Pounds	Life Stage	Release Site		Mark <sup>-</sup>	Гуре	Tagged

## ABERDEEN SD 5(ABERDE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	200	67
Brood Origin:	HATCHERY	Received	250	50
Integrated/Segregated:		Planted		

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage
Received	08/2024	08/2024	LK ABERDEEN HA	ATCHERY	250	5.0	50	JUVENILE
Shipped	05/2025	05/2025	LK ABERDEEN HA	ATCHERY	200	3.0	67	JUVENILE
Estimated Release		lease	FPP Total Pou	ınds Life Stage	Release Site		Mark	Type Tagged

## ABERDEEN SD 5(ABERDE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	c = 1		
Run:	NA	Egg Take		
Stock:	WYNOOCHEE R 22.0260	Shipping	200	11
Brood Origin:	MIXED	Received	1,250	13
Integrated/Segregated:	INTEGRATED	Planted	750	1

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life Sta	age
Received		01/2025	01/2025	LK AF	BERDEEN HATCH	ERY	1,000		0	EGGS	EYED
Received		01/2026	01/2026	LK AF	BERDEEN HATCH	250	20.0	13	JUVEI	NILE	
Shipped		05/2026	05/2026	LK AF	LK ABERDEEN HATCHERY		200	18.0	11	JUVEI	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	e Num Re	elease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
05/2025	05/2025		750	750.0	1	JUVENILE	STEWART CR 22.0	)192			

## ABERDEEN SD 5(ABERDE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	200	67
Brood Origin:	HATCHERY	Received	250	50
Integrated/Segregated:		Planted		

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stag	e	
Received	08/2025	08/2025	LK ABERD	EEN HATCHE	RY	250	5.0	50	JUVENI	LE
Shipped	05/2026	05/2026	LK ABERD	EEN HATCHE	200	3.0	67	JUVENI	LE	
Estimated Release		lease	FPP To	otal Pounds	Life Stage	Release Site		Mark <sup>-</sup>	Туре	Tagged

## AGATE PASS SEA PENS

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	272,000	13,600
Integrated/Segregated:	INTEGRATED	Planted	270,000	27,000

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	GORST CR REAR.POND-1	272,000	20.0	13,600	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	220,000	10.0	22,000	JUVENILE	AGATE PASS SEA PENS	AD	
06/2026	06/2026	50,000	10.0	5,000	JUVENILE	AGATE PASS SEA PENS	AD	$\checkmark$

Memo:

## ALL SAINTS SCHOOL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2025	02/2025	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	CLARKS CR 10.0027		

## ANNIE WRIGHT SCHOOL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	c		
Run:	ΝΑ	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	SWAN CR 10.0023		

## ARTONDALE ES(GIG HAR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	200	0
Integrated/Segregated:	INTEGRATED	Planted	175	0

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	200		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	175	500.0	0	JUVENILE	ARTONDALE CR 15.0075		

Memo: Program implementation is dependent on legal authority and funding. Inactivated with BY 2016 by Josh N.

## BEAR SPRINGS 1 (20)

#### QUILEUTE TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chinook	c		- otari ounus
Run:	Summer	Egg Take		
Stock:	SOL DUC R 20.0096	Shipping		
Brood Origin:	MIXED	Received	255,000	2,050
Integrated/Segregated:	INTEGRATED	Planted	255,000	18,721

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2024	04/2024	LONESOME CR HATCHERY	150,000	150.0	1,000	JUVENILE
Received	05/2024	06/2024	SOLDUC HATCHERY	105,000	100.0	1,050	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2024	07/2024	70,000	65.0	1,077	JUVENILE	SOL DUC R 20.0096		
06/2024	07/2024	50,000	65.0	769	JUVENILE	SOL DUC R 20.0096	AD	
03/2025	04/2025	80,000	8.0	10,000	JUVENILE	SOL DUC R 20.0096		$\checkmark$
03/2025	04/2025	55,000	8.0	6,875	JUVENILE	SOL DUC R 20.0096	AD	

Memo: Program implementation is dependent on legal authority and funding. Cooperative with WDFW.

## BEAR SPRINGS 1 (20)

#### QUILEUTE TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	I		
Run:	Summer	Egg Take		
Stock:	SOL DUC R 20.0096	Shipping		
Brood Origin:	MIXED	Received	300,000	2,500
Integrated/Segregated:	INTEGRATED	Planted	295,000	19,337

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	LONESOME CR HATCHERY	150,000	150.0	1,000	JUVENILE
Received	05/2025	06/2025	SOLDUC HATCHERY	150,000	100.0	1,500	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	07/2025	70,000	65.0	1,077	JUVENILE	SOL DUC R 20.0096		
06/2025	07/2025	90,000	65.0	1,385	JUVENILE	SOL DUC R 20.0096	AD	
03/2026	04/2026	80,000	8.0	10,000	JUVENILE	SOL DUC R 20.0096		$\checkmark$
03/2026	04/2026	55,000	8.0	6,875	JUVENILE	SOL DUC R 20.0096	AD	

Memo: Program implementation is dependent on legal authority and funding. Cooperative with WDFW.

## **BELLERMINE PREP SCHL**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	CHAMBERS CR 12.0007		

## **BETHEL HS (SPANAWAY)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teles		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	250	1

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	250	500.0	1	JUVENILE	CLARKS CR 10.0027		

## **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping	51,000	3,000
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	150,000	8,824

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	WESTPORT NET PENS	51,000	17.0	3,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	150,000	17.0	8,824	JUVENILE	SATSOP R -EF 22.0360	AD	

### **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	с т.		
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping	631,250	12,369
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	450,000	26,471

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	<b>Total Pounds</b>	Life Sta	age
Shipped		06/2024	06/2024	SATS	OP SPRINGS PONI	DS	500,000	100.0	5,000	JUVE	NILE
Shipped		01/2025	01/2025	FRIE	NDS LANDING NP		26,250	22.0	1,193	JUVEI	NILE
Shipped		01/2025	01/2025	WEST	FPORT NET PENS		105,000	17.0	6,176	JUVE	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	elease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
03/2025	05/2025	30	0,000	17.0	17,647	JUVENILE	SATSOP R -EF 22.0	360	AD		
03/2025	05/2025	7	5,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0	360			$\checkmark$
03/2025	05/2025	7:	5,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0	360	AD		$\checkmark$

## **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Teles		
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping	210,000	140
Brood Origin:	MIXED	Received	450,000	0
Integrated/Segregated:	INTEGRATED	Planted	200,000	444

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2024	11/2024	SATSOP SPRINGS PONDS	450,000		0	EGGS GREEN
Shipped	12/2024	01/2025	SATSOP SPRINGS PONDS	210,000	1,500.0	140	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	200,000	450.0	444	JUVENILE	SATSOP R -EF 22.0360		

## **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fag Taka		Total Total of
Run:	Fall	Egg Take		
Stock:	SATSOP R 22.0360	Shipping	310,000	3,100
Brood Origin:	MIXED	Received	600,000	0
Integrated/Segregated:	INTEGRATED	Planted	200,000	2,500

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2024	11/2024	SATSOP SPRINGS PONDS	600,000		0	EGGS GREEN
Shipped	04/2025	04/2025	SATSOP SPRINGS PONDS	310,000	100.0	3,100	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	200,000	80.0	2,500	JUVENILE	SATSOP R -EF 22.0360	AD	

## **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	180,000	
Run:	Late	Lgg Take	180,000	
Stock:	SATSOP R 22.0360	Shipping	52,300	3,000
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	150,000	8,824

### **Estimated Brood Data**

Egg Take Goal 180,000

### **Estimated Transfer Data**

Shipped or I	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life Sta	age
Shipped		01/2025	01/2025	LITTI	EROCK ES		500		0	EGGS	GREEN
Shipped		01/2025	01/2025	MON	TESANO JHS HS		300		0	EGGS	EYED
Shipped		01/2025	01/2025	RFEG	6 - SALMON IN T	HE CLASSROOM	500		0	EGGS	EYED
Shipped		01/2026	01/2026	WEST	PORT NET PENS		51,000	17.0	3,000	JUVEI	NILE
<b>Estimated</b>	Release	Data									
Start Date	End Date	e Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	05/2026	15	0,000	17.0	8,824	JUVENILE	SATSOP R -EF 22.036	0	AD		

### **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Coho	Fag Taka		
NA			
SATSOP R 22.0360	Shipping	631,250	12,369
MIXED	Received		
INTEGRATED	Planted	450,000	26,471
	Coho NA SATSOP R 22.0360 MIXED	Coho NA SATSOP R 22.0360 Shipping MIXED Received	CohoTotal #NAEgg Take1,469,000SATSOP R 22.0360Shipping631,250MIXEDReceivedReceived

### **Estimated Brood Data**

**Egg Take Goal** 1,469,000

### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	<b>Total Pounds</b>	Life Sta	age
Shipped		06/2025	06/2025	SATS	OP SPRINGS PONI	DS	500,000	100.0	5,000	JUVE	NILE
Shipped		01/2026	01/2026	FRIE	NDS LANDING NP		26,250	22.0	1,193	JUVE	NILE
Shipped		01/2026	01/2026	WEST	FPORT NET PENS		105,000	17.0	6,176	JUVEI	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	05/2026	300	),000	17.0	17,647	JUVENILE	SATSOP R -EF 22.0	360	AD		
03/2026	05/2026	75	5,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0	360	AD		$\checkmark$
03/2026	05/2026	75	5,000	17.0	4,412	JUVENILE	SATSOP R -EF 22.0	360			$\checkmark$

## **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead				
Run:	Winter-Late		Egg Take		
Stock:	SATSOP R 22.0360		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	55,000	11,000
Estimated Brood Data	<u>1</u>				· · · ·
Egg Take Goal					
Estimated Transfer Da	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	55,000	5.0	11,000	JUVENILE	SATSOP R -EF 22.0360	AD	

Memo: Program implementation is dependent on legal authority and funding. Excess fish into Satsop River EF

### **BINGHAM CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025				Total #	Total Pounds
Species:	Steelhead			Egg Take	110,000	
Run:	Winter-Late				110,000	
Stock:	SATSOP R 22.0360			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	55,000	7,857
Estimated Brood Data	<u>a</u>					
Egg Take Goal 110	,000					
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	55,000	7.0	7,857	JUVENILE	SATSOP R -EF 22.0360	AD	

Memo: Program implementation is dependent on legal authority and funding. Excess fish into Satsop River EF

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022							Total #	<b>Total Pounds</b>
Species:	Rainbow	v					Fac Take		
Run:	NA						Egg Take		
Stock:	SPRING	CR-GOLDEND	ALE				Shipping		
Brood Origin:	HATCHE	RY					Received	300	1,500
Integrated/Segregate	d: SEGREG	ATED					Planted		
Estimated Brood	<u>Data</u>								
Egg Take Goal									
Estimated Transfe	r Data								
Shipped or Received	Start Date	End Date	Facility	1		Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	SOLD	UC HATCHERY		300	0.2	1,500	JUVENILE
Estimated Release	<u>Data</u>								
Start Date End Dat	e Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	<b>Release Site</b>		Mark	Type Tagged

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby. Increased costs to be paid by P.C.S.C. Fish planted are remainder from Derby. Leftover Derby fish planted into Wentworth Lake.

Tuesday, January 16, 2024

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	3,700	4,900
Integrated/Segregated:	SEGREGATED	Planted	1,300	1,700

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	SOLDUC HATCHERY	3,400	1.0	3,400	JUVENILE
Received	04/2026	04/2026	SOLDUC HATCHERY	300	0.2	1,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	1,200	1.0	1,200	JUVENILE	WENTWORTH LK (CLAL)		
04/2026	04/2026	100	0.2	500	JUVENILE	WENTWORTH LK (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby. Increased costs to be paid by P.C.S.C. Fish planted are remainder from Derby. Leftover Derby fish planted into Wentworth Lake.

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	3,700	4,900
Integrated/Segregated:	SEGREGATED	Planted	1,500	2,700

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	SOLDUC HATCHERY	3,400	1.0	3,400	JUVENILE
Received	04/2027	04/2027	SOLDUC HATCHERY	300	0.2	1,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	1,200	1.0	1,200	JUVENILE	WENTWORTH LK (CLAL)		
04/2027	04/2027	300	0.2	1,500	JUVENILE	WENTWORTH LK (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby. Increased costs to be paid by P.C.S.C. Fish planted are remainder from Derby. Leftover Derby fish planted into Wentworth Lake.

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead		Faa Taka		
Run:	Summer		Egg Take		
Stock:	BOGACHIEL HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	30,000	6.0	5,000	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Eggs taken mid-November thru December. 100% Sample.

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Staalbaad		Total #	Total Pounds
Species: Run:	Steelhead Winter	Egg Ta	<e< th=""><th></th></e<>	
Stock:	BOGACHIEL HATCHERY	Shippi	ng	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregated:	SEGREGATED	Plante	d 150,000	25,000
Estimated Brood Dat	<u>a</u>			, ,
Egg Take Goal				
Estimated Transfer D	ata			
Shipped or Received St	art Date End Date Facility	Number F	PP Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	6.0	16,667	JUVENILE	BOGACHIEL R 20.0162	AD	
04/2025	04/2025	50,000	6.0	8,333	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Cooperative with Quileute Tribe. Backfill Chalaat Creek Hatchery with eyed eggs if needed.

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead		Egg Take	60,000	
Run:	Summer			00,000	
Stock:	BOGACHIEL HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Dat	<u>a</u>	· · · · · · · · · · · · · · · · · · ·			
Egg Take Goal 60,0	000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	30,000	6.0	5,000	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Eggs taken mid-November thru December. 100% Sample.

## **BOGACHIEL HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Winter	Egg Take	275,000	
Stock:	BOGACHIEL HATCHERY	Shipping	100,000	0
Brood Origin:	HATCHERY	Received	80,000	533
Integrated/Segregated:	SEGREGATED	Planted	150,000	25,000

#### **Estimated Brood Data**

Egg Take Goal 275,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2025	02/2025	LONESOME CR HATCHERY	100,000		0	EGGS EYED
Received	07/2025	07/2025	LONESOME CR HATCHERY	80,000	150.0	533	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	100,000	6.0	16,667	JUVENILE	BOGACHIEL R 20.0162	AD	
04/2026	04/2026	50,000	6.0	8,333	JUVENILE	CALAWAH R 20.0175	AD	

Memo: Program implementation is dependent on legal authority and funding. Cooperative with Quileute Tribe. Backfill Chalaat Creek Hatchery with eyed eggs if needed.

## **BRYANT ES (TACOMA)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Tako		
Run:	NA	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SOOS CREEK HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	GREEN R TRIB 09.0038		

## CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	E		
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	52,500	2,100
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	52,500	25.0	2,100	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

## CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Coo Toles		
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	52,500	2,100
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	52,500	25.0	2,100	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

## CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	52,500	2,100
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	SKOOKUMCHUCK HATCHERY	52,500	25.0	2,100	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

## CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Con Talua		
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	52,500	2,100
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	SKOOKUMCHUCK HATCHERY	52,500	25.0	2,100	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	50,000	17.0	2,941	JUVENILE	GHEER CR 23.0913	AD	

## CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Teles		
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	35,000	0
Integrated/Segregated:	INTEGRATED	Planted	30,000	3,000

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2024	02/2024	SKOOKUMCHUCK HATCHERY	35,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	30,000	10.0	3,000	JUVENILE	GHEER CR 23.0913	AD	

## CARLISLE LK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	I		
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	35,000	0
Integrated/Segregated:	INTEGRATED	Planted	30,000	3,000

## **Estimated Brood Data**

```
Egg Take Goal
```

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	SKOOKUMCHUCK HATCHERY	35,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	30,000	10.0	3,000	JUVENILE	GHEER CR 23.0913	AD	

## CHALAAT CR HATCHERY

#### HOH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species: Run:	Steelhead Winter	E	Egg Take		
Stock:	CHALAAT CR HATCHERY	5	Shipping		
Brood Origin:	HATCHERY	F	Received		
Integrated/Segregated:	SEGREGATED	F	Planted	100,000	14,286
Estimated Brood Data	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	<u>ata</u>				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	90,000	7.0	12,857	JUVENILE	CHALAAT CR 20.0423	AD	
04/2025	05/2025	10,000	7.0	1,429	JUVENILE	CHALAAT CR 20.0423	AD	$\checkmark$

Memo:

## **CHAMBERS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chinook			
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	150,000	2,500
Integrated/Segregated:	SEGREGATED	Planted	150,000	3,000

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2024	05/2024	GARRISON HATCHERY	150,000	60.0	2,500	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2024	06/2024	150,000	50.0	3,000	JUVENILE	CHAMBERS CR 12.0007	AD	

## **CHAMBERS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	45,000	4,500
Integrated/Segregate	ed:	Planted	45,000	18,000

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	11/2024	PUYALLUP HATCHERY	45,000	10.0	4,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	45,000	2.5	18,000	JUVENILE	REG 6 LAKES		

## **CHAMBERS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	c		. otari ounus
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	150,000	2,500
Integrated/Segregated:	SEGREGATED	Planted	150,000	3,000

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	GARRISON HATCHERY	150,000	60.0	2,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	150,000	50.0	3,000	JUVENILE	CHAMBERS CR 12.0007	AD	

## **CHAMBERS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Kokanee	Con Tales		
Run:	NA	Egg Take		
Stock:	LK WHATCOM STOCK	Shipping		
Brood Origin:	HATCHERY	Received	550,000	0
Integrated/Segregated:		Planted	500,000	1,666

## **Estimated Brood Data**

```
Egg Take Goal
```

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	LK WHATCOM HATCHERY	550,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	250,000	300.0	833	JUVENILE	PIERCE CO LAKES		
03/2025	05/2025	250,000	300.0	833	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Planted at 200 - 400 fpp.

## **CHAMBERS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	45,000	4,500
Integrated/Segregate	ed:	Planted	45,000	18,000

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	PUYALLUP HATCHERY	45,000	10.0	4,500	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	45,000	2.5	18,000	JUVENILE	REG 6 LAKES		

## CHARLES WRIGHT ACAD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teles		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	100	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	100		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	100	500.0	0	JUVENILE	PUGET CREEK		

## **CITY OF FEDERAL WAY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	6,225	0
Integrated/Segregated:	INTEGRATED	Planted	5,595	11

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	6,225		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	5,595	500.0	11	JUVENILE	HYLEBOS CR 10.0006		

Memo: Program implementation is dependent on legal authority and funding. Multiple school groups combined.

## **CLARKS CRK HATCHERY**

PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	C T-l		Total Total of
Run:	ΝΑ	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping	150,000	6,522
Brood Origin:	MIXED	Received	3,200	145
Integrated/Segregated:	INTEGRATED	Planted	3,200	145

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	KAPOWSIN LK NET PENS	150,000	23.0	6,522	JUVENILE
Received	02/2025	02/2025	VOIGHTS CR HATCHERY	3,200	22.0	145	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	04/2025	3,200	22.0	145	JUVENILE	PUYALLUP R 10.0021	AD	

Memo: To Calibrate screw trap.

## **CLARKS CRK HATCHERY**

PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Egg Tako	2,200,000	
Run:	Fall	Egg Take	2,200,000	
Stock:	PUYALLUP R 10.0021	Shipping	652,000	3,520
Brood Origin:	MIXED	Received	900,000	0
Integrated/Segregated:	INTEGRATED	Planted	1,020,000	17,000

### **Estimated Brood Data**

**Egg Take Goal** 2,200,000

### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Sta	ge
Received		09/2024	10/2024	VOIG	HTS CR HATCHER	RY	900,000		0	EGGS (	GREEN
Shipped		03/2025	03/2025	RUSH	INGWATER AC PO	OND	200,000	200.0	1,000	JUVEN	ILE
Shipped		03/2025	03/2025	WILK	ESON CREEK HAT	ГCHERY	400,000	200.0	2,000	JUVEN	ILE
Shipped		04/2025	04/2025	POIN	T DEFIANCE NET	PENS	52,000	100.0	520	JUVEN	ILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
05/2025	05/2025	1,000	,000	60.0	16,667	JUVENILE	CLARKS CR 10.00	)27	AD		
06/2025	06/2025	20	,000	60.0	333	JUVENILE	HYLEBOS CR 10.0	006	AD		

Memo: Transfer from Voights Creek Hatchery is up to 900,000.

## **CLARKS CRK HATCHERY**

PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Tako		
Run:	NA	Egg Take	220,000	
Stock:	PUYALLUP R 10.0021	Shipping	150,000	6,522
Brood Origin:	MIXED	Received	3,200	145
Integrated/Segregated:	INTEGRATED	Planted	3,200	145

### **Estimated Brood Data**

Egg Take Goal 220,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2026	01/2026	KAPOWSIN LK NET PENS	150,000	23.0	6,522	JUVENILE
Received	02/2026	02/2026	VOIGHTS CR HATCHERY	3,200	22.0	145	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2026	04/2026	3,200	22.0	145	JUVENILE	PUYALLUP R 10.0021	AD	

Memo: To Calibrate screw trap.

## **CLEAR CREEK HATCHERY**

#### NISQUALLY TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Chinook			Egg Take	4,000,000	
Run:	Fall				4,000,000	
Stock:	CLEAR CR 11.0013C			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	3,500,000	63,636
Estimated Brood Data	<u>a</u>					
Egg Take Goal 4,00	0,000					
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	200,000	55.0	3,636	JUVENILE	CLEAR CR 11.0013C	AD	$\checkmark$
05/2025	05/2025	200,000	55.0	3,636	JUVENILE	CLEAR CR 11.0013C		$\checkmark$
05/2025	05/2025	3,100,000	55.0	56,364	JUVENILE	CLEAR CR 11.0013C	AD	

Memo: Up to 1 million total planted into the head water of McAllister Creek from Kalama Creek and/or Clear Creek Hatchery.

## **CLOVER PARK SD 400**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Teles		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	900	0
Integrated/Segregated:	INTEGRATED	Planted	900	1

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	900		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	700	500.0	1	JUVENILE	CHAMBERS CR 12.0007		
05/2025	05/2025	200	500.0	0	JUVENILE	CLOVER CR 12.0007		

## CONCORDIA LUTH SCHL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	CLARKS CR 10.0027		

## **COULTER CR REARING POND**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	с т.		
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping	3,800,000	31,667
Brood Origin:	HATCHERY	Received	4,000,000	4,000
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	,		Number	FPP	Total Pounds	Life Stage	e
Received	01/2025	01/2025	MINT	ER CR HATCHERY	4,000,000	1,000.0	4,000	JUVENI	LE	
Shipped	03/2025	05/2025	TUMV	VATER FALLS HA	3,800,000	120.0	31,667	JUVENI	LE	
Estimated Releas		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

# **COVENANT HS (PIER)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	HATCHERY	Received	200	0
Integrated/Segregated:	SEGREGATED	Planted	180	0

#### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	01/2025	SOOS CREEK HATCHERY	200		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	180	500.0	0	JUVENILE	BIG SOOS CR 09.0072		

Memo: Program implementation is dependent on legal authority and funding. Former Friends of Ish school.

## **CURIOUS BY NATURE**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	75	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	100		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	75	500.0	0	JUVENILE	CRESCENT CR 15.0099		

# DEEP CR 23.0957

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teles		
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	100,000	0
Integrated/Segregated:	INTEGRATED	Planted	90,000	60

### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	100,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	45,000	1,500.0	30	JUVENILE	GABLE CR 23.0959		
03/2025	03/2025	45,000	1,500.0	30	JUVENILE	TAPP CR 23.0958		

# DISCOVERY ES #2(GIG

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		Total Total
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MINTER CR 15.0048		

# DOBBS CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	5,000	0
Integrated/Segregated:	INTEGRATED	Planted	5,000	3

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	5,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	5,000	1,500.0	3	JUVENILE	DOBBS CR 13.0005		

Memo: Program implementation is dependent on legal authority and funding. Remote Site Incubator Project.

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species:	2023 Chinook			Total #	Total Pounds
Run:	Spring		Egg Take Shipping		
Stock: Brood Origin:	DUNGENESS R 18.0018 MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	450,000	9,000
Estimated Brood Data Egg Take Goal	L				
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	06/2024	400,000	50.0	8,000	JUVENILE	DUNGENESS R 18.0018	LV	$\checkmark$
05/2024	06/2024	50,000	50.0	1,000	JUVENILE	DUNGENESS R 18.0018		$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. ESA listed species. Release during heavy smoltification. The 400k release is progeny of captive broodstock.

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Coho	[		Total #	Total Pounds
Species: Run:	Coho NA		Egg Take		
Stock:	DUNGENESS HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	800,000	47,059
Estimated Brood Dat	<u>a</u>	L			
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	50,000	17.0	2,941	JUVENILE	DUNGENESS R 18.0018	AD	
05/2025	06/2025	750,000	17.0	44,118	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Program implementation is dependent on legal authority and funding. Fry plant into restored stream in partnership with NOSC. Yearling release on May 15th.

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	с т.		
Run:	Spring	Egg Take		
Stock:	DUNGENESS R 18.0018	Shipping		
Brood Origin:	MIXED	Received	462,000	3,080
Integrated/Segregated:	INTEGRATED	Planted	450,000	9,000

#### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	HURD CR HATCHERY	462,000	150.0	3,080	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	400,000	50.0	8,000	JUVENILE	DUNGENESS R 18.0018	LV	$\checkmark$
05/2025	06/2025	50,000	50.0	1,000	JUVENILE	DUNGENESS R 18.0018		$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. ESA listed species. Release during heavy smoltification. The 400k release is progeny of captive broodstock.

# **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	880,000	
Run:	NA			
Stock:	DUNGENESS HATCHERY	Shipping	7,500	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	800,000	47,059

#### **Estimated Brood Data**

Egg Take Goal 880,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2024	12/2024	HURD CR HATCHERY	7,500		0	EGGS GREEN

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	50,000	17.0	2,941	JUVENILE	DUNGENESS R 18.0018	AD	$\checkmark$
05/2026	06/2026	750,000	17.0	44,118	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Program implementation is dependent on legal authority and funding. Fry plant into restored stream in partnership with NOSC. Yearling release on May 15th.

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	- <b>-</b> 1		1010110001100
Run:	Winter	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	10,500	1,750
Integrated/Segregated:	SEGREGATED	Planted	10,000	2,000

### Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	10,500	6.0	1,750	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	10,000	5.0	2,000	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins May 1st contingent on legal authority and funding.

## **DUNGENESS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

		Total #	Total Pounds
Species: Steelhead			
Run: Winter	Egg Take	50,000	
Stock: DUNGENESS HATC	ERY Shipping	50,000	0
Brood Origin: HATCHERY	Received	10,500	1,750
Integrated/Segregated: SEGREGATED	Planted	10,000	2,000

#### **Estimated Brood Data**

Egg Take Goal 50,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2025	02/2025	HURD CR HATCHERY	50,000		0	EGGS GREEN
Received	01/2026	02/2026	HURD CR HATCHERY	10,500	6.0	1,750	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	10,000	5.0	2,000	JUVENILE	DUNGENESS R 18.0018	AD	

Memo: Program implementation is dependent on legal authority and funding. Volitional release begins May 1st contingent on legal authority and funding.

## **DUNGENESS R AUDUBON**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	DUNGENESS R 18.0018		

# EAST OLYMPIA ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	SKOOKUMCHUCK 23.0761		

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	HATCHERY	Received	40,000	2,222
Integrated/Segregated:	SEGREGATED	Planted	40,000	2,667

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2025	03/2025	MAKAH NFH ON TSOO-YESS R	40,000	18.0	2,222	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	40,000	15.0	2,667	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	с т.		
Run:	Fall	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	MIXED	Received	100,000	400
Integrated/Segregated:	INTEGRATED	Planted	100,000	1,818

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	MAKAH NFH ON TSOO-YESS R	100,000	250.0	400	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	100,000	55.0	1,818	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Faa Taka		
Run:	NA	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	HATCHERY	Received	40,000	2,222
Integrated/Segregated:	SEGREGATED	Planted	40,000	2,667

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	MAKAH NFH ON TSOO-YESS R	40,000	18.0	2,222	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	40,000	15.0	2,667	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	HATCHERY	Received	22,000	3,143
Integrated/Segregated:	SEGREGATED	Planted	22,000	3,667

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	MAKAH NFH ON TSOO-YESS R	22,000	7.0	3,143	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	22,000	6.0	3,667	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

## EDUCKET CR HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Take		
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping		
Brood Origin:	HATCHERY	Received	22,000	3,143
Integrated/Segregated:	SEGREGATED	Planted	22,000	3,667

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received Start Date End Date Facility		Facility	Number	FPP	Total Pounds	Life Stage	
Received	04/2026	04/2026	MAKAH NFH ON TSOO-YESS R	22,000	7.0	3,143	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	22,000	6.0	3,667	JUVENILE	EDUCKET CR 20.0010	AD	

Memo:

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Estimated Transfe	<u>r Data</u>				
Estimated Brood D Egg Take Goal					
Integrated/Segregated		Pla	anted	2,000	2,942
Brood Origin:	HATCHERY	Re	ceived		
Stock:	EELLS SPRINGS HATCH STOCK	Sh	ipping		
Run:	Resident Coastal	Eg	g Take		
Brood Year: Species:	2022 Cutthroat			Total #	Total Pounds

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	1,000	0.7	1,471	BROODSTOCK	MASON CO LAKES		
03/2025	03/2025	1,000	0.7	1,471	BROODSTOCK	THURSTON CO LAKES		

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022				Total #	Total Pounds	
Species:	Rainbow						
Run:	NA			Egg Take			
Stock:	CALIF-MT WHITNEY			Shipping			
Brood Origin:	HATCHERY			Received			
Integrated/Segregat	ted:			Planted	2,280	7,862	
Estimated Brood	l Data						
Egg Take Goal							
Estimated Trans	fer Data						
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage	

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2025	05/2025	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2025	05/2025	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2025	05/2025	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

## **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022		Total #	Total Pounds
Species:	Rainbow	c		101011000000
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	10,300	2,866
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	457,665	200,624

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	06/2024	06/2024	HURD CR HATCHERY	3,300	50.0	66	JUVENILE
Shipped	06/2024	06/2024	SATSOP SPRINGS PONDS	7,000	2.5	2,800	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. Triploid lakes will be identified in the near future.

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	10,300	2,866
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	457,665	200,624

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2024	10/2024	31,250	1.3	24,038	JUVENILE	MASON CO LAKES		
04/2024	04/2024	17,500	2.5	7,000	JUVENILE	JEFFERSON CO LAKES		
04/2024	04/2024	25,500	2.5	10,200	JUVENILE	KITSAP CO LAKES		
04/2024	04/2024	95,965	2.5	38,386	JUVENILE	MASON CO LAKES		
04/2024	04/2024	163,250	2.5	65,300	JUVENILE	THURSTON CO LAKES		
06/2024	08/2024	65,000	2.0	32,500	JUVENILE	LEWIS CO LAKES	AD	
10/2024	10/2024	2,760	1.0	2,760	JUVENILE	JEFFERSON CO LAKES		
10/2024	10/2024	1,800	1.0	1,800	JUVENILE	KITSAP CO LAKES		
10/2024	10/2024	40,000	10.0	4,000	JUVENILE	MASON CO LAKES		
10/2024	10/2024	11,640	1.0	11,640	JUVENILE	MASON CO LAKES		
10/2024	10/2024	3,000	1.0	3,000	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Triploid lakes will be identified in the near future.

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Shipped or Received	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transf	er Data				
Estimated Brood Egg Take Goal					
Integrated/Segregate			Planted	2,000	2,942
Brood Origin:	HATCHERY		Received		
Stock:	EELLS SPRINGS HATCH STOCK		Shipping		
Run:	Resident Coastal		Egg Take		
Brood Year: Species:	2023 Cutthroat	-		Total #	Total Pounds

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	1,000	0.7	1,471	BROODSTOCK	MASON CO LAKES		
03/2026	03/2026	1,000	0.7	1,471	BROODSTOCK	THURSTON CO LAKES		

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023				Total #	Total Pounds	
Species:	Rainbow			Fag Take			
Run:	NA			Egg Take			
Stock:	CALIF-MT WHITNEY			Shipping			
Brood Origin:	HATCHERY			Received			
Integrated/Segregat	ted:			Planted	2,280	7,862	
Estimated Brood	Data						
Egg Take Goal							
Estimated Trans	fer Data						
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage	

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2026	05/2026	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2026	05/2026	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2026	05/2026	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

## **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Fee Telve		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	123,800	13,496
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	457,665	200,624

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	06/2024	06/2024	SOLDUC HATCHERY	9,000	50.0	180	JUVENILE
Shipped	10/2024	10/2024	FORKS CREEK HATCHERY	4,000	10.0	400	JUVENILE
Shipped	10/2024	10/2024	HUMPTULIPS HATCHERY	10,000	10.0	1,000	JUVENILE
Shipped	10/2024	10/2024	LK ABERDEEN HATCHERY	21,500	10.0	2,150	JUVENILE
Shipped	10/2024	10/2024	NEMAH HATCHERY	25,000	10.0	2,500	JUVENILE
Shipped	10/2024	10/2024	OFFUTT LK NP	10,000	10.0	1,000	JUVENILE
Shipped	10/2024	12/2024	LAKEWOOD HATCHERY	34,000	10.0	3,400	JUVENILE
Shipped	06/2025	06/2025	HURD CR HATCHERY	3,300	50.0	66	JUVENILE
Shipped	06/2025	06/2025	SATSOP SPRINGS PONDS	7,000	2.5	2,800	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. Triploid lakes will be identified in the near future.

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow		- Otal #	
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	123,800	13,496
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	457,665	200,624

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	10/2025	31,250	1.3	24,038	JUVENILE	MASON CO LAKES		
04/2025	04/2025	17,500	2.5	7,000	JUVENILE	JEFFERSON CO LAKES		
04/2025	04/2025	25,500	2.5	10,200	JUVENILE	KITSAP CO LAKES		
04/2025	04/2025	95,965	2.5	38,386	JUVENILE	MASON CO LAKES		
04/2025	04/2025	163,250	2.5	65,300	JUVENILE	THURSTON CO LAKES		
06/2025	08/2025	65,000	2.0	32,500	JUVENILE	LEWIS CO LAKES	AD	
10/2025	10/2025	2,760	1.0	2,760	JUVENILE	JEFFERSON CO LAKES		
10/2025	10/2025	1,800	1.0	1,800	JUVENILE	KITSAP CO LAKES		
10/2025	10/2025	40,000	10.0	4,000	JUVENILE	MASON CO LAKES		
10/2025	10/2025	11,640	1.0	11,640	JUVENILE	MASON CO LAKES		
10/2025	10/2025	3,000	1.0	3,000	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Triploid lakes will be identified in the near future.

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species:	2024 Cutthroat	[		Total #	Total Pounds
Run:	Resident Coastal		Egg Take Shipping		
Stock: Brood Origin:	EELLS SPRINGS HATCH STOCK HATCHERY	Received			
Integrated/Segregate	d:		Planted	84,500	5,277
Estimated Brood I Egg Take Goal	<u>Data</u>				
Estimated Transfe					
Shipped or Received	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Cutthroat			Total Total
Run:	Resident Coastal	Egg Take		
Stock:	EELLS SPRINGS HATCH STOCK	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	84,500	5,277

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	07/2024	15,000	300.0	50	JUVENILE	JEFFERSON CO LAKES		
05/2024	07/2024	5,500	300.0	18	JUVENILE	KITSAP CO LAKES		
05/2024	07/2024	35,000	300.0	117	JUVENILE	MASON CO LAKES		
10/2024	10/2024	3,000	20.0	150	JUVENILE	KITSAP CO LAKES		
10/2024	10/2024	5,000	20.0	250	JUVENILE	MASON CO LAKES		
10/2024	10/2024	15,000	20.0	750	JUVENILE	THURSTON CO LAKES		
05/2025	05/2025	4,000	4.0	1,000	JUVENILE	MASON CO LAKES		
03/2027	03/2027	1,000	0.7	1,471	BROODSTOCK	MASON CO LAKES		
03/2027	03/2027	1,000	0.7	1,471	BROODSTOCK	THURSTON CO LAKES		

## **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Kokanee	Fee Tales		
Run:	NA	Egg Take		
Stock:	LK WHATCOM STOCK	Shipping		
Brood Origin:	HATCHERY	Received	325,000	0
Integrated/Segregated:		Planted	250,000	833

## Estimated Brood Data

```
Egg Take Goal
```

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	LK WHATCOM HATCHERY	325,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	85,000	300.0	283	JUVENILE	MASON CO LAKES		
06/2025	06/2025	165,000	300.0	550	JUVENILE	SUMMIT LK (THUR)		

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species:	2024 Rainbow		Total #	Total Pounds
Run:	NA	Egg Ta	ke	
Stock:	CALIF-MT WHITNEY	Shippi	ng	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregat	ted:	Plante	d 5,280	7,872
Estimated Brood	<u>Data</u>			
Egg Take Goal				
Estimated Trans	fer Data			
Shipped or Received	d Start Date End Date Facility	Number	PP Total Pound	s Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2024	07/2024	3,000	300.0	10	JUVENILE	GRAYS HARBOR CO LAKES		
03/2027	05/2027	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2027	05/2027	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2027	05/2027	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2027	05/2027	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

## **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Tales		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	123,800	13,496
Brood Origin:	HATCHERY	Received	1,100,000	0
Integrated/Segregated:		Planted	457,665	194,124

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	01/2025	GOLDENDALE HATCHERY	1,100,000		0	EGGS EYED
Shipped	06/2025	06/2025	HURD CR HATCHERY	3,300	50.0	66	JUVENILE
Shipped	10/2025	10/2025	FORKS CREEK HATCHERY	4,000	10.0	400	JUVENILE
Shipped	10/2025	10/2025	HUMPTULIPS HATCHERY	10,000	10.0	1,000	JUVENILE
Shipped	10/2025	10/2025	LAKEWOOD HATCHERY	34,000	10.0	3,400	JUVENILE
Shipped	10/2025	10/2025	LK ABERDEEN HATCHERY	21,500	10.0	2,150	JUVENILE
Shipped	10/2025	10/2025	NEMAH HATCHERY	25,000	10.0	2,500	JUVENILE
Shipped	10/2025	10/2025	OFFUTT LK NP	10,000	10.0	1,000	JUVENILE
Shipped	11/2025	11/2025	SOLDUC HATCHERY	9,000	50.0	180	JUVENILE
Shipped	06/2026	06/2026	SATSOP SPRINGS PONDS	7,000	2.5	2,800	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. Triploid lakes will be identified in the near future.

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	с т.		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	123,800	13,496
Brood Origin:	HATCHERY	Received	1,100,000	0
Integrated/Segregated:		Planted	457,665	194,124

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	10/2026	31,250	1.3	24,038	JUVENILE	MASON CO LAKES		
04/2026	04/2026	17,500	2.5	7,000	JUVENILE	JEFFERSON CO LAKES		
04/2026	04/2026	25,500	2.5	10,200	JUVENILE	KITSAP CO LAKES		
04/2026	04/2026	95,965	2.5	38,386	JUVENILE	MASON CO LAKES		
04/2026	04/2026	163,250	2.5	65,300	JUVENILE	THURSTON CO LAKES		
06/2026	08/2026	65,000	2.5	26,000	JUVENILE	LEWIS CO LAKES		
10/2026	10/2026	2,760	1.0	2,760	JUVENILE	JEFFERSON CO LAKES		
10/2026	10/2026	1,800	1.0	1,800	JUVENILE	KITSAP CO LAKES		
10/2026	10/2026	11,640	1.0	11,640	JUVENILE	MASON CO LAKES		
10/2026	10/2026	40,000	10.0	4,000	JUVENILE	MASON CO LAKES		
10/2026	10/2026	3,000	1.0	3,000	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Triploid lakes will be identified in the near future.

## **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Cutthroat	Egg Tako	415,000	
Run:	Resident Coastal	Egg Take	415,000	
Stock:	EELLS SPRINGS HATCH STOCK	Shipping	267,500	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	84,500	5,277

### **Estimated Brood Data**

Egg Take Goal 415,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2024	01/2025	ARLINGTON HATCHERY	12,000		0	EGGS GREEN
Shipped	01/2025	01/2025	ARLINGTON HATCHERY	150,000		0	EGGS EYED
Shipped	01/2025	01/2025	KENDALL CR HATCHERY	100,000		0	EGGS EYED
Shipped	02/2025	03/2025	TOKUL CR HATCHERY	5,500		0	EGGS EYED

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Cutthroat	Fee Tele		
Run:	Resident Coastal	Egg Take	415,000	
Stock:	EELLS SPRINGS HATCH STOCK	Shipping	267,500	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	84,500	5,277

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	07/2025	15,000	300.0	50	JUVENILE	JEFFERSON CO LAKES		
05/2025	07/2025	5,500	300.0	18	JUVENILE	KITSAP CO LAKES		
05/2025	07/2025	35,000	300.0	117	JUVENILE	MASON CO LAKES		
10/2025	10/2025	3,000	20.0	150	JUVENILE	KITSAP CO LAKES		
10/2025	10/2025	5,000	20.0	250	JUVENILE	MASON CO LAKES		
10/2025	10/2025	15,000	20.0	750	JUVENILE	THURSTON CO LAKES		
05/2026	05/2026	4,000	4.0	1,000	JUVENILE	MASON CO LAKES		
03/2028	03/2028	1,000	0.7	1,471	BROODSTOCK	MASON CO LAKES		
03/2028	03/2028	1,000	0.7	1,471	BROODSTOCK	THURSTON CO LAKES		

## **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako	2,200,000	
Run:	NA	Egg Take	2,200,000	
Stock:	CALIF-MT WHITNEY	Shipping	372,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	5,280	7,872

### **Estimated Brood Data**

**Egg Take Goal** 2,200,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2025	02/2025	ARLINGTON HATCHERY	12,000		0	EGGS GREEN
Shipped	02/2025	02/2025	CHELAN HATCHERY	70,000		0	EGGS EYED
Shipped	02/2025	02/2025	CHELAN PUD HATCHERY	130,000		0	EGGS EYED
Shipped	02/2025	02/2025	TOKUL CR HATCHERY	20,000		0	EGGS EYED
Shipped	03/2025	03/2025	NACHES HATCHERY	15,000		0	EGGS EYED
Shipped	03/2025	04/2025	COLUMBIA BASIN HATCHERY	125,000		0	EGGS EYED

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

# **EELLS SPRINGS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take	2,200,000	
Stock:	CALIF-MT WHITNEY	Shipping	372,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	5,280	7,872

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	07/2025	3,000	300.0	10	JUVENILE	GRAYS HARBOR CO LAKES		
03/2028	05/2028	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2028	05/2028	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2028	05/2028	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2028	05/2028	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

# EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	105,000	4,200
Integrated/Segregated:	INTEGRATED	Planted	100,000	6,667

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	105,000	25.0	4,200	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	100,000	15.0	6,667	JUVENILE	EIGHT CR 23.1117	AD	

Memo: Program implementation is dependent on legal authority and funding. Part of Skookumchuck Mitigation Agreement.

# EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	105,000	4,200
Integrated/Segregated:	INTEGRATED	Planted	100,000	6,667

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2026	01/2026	SKOOKUMCHUCK HATCHERY	105,000	25.0	4,200	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	100,000	15.0	6,667	JUVENILE	EIGHT CR 23.1117	AD	

Memo: Program implementation is dependent on legal authority and funding. Part of Skookumchuck Mitigation Agreement.

# EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	33,000	3,667
Integrated/Segregated:	INTEGRATED	Planted	32,000	6,400

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	SKOOKUMCHUCK HATCHERY	33,000	9.0	3,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	32,000	5.0	6,400	JUVENILE	EIGHT CR 23.1117	AD	

# EIGHT CK/UPR CHEHALI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			Total Founds
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	33,000	3,667
Integrated/Segregated:	INTEGRATED	Planted	32,000	6,400

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	SKOOKUMCHUCK HATCHERY	33,000	9.0	3,667	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	32,000	5.0	6,400	JUVENILE	EIGHT CR 23.1117	AD	

## **ELWHA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 China a h			Total #	Total Pounds
Species:	Chinook		Egg Take		
Run:	Fall				
Stock:	ELWHA R 18.0272		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	200,000	25,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	200,000	8.0	25,000	JUVENILE	ELWHA R 18.0272	ОТ	

## **ELWHA HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fag Taka		
Run:	Fall	Egg Take	3,300,000	
Stock:	ELWHA R 18.0272	Shipping	3,300,000	0
Brood Origin:	MIXED	Received	2,260,000	6,656
Integrated/Segregated:	INTEGRATED	Planted	2,225,000	58,750

### **Estimated Brood Data**

**Egg Take Goal** 3,300,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2024	10/2024	HURD CR HATCHERY	2,800,000		0	EGGS GREEN
Shipped	09/2024	10/2024	LOWER ELWHA HATCHERY	500,000		0	EGGS GREEN
Received	01/2025	02/2025	HURD CR HATCHERY	205,000	450.0	456	JUVENILE
Received	02/2025	03/2025	SOLDUC HATCHERY	1,800,000	400.0	4,500	JUVENILE
Received	04/2025	04/2025	HURD CR HATCHERY	255,000	150.0	1,700	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	1,775,000	60.0	29,583	JUVENILE	ELWHA R 18.0272	ОТ	
05/2025	06/2025	250,000	60.0	4,167	JUVENILE	ELWHA R 18.0272	AD+OT	$\checkmark$
03/2026	04/2026	200,000	8.0	25,000	JUVENILE	ELWHA R 18.0272	ОТ	$\checkmark$

### **ENETAI HATCHERY**

#### SKOKOMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Egg Take	5,200,000	
Run:	NA			
Stock:	ENETAI CR 16.0217	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregate	ed:	Planted	5,000,000	12,500
Estimated Brood	<u>Data</u>			
Egg Take Goal	5,200,000			
Estimated Transfe	er Data			
Shipped or Received	Start Date End Date Facility	Number FPP	• Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	5,000,000	400.0	12,500	JUVENILE	ENETAI CR 16.0217		

Memo: Balance of production taken at McKernan/GA if needed.

## ENUMCLAW HS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	BOISE CR 10.0057		

# EVERGREEN ES #2(LAKE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

2023		Total #	Total Pounds
Chum	с т.		
NA	EggTake		
MINTER CR 15.0048	Shipping		
MIXED	Received	250	0
INTEGRATED	Planted	250	1
	Chum NA MINTER CR 15.0048 MIXED	Chum     Egg Take       NA     Egg Take       MINTER CR 15.0048     Shipping       MIXED     Received	Chum     Egg Take       NA     Egg Take       MINTER CR 15.0048     Shipping       MIXED     Received     250

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	250	500.0	1	JUVENILE	MINTER CR 15.0048		

# FIFE ELEMENTARY (TACOMA)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fac Take		
Run:	NA	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SOOS CREEK HATCHERY	250		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	HYLEBOS CR 10.0006		

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping	100	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2024	01/2024	GRAYS HARBOR STREAM TEAM (GRAYS)	100		0	EGGS EYED

## **Estimated Release Data**

Start Date Eind Date Multi Release FFF Total Founds Life Stage Release Site Multi Release Site Multi Release FFF	Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
--	------------	----------	-------------	-----	--------------	------------	--------------	-----------	--------

Memo: Program implementation is dependent on legal authority and funding. Backfill for Naselle.

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Caba				Total #	Total Pounds
Species: Run:	Coho Late			Egg Take		
Stock:	WILLAPA R 24.0251			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	200,000	11,765
Estimated Brood Data	<u>l</u>					
Egg Take Goal						
Estimated Transfer D	a <u>ta</u>					
Shipped or Received Sta	rt Date End Date Fa	acility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	155,000	17.0	9,118	JUVENILE	FORK CR 24.0356	AD	
03/2025	05/2025	45,000	17.0	2,647	JUVENILE	FORK CR 24.0356	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Backfill for Naselle.

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fee Tales		
Run:	NA	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping	300	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	400,000	23,530

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2024	01/2024	GRAYS HARBOR STREAM TEAM (GRAYS)	300		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356		
03/2025	04/2025	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356	AD	$\checkmark$
03/2025	05/2025	250,000	17.0	14,706	JUVENILE	FORK CR 24.0356	AD	
04/2025	05/2025	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356		$\checkmark$
04/2025	05/2025	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356	AD	$\checkmark$

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Fee Teles		10101100000
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	4,000	400
Integrated/Segregated:		Planted	4,000	4,400

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	EELLS SPRINGS	4,000	10.0	400	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	2,800	2.0	1,400	JUVENILE	PACIFIC CO LAKES		
10/2025	10/2025	1,000	0.5	2,000	JUVENILE	PACIFIC CO LAKES		
04/2026	04/2026	200	0.2	1,000	JUVENILE	PACIFIC CO LAKES		

# FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Egg Tako		
Run:	NA	Egg Take	1,000,000	
Stock:	WILLAPA R 24.0251	Shipping	350,000	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	500,000	1,111

#### **Estimated Brood Data**

**Egg Take Goal** 1,000,000

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2024	01/2025	PACIFIC CO ANGLERS	125,000		0	EGGS EYED
Shipped	12/2024	01/2025	RFEG 10 WILLAPA BAY	225,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	500,000	450.0	1,111	JUVENILE	FORK CR 24.0356		

Memo: Program implementation is dependent on legal authority and funding. May backfill with all Willapa Bay stocks (North River, Forks Creek, Willapa, Nemah, Naselle, Williams, and Bitter Creek).

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Chinook		Egg Take	440,000	
Run:	Fall				
Stock:	WILLAPA R 24.0251		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	400,000	5,000
Estimated Brood Data	2				I
Egg Take Goal440	,000				
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	07/2025	300,000	80.0	3,750	JUVENILE	FORK CR 24.0356	AD	
05/2025	07/2025	100,000	80.0	1,250	JUVENILE	FORK CR 24.0356	AD	$\checkmark$

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	540,000	
Run:	Late			
Stock:	WILLAPA R 24.0251	Shipping	275,000	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	200,000	11,765

### **Estimated Brood Data**

Egg Take Goal 540,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	PACIFIC CO ANGLERS	75,000		0	EGGS EYED
Shipped	01/2025	01/2025	RFEG 10 WILLAPA BAY	200,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	155,000	17.0	9,118	JUVENILE	FORK CR 24.0356	AD	
03/2026	05/2026	45,000	17.0	2,647	JUVENILE	FORK CR 24.0356	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Backfill for Naselle.

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	600,000	
Run:	NA			
Stock:	WILLAPA R 24.0251	Shipping	150,000	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	400,000	23,530

### **Estimated Brood Data**

Egg Take Goal 600,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	RFEG 10 WILLAPA BAY	150,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	04/2026	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356		$\checkmark$
03/2026	04/2026	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356	AD	$\checkmark$
03/2026	05/2026	250,000	17.0	14,706	JUVENILE	FORK CR 24.0356	AD	
04/2026	05/2026	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356		$\checkmark$
04/2026	05/2026	37,500	17.0	2,206	JUVENILE	FORK CR 24.0356	AD	$\checkmark$

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	4,000	400
Integrated/Segregated:		Planted	3,800	3,400

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	4,000	10.0	400	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	2,800	2.0	1,400	JUVENILE	PACIFIC CO LAKES		
10/2026	10/2026	1,000	0.5	2,000	JUVENILE	PACIFIC CO LAKES		

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Integrated/Segregated:	SEGREGATED	Planted	45,000	9,000
Integrated/Segregated:	SEGREGATED	Planted	45,000	9,000
-			45 000	0.000
Brood Origin:	HATCHERY	Received		
Run: Stock:	Winter FORKS CREEK HATCHERY	Shipping		
Species:	Steelhead	Egg Take		
			Total #	Total Pounds

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	10,000	5.0	2,000	JUVENILE	FORK CR 24.0356	AD	
04/2025	05/2025	35,000	5.0	7,000	JUVENILE	FORK CR 24.0356	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally at 5-6 fpp. Backfill for Naselle.

## FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species: Run:	Steelhead Winter	EĘ	gg Take	60,000	
Stock:	FORKS CREEK HATCHERY	Sł	hipping		
Brood Origin:	HATCHERY	Re	eceived		
Integrated/Segregated:	SEGREGATED	PI	lanted	45,000	9,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 60,0	00				
Estimated Transfer D	ata				
Shipped or Received St	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	10,000	5.0	2,000	JUVENILE	FORK CR 24.0356	AD	
04/2026	05/2026	35,000	5.0	7,000	JUVENILE	FORK CR 24.0356	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally at 5-6 fpp. Backfill for Naselle.

## FOSS WATERWAY SEAPORT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chum	I		. etan etanas
Run:	NA	Egg Take		
Stock:	DIRU CR 10.0029	Shipping		
Brood Origin:	HATCHERY	Received	3,800	0
Integrated/Segregated:	INTEGRATED	Planted	3,600	7

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2024	01/2024	PUYALLUP TRIBAL HATCHERY	3,800		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	3,600	500.0	7	JUVENILE	SWAN CR 10.0023		

## FOSS WATERWAY SEAPORT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	750	0
Integrated/Segregated:	INTEGRATED	Planted	3,600	7

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	750		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	3,600	500.0	7	JUVENILE	SWAN CR 10.0023		

# FRANKLIN ES(PT ANGLE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	TUMWATER CR 18.0256		

## FRIENDS LANDING NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	26,250	1,193
Integrated/Segregated:	INTEGRATED	Planted	25,000	1,667

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	26,250	22.0	1,193	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	25,000	15.0	1,667	JUVENILE	QUIGG LAKE (GRAY)	AD	

## FRIENDS LANDING NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	26,250	1,193
Integrated/Segregated:	INTEGRATED	Planted	25,000	1,667

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2026	01/2026	BINGHAM CR HATCHERY	26,250	22.0	1,193	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	25,000	15.0	1,667	JUVENILE	QUIGG LAKE (GRAY)	AD	

# **GARRISON HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chinook			. otari otarias
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping	150,000	2,500
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	100,000	5,000

#### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2024	05/2024	CHAMBERS CR HATCHERY	150,000	60.0	2,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
09/2024	09/2024	100,000	20.0	5,000	JUVENILE	CHAMBERS CR 12.0007	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Brood source can come from Chambers Creek, Minter Creek, or other south sound facilities.

## **GARRISON HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	I		
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping	150,000	2,500
Brood Origin:	HATCHERY	Received	1,000,000	917
Integrated/Segregated:	SEGREGATED	Planted	800,000	18,250

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or I	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Stage
Received		11/2024	01/2025	LAKE	WOOD HATCHER	Y	500,000	1,000.0	500	JUVENILE
Received		12/2024	01/2025	MINT	ER CR HATCHERY	Y	500,000	1,200.0	417	JUVENILE
Shipped		05/2025	05/2025	CHAM	MBERS CR HATCH	ERY	150,000	60.0	2,500	JUVENILE
<b>Estimated</b>	Release	<u>Data</u>								
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	<b>Release Site</b>		Mark	Type Tagged
04/2025	04/2025	100	),000	80.0	1,250	JUVENILE	CHAMBERS CR	12.0007	AD	$\checkmark$
05/2025	05/2025	500	),000	50.0	10,000	JUVENILE	CHAMBERS CR	12.0007	AD	
05/2025	05/2025	100	),000	50.0	2,000	JUVENILE	CHAMBERS CR	12.0007	AD	$\checkmark$
09/2025	09/2025	100	),000	20.0	5,000	JUVENILE	CHAMBERS CR	12.0007	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Brood source can come from Chambers Creek, Minter Creek, or other south sound facilities.

# **GARRISON HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Tako		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	110,000	138
Integrated/Segregated:	INTEGRATED	Planted	100,000	1,000

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	MINTER CR HATCHERY	110,000	800.0	138	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	100,000	100.0	1,000	JUVENILE	DESCHUTES R 13.0028	AD	

### **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Coho			Total #	Total Pounds
Species: Run:	NA		gg Take		
Stock:	GEORGE ADAMS HATCH	Sh	nipping		
Brood Origin:	HATCHERY	Re	eceived		
Integrated/Segregated:	SEGREGATED	Pla	anted	300,000	17,647
Estimated Brood Data	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	210,000	17.0	12,353	JUVENILE	PURDY CR 16.0005	AD	
04/2025	04/2025	45,000	17.0	2,647	JUVENILE	PURDY CR 16.0005	AD	$\checkmark$
04/2025	04/2025	45,000	17.0	2,647	JUVENILE	PURDY CR 16.0005		$\checkmark$

### **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping	550,000	22,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data	1			

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stag	e
Shipped	02/2025	02/2025	PORT G	AMBLE BAY PEN	IS	550,000	25.0	22,000	JUVENI	LE
Estimated Releas	e Data									
Start Date End Da	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

Memo: Program implementation is dependent on legal authority and funding. Adjust as necessary to realize 550,000 smolts from this transfer.

### **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping	3,100,000	2,583
Brood Origin:	HATCHERY	Received	3,200,000	0
Integrated/Segregated:	SEGREGATED	Planted		

# Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	01/2025	MCKER	NAN HATCHERY	ł	3,200,000		0	EGGS EYED
Shipped	02/2025	03/2025	HOODS	PORT HATCHER	Y	3,100,000	1,200.0	2,583	JUVENILE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре Tagged

Memo: Program implementation is dependent on legal authority and funding. Back up for McKernan and/or Hoodsport.

### **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species: Run:	Chinook Fall		Egg Take	4,240,000	
Stock:	SKOKOMISH R 16.0001		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	3,600,000	51,428
Estimated Brood Data	<u>a</u>		<u>L</u>		
Egg Take Goal 4,24	0,000				
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	3,150,000	70.0	45,000	JUVENILE	PURDY CR 16.0005	AD	
05/2025	05/2025	225,000	70.0	3,214	JUVENILE	PURDY CR 16.0005	AD	$\checkmark$
05/2025	05/2025	225,000	70.0	3,214	JUVENILE	PURDY CR 16.0005		$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Backfill for Hoodsport Hatchery. 200K part of the Skokomish chinook recovery program. Up to 1,500 fish will be PIT tagged in the hatchery to supplement hatchery fish collected in the field for a tidal fish passage study in the Skokomish Estuary.

### **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fag Taka		
Run:	Late	Egg Take	360,000	
Stock:	SKOKOMISH R 16.0001	Shipping	112,000	102
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	200,000	2,857

#### **Estimated Brood Data**

Egg Take Goal 360,000

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2025	01/2025	MCKERNAN HATCHERY	112,000	1,100.0	102	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	200,000	70.0	2,857	JUVENILE	PURDY CR 16.0005		

Memo: Program implementation is dependent on legal authority and funding. Backfill for Hoodsport Hatchery. 200K part of the Skokomish chinook recovery program. Up to 1,500 fish will be PIT tagged in the hatchery to supplement hatchery fish collected in the field for a tidal fish passage study in the Skokomish Estuary. These are late fall chinook.

## **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species: Run:	Coho NA		Egg Take	345,000	
Stock:	GEORGE ADAMS HATCH		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	300,000	17,647
Estimated Brood Data	<u>a</u>			1	
Egg Take Goal 345	000				
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	210,000	17.0	12,353	JUVENILE	PURDY CR 16.0005	AD	
04/2026	04/2026	45,000	17.0	2,647	JUVENILE	PURDY CR 16.0005	AD	$\checkmark$
04/2026	04/2026	45,000	17.0	2,647	JUVENILE	PURDY CR 16.0005		$\checkmark$

### **GEORGE ADAMS HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping	550,000	22,000
Brood Origin:	HATCHERY	Received	600,000	0
Integrated/Segregated:	SEGREGATED	Planted		

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	
Received	11/2024	11/2024	QUILCE	NE NFH	600,000		0	EGGS EYE	D	
Shipped	02/2026	02/2026	PORT GA	AMBLE BAY PEN	550,000	25.0	22,000	JUVENILE		
Estimated Release		laaca	FPP	Total Pounds	Life Stage	Release Site		Mark		agged

Memo: Program implementation is dependent on legal authority and funding. Adjust as necessary to realize 550,000 smolts from this transfer.

# **GIG HARBOR ACADEMY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	DONKEY CR 15.0097		

# **GIG HARBOR FISHERMEN**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Faa Taka		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	1,000,000	0
Integrated/Segregated:	INTEGRATED	Planted	975,000	650

## Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	1,000,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	975,000	1,500.0	650	JUVENILE	NORTH CR 15.0097		

## **GORST CR REARING PND**

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Talua		
Run:	Fall	Egg Take		
Stock:	GROVERS CR 15.0299	Shipping		
Brood Origin:	HATCHERY	Received	910,000	758
Integrated/Segregated:	SEGREGATED	Planted	900,000	13,974

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	GROVERS CR HATCHERY	910,000	1,200.0	758	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	100,000	65.0	1,538	JUVENILE	GORST CR 15.0216	AD	
06/2025	07/2025	700,000	65.0	10,769	JUVENILE	GORST CR 15.0216	AD	
06/2025	07/2025	100,000	60.0	1,667	JUVENILE	GORST CR 15.0216	AD	$\checkmark$

Memo:

Tuesday, January 16, 2024

## **GORST CR REARING PND**

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	E Talva		
Run:	Fall	Egg Take		
Stock:	MINTER CR HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	910,000	758
Integrated/Segregated:	SEGREGATED	Planted	900,000	13,974

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	GROVERS CR HATCHERY	910,000	1,200.0	758	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	700,000	65.0	10,769	JUVENILE	GORST CR 15.0216	AD	
04/2025	05/2025	100,000	65.0	1,538	JUVENILE	GORST CR 15.0216	AD	$\checkmark$
06/2025	07/2025	100,000	60.0	1,667	JUVENILE	GORST CR 15.0216	AD	$\checkmark$

Memo: Funded under the Recreational Fisheries Enhancement Bill.

## GORST CR REARING PND

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Cas Taka		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping	272,000	13,600
Brood Origin:	MIXED	Received	272,000	10,880
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	je
Received	04/2025	04/2025	GROV	ERS CR HATCHER	RY	272,000	25.0	10,880	JUVENI	ILE
Shipped	05/2025	05/2025	AGAT	E PASS SEA PENS		272,000	20.0	13,600	JUVENI	LE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

Memo:

Tuesday, January 16, 2024

# **GRAY WOLF R ACCL PD**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	I		Total Total
Run:	Spring	Egg Take		
Stock:	DUNGENESS R 18.0018	Shipping		
Brood Origin:	MIXED	Received	51,000	340
Integrated/Segregated:	INTEGRATED	Planted	50,000	1,000

# Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	HURD CR HATCHERY	51,000	150.0	340	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	50,000	50.0	1,000	JUVENILE	GRAY WOLF R 18.0048		

# **GRAYS HARBOR STREAM TEAM (GRAYS)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	I		
Run:	Late	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping		
Brood Origin:	MIXED	Received	300	0
Integrated/Segregated:	INTEGRATED	Planted	300	1

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2024	01/2024	FORKS CREEK HATCHERY	300		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	300	450.0	1	JUVENILE	ARMSTRONG CR 24.0299A		

# **GRAYS HARBOR STREAM TEAM (GRAYS)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	875	0
Integrated/Segregated:	INTEGRATED	Planted	875	2

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	SKOOKUMCHUCK HATCHERY	875		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	875	500.0	2	JUVENILE	NEWAUKUM CR 09.0114		

# **GRAYS HARBOR STREAM TEAM (GRAYS)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	WYNOOCHEE R 22.0260	Shipping		
Brood Origin:	MIXED	Received	1,500	0
Integrated/Segregated:	INTEGRATED	Planted	1,500	3

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	LK ABERDEEN HATCHERY	1,500		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	1,500	500.0	3	JUVENILE	VAN WINKLE C 22.0240		

# **GRAYS HARBOR STREAM TEAM (GRAYS)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	875	0
Integrated/Segregated:	INTEGRATED	Planted	875	2

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	875		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	875	500.0	2	JUVENILE	NEWAUKUM CR 09.0114		

# **GREYWOLF ES (SEQUIM)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	DUNGENESS R 18.0018		

# **GROVERS CR HATCHERY**

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Egg Tako	2,500,000	
Run:	NA	Egg Take	2,500,000	
Stock:	GROVERS CR 15.0299	Shipping	126,070	78
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	2,000,000	4,444

### **Estimated Brood Data**

**Egg Take Goal** 2,500,000

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	EDMONDS STREAM TEAM	5,000		0	EGGS EYED
Shipped	01/2025	01/2025	HAZELWOOD ES (LYNNWO	100		0	EGGS EYED
Shipped	01/2025	01/2025	MEADOWDALE MS(LYNNWO	10,000		0	EGGS EYED
Shipped	01/2025	01/2025	REG 4 ED COOPS	5,000		0	EGGS EYED
Shipped	01/2025	01/2025	REG 6 ED COOPS	30,000		0	EGGS EYED
Shipped	01/2025	01/2025	SALMON IN THE SCHOOLS- SEATTLE	5,970		0	EGGS EYED
Shipped	02/2025	02/2025	CARKEEK WATERSHED	70,000	900.0	78	JUVENILE

Memo: Backfill to Keta only if needed.

# **GROVERS CR HATCHERY**

#### SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Tele		
Run:	NA	Egg Take	2,500,000	
Stock:	GROVERS CR 15.0299	Shipping	126,070	78
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	2,000,000	4,444

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	2,000,000	450.0	4,444	JUVENILE	GROVERS CR 15.0299		

Memo: Backfill to Keta only if needed.

# **GROVERS CR HATCHERY**

#### SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Tele		
Run:	Fall	Egg Take	1,500,000	
Stock:	GROVERS CR 15.0299	Shipping	910,000	758
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	450,000	6,923

## **Estimated Brood Data**

**Egg Take Goal** 1,500,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	GORST CR REARING PND	910,000	1,200.0	758	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	50,000	65.0	769	JUVENILE	GROVERS CR 15.0299	AD	
05/2025	05/2025	200,000	65.0	3,077	JUVENILE	GROVERS CR 15.0299		$\checkmark$
05/2025	05/2025	200,000	65.0	3,077	JUVENILE	GROVERS CR 15.0299	AD	$\checkmark$

Memo:

# **GROVERS CR HATCHERY**

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Coo Toluo		
Run:	Fall	Egg Take		
Stock:	MINTER CR HATCHERY	Shipping	910,000	758
Brood Origin:	HATCHERY	Received	950,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	e
Received	11/2024	11/2024	MINTI	ER CR HATCHERY		950,000		0	EGGS E	YED
Shipped	01/2025	01/2025	GORS	Г CR REARING PN	910,000	1,200.0	758	JUVENII	LE	
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type	Tagged

Memo:

Tuesday, January 16, 2024

# **GROVERS CR HATCHERY**

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	130,000	
Run:	NA			
Stock:	MINTER CR 15.0048	Shipping	300,000	12,000
Brood Origin:	MIXED	Received	330,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal 130,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	/		Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINT	ER CR HATCHERY	<b>,</b>	330,000		0	EGGS EYED
Shipped	04/2025	04/2025	GORS	T CR REAR.POND-	300,000	25.0	12,000	JUVENILE	
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

Memo:

Tuesday, January 16, 2024

# HARBOR MONTESSORI SC

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MINTER CR 15.0048		

# **HEIMBIGNER PROJECT**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	50,000	0
Integrated/Segregated:	INTEGRATED	Planted	45,000	90

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	50,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	02/2025	45,000	500.0	90	JUVENILE	STEARNS CR 23.0934		

# HOKO FALLS HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Fall	Egg Take	500,000	
Stock:	HOKO R 19.0148	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	420,000	5,601
Estimated Brood Dat	<u>a</u>			
Egg Take Goal 500	,000			

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stag	,e
--	----

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	170,000	75.0	2,267	JUVENILE	HOKO R 19.0148		
06/2025	06/2025	200,000	75.0	2,667	JUVENILE	HOKO R 19.0148	AD	$\checkmark$
06/2025	06/2025	50,000	75.0	667	JUVENILE	LITTLE HOKO R19.0149		

Memo:

# HOKO FALLS HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Caba			Total #	Total Pounds
Species: Run:	Coho NA	Eį	gg Take	105,000	
Stock:	HOKO R 19.0148	SI	hipping		
Brood Origin:	MIXED	R	eceived		
Integrated/Segregated:	INTEGRATED	Ρ	lanted	95,000	4,750
Estimated Brood Dat	<u>a</u>			'	,
Egg Take Goal 105	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	95,000	20.0	4,750	JUVENILE	HOKO R 19.0148	AD	

Memo: No terminal harvest is currently anticipated. Initial harvest opportunities will be limited to marine areas

## HOKO FALLS HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	E Talua	F 4 000	
Run:	Winter	Egg Take	54,000	
Stock:	HOKO R 19.0148	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	45,000	5,021
Estimated Brood Dat	<u>a</u>			
Egg Take Goal 54,0	000			
Estimated Transfer D	ata			

Shipped or Received Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage	
---	----------	--------	-----	--------------	------------	--

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2024	06/2024	5,000	250.0	20	JUVENILE	VILLAGE CR 19.0240	AD	
04/2025	04/2025	2,500	8.0	313	JUVENILE	AGENCY CR 19.0238	AD	
04/2025	04/2025	25,000	8.0	3,125	JUVENILE	HOKO R 19.0148	AD	
04/2025	04/2025	12,500	8.0	1,563	JUVENILE	SEKIU R 19.0203	AD	

Memo:

# HOKO FALLS HATCHERY

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Species:SteelheadEgg Take $54,000$ Run:WinterEgg Take $54,000$ Stock:HOKO R19.0148ShippingBrood Origin:HATCHERYReceivedIcological	
Kun:     Winter       Stock:     HOKO R     19.0148	
Brood Origin: HATCHERY Received	
Integrated/Segregated: SEGREGATED Planted 45,000 5,	5,021
Estimated Brood Data	
Egg Take Goal 54,000	

Shipped or Received Start Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage	
--	--------	-----	---------------------	------------	--

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	5,000	250.0	20	JUVENILE	VILLAGE CR 19.0240	AD	
04/2026	04/2026	2,500	8.0	313	JUVENILE	AGENCY CR 19.0238	AD	
04/2026	04/2026	25,000	8.0	3,125	JUVENILE	HOKO R 19.0148	AD	
04/2026	04/2026	12,500	8.0	1,563	JUVENILE	SEKIU R 19.0203	AD	

Memo:

## HOODSPORT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023			Total #	Total Pounds
Species:	Chinook				
Run:	Fall	Eg	gg Take		
Stock:	HOODSPORT HATCHERY	Sh	nipping		
Brood Origin:	HATCHERY	Re	eceived		
Integrated/Segregated:	SEGREGATED	Pla	anted	3,120,000	53,500
Estimated Brood Data	<u>1</u>			·	
Egg Take Goal					
Estimated Transfer D	<u>ata</u>				

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage
---

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	100,000	100.0	1,000	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
05/2024	06/2024	2,700,000	80.0	33,750	JUVENILE	FINCH CR 16.0222	AD	
05/2024	06/2024	100,000	80.0	1,250	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
08/2024	09/2024	100,000	40.0	2,500	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
04/2025	05/2025	20,000	8.0	2,500	JUVENILE	FINCH CR 16.0222	AD	
04/2025	05/2025	100,000	8.0	12,500	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Yearling station release at 5-8fpp. PSRFE funded.

# HOODSPORT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Species:     Chum       Run:     NA       Stock:     HOOD CANAL STOCK       Brood Origin:     HATCHERY       Received     3,100,000       Integrated/Segregated:     SEGREGATED	Brood Year:	2024		Total #	Total Pounds
Kun:NAStock:HOOD CANAL STOCKShippingBrood Origin:HATCHERYReceived3,100,0002,583	Species:	Chum	Fog Take	13 500 000	
Brood Origin: HATCHERY Received 3,100,000 2,583	Run:	NA		13,300,000	
	Stock:	HOOD CANAL STOCK	Shipping		
Integrated/Segregated: SEGREGATED	Brood Origin:	HATCHERY	Received	3,100,000	2,583
Planted 15,000,000 33,333	Integrated/Segregated:	SEGREGATED	Planted	15,000,000	33,333

#### **Estimated Brood Data**

**Egg Take Goal** 13,500,000

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	03/2025	GEORGE ADAMS HATCHERY	3,100,000	1,200.0	2,583	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	15,000,000	450.0	33,333	JUVENILE	FINCH CR 16.0222		

Memo: Program implementation is dependent on legal authority and funding. Release after April 1st. Balance of production taken at McKernan/ George Adams hatcheries, if needed.

Tuesday, January 16, 2024

### HOODSPORT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Chinook		Egg Tako	3,500,000	
Run:	Fall		Egg Take	5,500,000	
Stock:	HOODSPORT HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	3,120,000	53,500
Estimated Brood Data	<u>a</u>			- I	
Egg Take Goal 3,50	0,000				
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	100.0	1,000	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
05/2025	06/2025	2,700,000	80.0	33,750	JUVENILE	FINCH CR 16.0222	AD	
05/2025	06/2025	100,000	80.0	1,250	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
08/2025	09/2025	100,000	40.0	2,500	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
04/2026	05/2026	100,000	8.0	12,500	JUVENILE	FINCH CR 16.0222	AD	$\checkmark$
04/2026	05/2026	20,000	8.0	2,500	JUVENILE	FINCH CR 16.0222	AD	

Memo: Program implementation is dependent on legal authority and funding. Yearling station release at 5-8fpp. PSRFE funded.

### HOODSPORT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Pink		Egg Take	580,000	
Run:	Odd Year			300,000	
Stock:	HOODSPORT HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	500,000	1,111
Estimated Brood Dat	<u>a</u>	_			
Egg Take Goal580	000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	500,000	450.0	1,111	JUVENILE	FINCH CR 16.0222		

# HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Species: Run: Stock: Brood Origin: Integrated/Segregate		Shi Re	g Take ipping eceived anted	500	500
Estimated Brood	<u>Data</u>				
	v Dete				
Estimated Transfe	<u>r Data</u>				
Shipped or Received	Start Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	200	1.0	200	JUVENILE	DUCK LK (1) (GRAY)		
04/2025	05/2025	300	1.0	300	JUVENILE	FAILOR LK (GRAY)		

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Caba			Total #	Total Pounds
Species: Run:	Coho Late		Egg Take		
Stock:	HUMPTULIPS R 22.0004		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	100,000	6,667
Estimated Brood Data	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	100,000	15.0	6,667	JUVENILE	STEVENS CR 22.0064	AD	

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species:	2023 Coho			Total #	Total Pounds
Run:	NA		gg Take		
Stock:	HUMPTULIPS R 22.0004	S	hipping		
Brood Origin:	MIXED	R	leceived		
Integrated/Segregated:	INTEGRATED	Р	lanted	900,000	60,000
Estimated Brood Dat	<u>1</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	rt Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	855,000	15.0	57,000	JUVENILE	STEVENS CR 22.0064	AD	
03/2025	05/2025	45,000	15.0	3,000	JUVENILE	STEVENS CR 22.0064	AD	$\checkmark$

# HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	- <b>-</b> -		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	1,000
Integrated/Segregated:		Planted	9,500	4,100

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2024	10/2024	EELLS SPRINGS	10,000	10.0	1,000	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	2,000	2.5	800	JUVENILE	DUCK LK (1) (GRAY)		
04/2025	04/2025	7,000	2.5	2,800	JUVENILE	FAILOR LK (GRAY)		
04/2026	05/2026	200	1.0	200	JUVENILE	DUCK LK (1) (GRAY)		
04/2026	05/2026	300	1.0	300	JUVENILE	FAILOR LK (GRAY)		

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Creation	Chinook		Total #	Total Pounds
Species: Run:	Fall	Egg T	ake 590,000	
Stock:	HUMPTULIPS R 22.0004	Shipp	ing	
Brood Origin:	MIXED	Recei	ved	
Integrated/Segregated:	INTEGRATED	Plant	ed 500,000	7,143
Estimated Brood Data	<u>a</u> ,000			

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	300,000	70.0	4,286	JUVENILE	STEVENS CR 22.0064	AD	
06/2025	06/2025	200,000	70.0	2,857	JUVENILE	STEVENS CR 22.0064	AD	$\checkmark$

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Egg Take Goal 12	5,000		 		
	- 000				
<b>Estimated Brood Da</b>	<u>ta</u>				
Integrated/Segregated:	INTEGRATED		Planted	100,000	6,667
Brood Origin:	MIXED		Received		
Stock:	HUMPTULIPS R 22.0004		Shipping		
Run:	Late		Egg Take	125,000	
Species:	Coho				Total Pounds
Brood Year: Species:	2024 Coho			ke	Total #

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	100,000	15.0	6,667	JUVENILE	STEVENS CR 22.0064	AD	

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Coho		Egg Take	1,000,000	
Run:	NA			1,000,000	
Stock:	HUMPTULIPS R 22.0004		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	900,000	60,000
Estimated Brood Data	<u>a</u>				
Egg Take Goal 1,00	0,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	855,000	15.0	57,000	JUVENILE	STEVENS CR 22.0064	AD	
03/2026	05/2026	45,000	15.0	3,000	JUVENILE	STEVENS CR 22.0064	AD	$\checkmark$

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	1,000
Integrated/Segregated:		Planted	9,500	4,100

# **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	10,000	10.0	1,000	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	2,000	2.5	800	JUVENILE	DUCK LK (1) (GRAY)		
04/2026	04/2026	7,000	2.5	2,800	JUVENILE	FAILOR LK (GRAY)		
04/2027	05/2027	200	1.0	200	JUVENILE	DUCK LK (1) (GRAY)		
04/2027	05/2027	300	1.0	300	JUVENILE	FAILOR LK (GRAY)		

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Shariharad			Total #	Total Pound
Species:	Steelhead		Egg Take		
Run:	Summer				
Stock:	HUMPTULIPS HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	30,000	6.0	5,000	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Duck Lk (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers.

# HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	HUMPTULIPS HATCHERY	Shipping	15,500	620
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	125,000	20,833

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	10/2024	10/2024	MAYR BROTHERS REARIN	15,500	25.0	620	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	125,000	6.0	20,833	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish released at 6-7 fpp.

### HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Storally and			Total #	Total Pounds
Species:	Steelhead		Egg Take	60,000	
Run:	Summer			,	
Stock:	HUMPTULIPS HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	30,000	5,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 60,0	000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	30,000	6.0	5,000	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Duck Lk (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers.

# HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Teles		
Run:	Winter	Egg Take	225,000	
Stock:	HUMPTULIPS HATCHERY	Shipping	15,500	620
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	125,000	20,833

# **Estimated Brood Data**

Egg Take Goal 225,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	MAYR BROTHERS REARIN	15,500	25.0	620	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	125,000	6.0	20,833	JUVENILE	STEVENS CR 22.0064	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish released at 6-7 fpp.

### HUPP SPRINGS REARING

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook		····	
Run:	Spring	Egg Take		
Stock:	WHITE R 10.0031	Shipping		
Brood Origin:	HATCHERY	Received	550,000	550
Integrated/Segregated:	SEGREGATED	Planted	500,000	6,250

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	550,000	1,000.0	550	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	500,000	80.0	6,250	JUVENILE	MINTER CR 15.0048		

Memo: Program implementation is dependent on legal authority and funding. Marking to be determined by co-managers.

# HUPP SPRINGS REARING

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	c		. otari ounus
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	165,000	1,100
Integrated/Segregated:	INTEGRATED	Planted	150,000	8,824

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	MINTER CR HATCHERY	165,000	150.0	1,100	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	150,000	17.0	8,824	JUVENILE	MINTER CR TR 15.0051	AD	

Memo: Program implementation is dependent on legal authority and funding. Loss due to predation. Shortages may be backfilled from other South Sound Coho Programs.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species: Run: Stock: Brood Origin:	2022 Rainbow NA SPRING CR-GOLDENDALE HATCHERY	Egg Take Shipping Received	Total #	Total Pounds	
Integrated/Segregated			Planted	200	1,000
Estimated Brood Da Egg Take Goal	ita				
Estimated Transfer Shipped or Received	Data Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	200	0.2	1,000	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Puget Sound Anglers funded for Kids Fishing Derby.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	750	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data	a			

#### \_\_\_\_

Egg Take Goal

### Estimated Transfer Data

Shipped or F	Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	ge
Shipped		01/2024	01/2024	RFEG 7 1	NORTH OLYMPI	С	750		0	EGGS E	EYED
<b>Estimated</b>	Release I	Data									
Start Date	End Date	Num Rel	ease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

Memo: Program implementation is dependent on legal authority and funding. Remaining fish are shipped to Dungeness Hatchery to be marked and released.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023	Total # Total Pou	inds
Species:	Rainbow	Egg Take	
Run:		Shipping	
Stock: Brood Origin:	SPRING CR-GOLDENDALE HATCHERY	Received	
Integrated/Segregat	ed:	Planted 1,600 2,600	
Estimated Brood	<u>Data</u>		
Egg Take Goal			
Estimated Transf	er Data		
Shipped or Received	Start Date End Date Facility	Number FPP Total Pounds Life Stage	

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	800	1.0	800	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		
10/2025	11/2025	600	0.8	800	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		
04/2026	05/2026	200	0.2	1,000	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Puget Sound Anglers funded for Kids Fishing Derby.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Teles		
Run:	Fall	Egg Take		
Stock:	ELWHA R 18.0272	Shipping	2,410,000	1,905
Brood Origin:	MIXED	Received	2,800,000	0
Integrated/Segregated:	INTEGRATED	Planted		

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Received	09/2024	10/2024	ELWH	A HATCHERY		2,800,000		0	EGGS GREEN
Shipped	11/2024	11/2024	SOLDU	JC HATCHERY		1,950,000		0	EGGS EYED
Shipped	01/2025	02/2025	ELWH	A HATCHERY		205,000	1,000.0	205	JUVENILE
Shipped	04/2025	04/2025	ELWH	A HATCHERY		255,000	150.0	1,700	JUVENILE
Estimated Release	e Data								
Start Date End Dat	e Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Гуре Tagged

Memo: Program implementation is dependent on legal authority and funding. Must be maintained on regulated pathogen-free water in isolation.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Chinook	Fag Taka		Total Total Total as
Spring		680,000	
DUNGENESS R 18.0018	Shipping	564,000	3,760
MIXED	Received		
INTEGRATED	Planted	50,000	1,000
	Chinook Spring DUNGENESS R 18.0018 MIXED	Chinook Spring DUNGENESS R 18.0018 MIXED NUTECRATER	ChinookTotal #SpringEgg Take680,000DUNGENESS R 18.0018Shipping564,000MIXEDReceivedReceived

#### **Estimated Brood Data**

Egg Take Goal 680,000

### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facility	,		Number	FPP	Total Pounds	Life St	age
Shipped		04/2025	04/2025	DUNC	ENESS HATCHER	RY	462,000	150.0	3,080	JUVE	NILE
Shipped		04/2025	04/2025	GRAY	WOLF R ACCL P	D	51,000	150.0	340	JUVE	NILE
Shipped		04/2025	04/2025	UPR E	JPR DUNGENESS ACC PD		51,000	150.0	340	JUVE	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
05/2025	06/2025	5	0,000	50.0	1,000	JUVENILE	DUNGENESS R 18	.0018			$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. ESA listed species. Release during heavy smoltication, approximately March - April

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Tako		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	3,150	0
Brood Origin:	HATCHERY	Received	7,500	0
Integrated/Segregated:	SEGREGATED	Planted	2,000	10

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2024	01/2024	NATURE BRIDGE ONP	400		0	EGGS EYED
Received	12/2024	12/2024	DUNGENESS HATCHERY	7,500		0	EGGS GREEN
Shipped	01/2025	01/2025	RFEG 6 - SALMON IN THE CLASSROOM	250		0	EGGS EYED
Shipped	01/2025	01/2025	RFEG 7 NORTH OLYMPIC	750		0	EGGS EYED
Shipped	01/2025	01/2025	SWAN SCHOOL (PORT TOWNSEND)	250		0	EGGS EYED
Shipped	01/2025	02/2025	DUNGENESS R AUDUBON	250		0	EGGS EYED
Shipped	01/2025	02/2025	FRANKLIN ES(PT ANGLE	250		0	EGGS EYED
Shipped	01/2025	02/2025	GREYWOLF ES (SEQUIM)	250		0	EGGS EYED
Shipped	01/2025	02/2025	JEFFERSON ES(PT ANGE	250		0	EGGS EYED
Shipped	01/2025	02/2025	OLYMPIC PENINSULA ACADEMY	250		0	EGGS EYED
Shipped	01/2025	02/2025	SEQUIM MS (SEQUIM)	250		0	EGGS EYED

Memo: Program implementation is dependent on legal authority and funding. Remaining fish are shipped to Dungeness Hatchery to be marked and released.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Coo Toko		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	3,150	0
Brood Origin:	HATCHERY	Received	7,500	0
Integrated/Segregated:	SEGREGATED	Planted	2,000	10

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	06/2024	2,000	200.0	10	JUVENILE	COOPER CR 18.0017		

Memo: Program implementation is dependent on legal authority and funding. Remaining fish are shipped to Dungeness Hatchery to be marked and released.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Pink		Egg Take	120,000	
Run:	Odd Year				
Stock:	L DUNGENESS R 18.0018		Shipping		
Brood Origin:	WILD		Received		
Integrated/Segregated:	INTEGRATED		Planted	100,000	222
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 120	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	450.0	222	JUVENILE	HURD CR 18.0028	AD	

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	1,500	75
Integrated/Segregated:		Planted	1,400	2,333

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2025	06/2025	EELLS SPRINGS	1,500	20.0	75	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	800	1.0	800	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		
10/2026	11/2026	400	0.8	533	JUVENILE	HURD CR POND		
04/2027	05/2027	200	0.2	1,000	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Puget Sound Anglers funded for Kids Fishing Derby.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Can Taka		
Run:	Winter	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	10,500	1,750
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:	SEGREGATED	Planted	34,500	16

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2024	02/2024	DUNGENESS HATCHERY	50,000		0	EGGS GREEN
Shipped	01/2025	02/2025	DUNGENESS HATCHERY	10,500	6.0	1,750	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	34,500	2,200.0	16	JUVENILE	LK ST CLAIR (THUR)		

Memo: Program implementation is dependent on legal authority and funding. Excess fry will be planted into non-anadromous Thurston Co. Lakes in Fish Health Zones.

# HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			Total Founds
Run:	Winter	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping	10,500	1,750
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:	SEGREGATED	Planted	34,500	16

#### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	DUNGENESS HATCHERY	50,000		0	EGGS GREEN
Shipped	01/2026	02/2026	DUNGENESS HATCHERY	10,500	6.0	1,750	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2024	34,500	2,200.0	16	JUVENILE	LK ST CLAIR (THUR)		

Memo: Program implementation is dependent on legal authority and funding. Excess fry will be planted into non-anadromous Thurston Co. Lakes in Fish Health Zones.

# **IMMANUEL LUTHERAN (PIER)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fee Taka		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	150	0
Integrated/Segregated:	INTEGRATED	Planted	150	0

### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	VOIGHTS CR HATCHERY	150		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	150	500.0	0	JUVENILE	CLARKS CR 10.0027		

# JEFFERSON ES(PT ANGE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teles		1010110001100
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	250		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	DUNGENESS R 18.0018		

### **KALAMA CR HATCHERY**

NISQUALLY TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Calification			Total #	Total Pounds
Species: Run:	Coho NA	-	Egg Take		
Stock:	KALAMA CR 11.0017		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	400,000	23,529
Estimated Brood Data	<u>a</u>	L			
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	355,000	17.0	20,882	JUVENILE	KALAMA CR 11.0017	AD	
04/2025	04/2025	45,000	17.0	2,647	JUVENILE	KALAMA CR 11.0017	AD	$\checkmark$

# **KALAMA CR HATCHERY**

NISQUALLY TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Chinook	Fee Teles		
Fall	Egg Таке	700,000	
KALAMA CR 11.0017	Shipping	100	0
HATCHERY	Received		
SEGREGATED	Planted	600,000	10,909
	Chinook Fall KALAMA CR 11.0017 HATCHERY	Chinook Fall KALAMA CR 11.0017 Shipping HATCHERY Received	ChinookTotal #FallEgg Take700,000KALAMA CR 11.0017Shipping100HATCHERYReceivedFall

#### **Estimated Brood Data**

Egg Take Goal 700,000

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2024	12/2024	NISQUALLY MS(OLYMPIA	100		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	50,000	55.0	909	JUVENILE	MCALLISTER CR11.0324	AD	$\checkmark$
05/2025	05/2025	50,000	55.0	909	JUVENILE	MCALLISTER CR11.0324	AD	$\checkmark$
05/2025	06/2025	500,000	55.0	9,091	JUVENILE	MCALLISTER CR11.0324	AD	

Memo: Up to 1 million total planted into the head water of McAllister Creek from Kalama Creek and/or Clear Creek Hatchery.

# KALAMA CR HATCHERY

NISQUALLY TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Caba			Total #	Total Pounds
Species: Run:	Coho NA		Egg Take	470,000	
Stock:	KALAMA CR 11.0017		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	400,000	23,529
Estimated Brood Data	<u>a</u>				
Egg Take Goal 470	000				
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	355,000	17.0	20,882	JUVENILE	KALAMA CR 11.0017	AD	
04/2026	04/2026	45,000	17.0	2,647	JUVENILE	KALAMA CR 11.0017	AD	$\checkmark$

# **KAPOWSIN LK NET PENS**

#### PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fee Tele		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	150,000	6,522
Integrated/Segregated:	INTEGRATED	Planted	150,000	8,823

### **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	CLARKS CRK HATCHERY	150,000	23.0	6,522	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	17.0	5,882	JUVENILE	LK KAPOWSIN (PIER)	AD	
04/2025	04/2025	50,000	17.0	2,941	JUVENILE	LK KAPOWSIN (PIER)	AD	$\checkmark$

# **KAPOWSIN LK NET PENS**

#### PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teke		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	150,000	6,522
Integrated/Segregated:	INTEGRATED	Planted	150,000	8,823

### **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	CLARKS CRK HATCHERY	150,000	23.0	6,522	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	50,000	17.0	2,941	JUVENILE	LK KAPOWSIN (PIER)	AD	$\checkmark$
04/2026	04/2026	100,000	17.0	5,882	JUVENILE	LK KAPOWSIN (PIER)	AD	

# **KATHERINE G JOHNSON ES**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Coo Toles		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	100	0

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	100		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	100	500.0	0	JUVENILE	CLARKS CR 10.0027		

# KOMACHIN MS (LACEY)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Teles		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## Estimated Brood Data

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	WOODLAND CR 13.0006		

Memo: Program implementation is dependent on legal authority and funding.

## LAKEWOOD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Coo Toluo		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	34,000	3,400
Integrated/Segregated:		Planted	39,500	34,424

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2024	12/2024	EELLS SPRINGS	34,000	10.0	3,400	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
11/2024	11/2024	10,000	1.0	10,000	JUVENILE	THURSTON CO LAKES		
03/2025	05/2025	11,000	1.3	8,462	JUVENILE	KITSAP CO LAKES		
03/2025	05/2025	11,000	1.3	8,462	JUVENILE	MASON CO LAKES		
04/2025	04/2025	7,500	1.0	7,500	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Must be held on pathogen free water in isolation.

# LAKEWOOD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	с т.		
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping	1,000,300	500
Brood Origin:	HATCHERY	Received	1,100,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	,		Number	FPP	<b>Total Pounds</b>	Life Stage	
Received	09/2024	10/2024	TUMV	TUMWATER FALLS HATCHERY		1,100,000		0	EGGS GR	EEN
Shipped	10/2024	11/2024	SEAT	<b>FLE AQUARIUM</b>		300		0	EGGS EY	ED
Shipped	11/2024	11/2024	MINT	ER CR HATCHERY		500,000		0	EGGS EY	ED
Shipped	11/2024	01/2025	GARR	ISON HATCHERY		500,000	1,000.0	500	JUVENIL	E
Estimated Release	Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged

Memo: Program implementation is dependent on legal authority and funding.

# LAKEWOOD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Kokanee	Fag Tako		
Run:	NA	Egg Take		
Stock:	LK WHATCOM STOCK	Shipping		
Brood Origin:	HATCHERY	Received	750,000	0
Integrated/Segregated:		Planted	720,000	5,573

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	LK WHATCOM HATCHERY	750,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	420,000	500.0	840	JUVENILE	REG 4 LAKES		
05/2025	05/2025	220,000	300.0	733	JUVENILE	REG 6 LAKES		
09/2025	10/2025	50,000	20.0	2,500	JUVENILE	ALDER LK (THUR/PIER)	AD	
09/2025	10/2025	30,000	20.0	1,500	JUVENILE	REG 6 LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish must remain on isolated pathogen free water.

## LAKEWOOD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	54,000	3,400
Integrated/Segregated:		Planted	39,500	34,424

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Received	10/2025	10/2025	EELLS SPRINGS	34,000	10.0	3,400	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
11/2025	11/2025	10,000	1.0	10,000	JUVENILE	THURSTON CO LAKES		
03/2026	05/2026	11,000	1.3	8,462	JUVENILE	KITSAP CO LAKES		
03/2026	05/2026	11,000	1.3	8,462	JUVENILE	MASON CO LAKES		
04/2026	04/2026	7,500	1.0	7,500	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Must be held on pathogen free water in isolation.

## LEWIS CO. CONS. DIST.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	25,000	0
Integrated/Segregated:	INTEGRATED	Planted	25,000	50

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	SKOOKUMCHUCK HATCHERY	25,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	25,000	500.0	50	JUVENILE	LINCOLN CR 23.0733		

Memo: Program implementation is dependent on legal authority and funding. Remote Incubator Site.

## LITTLE BOSTON CR HAT

PORT GAMBLE S'KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Egg Take	2,000,000	
Run:	NA			
Stock:	LTL BOSTON C 15.0350	Shipping	1,108,000	1,108
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	475,000	1,188

## **Estimated Brood Data**

**Egg Take Goal** 2,000,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2025	02/2025	PORT GAMBLE BAY PENS	1,108,000	1,000.0	1,108	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	475,000	400.0	1,188	JUVENILE	LTL BOSTON C 15.0350		

Memo:

Tuesday, January 16, 2024

# LITTLEROCK ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Tales		
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	500	0
Integrated/Segregated:	INTEGRATED	Planted	400	1

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	500		0	EGGS GREEN

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	400	500.0	1	JUVENILE	BEAVER CR 23.0667		

Memo:

Tuesday, January 16, 2024

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022 Rainbow			Total #	Total Pounds
Species:		Egg	Take		
Run:		Shi	pping		
Stock:	SPRING CR-GOLDENDALE				
Brood Origin:	HATCHERY	Rec	eived		
Integrated/Segregate	ed:	Pla	nted	2,500	5,000
Estimated Brood	<u>Data</u>				
Egg Take Goal					
Estimated Transfe	er Data				
	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	2,500	0.5	5,000	JUVENILE	GRAYS HARBOR CO LAKES		

Memo: Program implementation is dependent on legal authority and funding.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	c		
Run:	NA	Egg Take		
Stock:	WYNOOCHEE R 22.0260	Shipping	1,750	13
Brood Origin:	MIXED	Received	200	11
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,000

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or I	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life St	age
Shipped		01/2024	01/2024	GRAY	S HARBOR STRE	AM TEAM (GRAYS	5) 1,500		0	EGGS	EYED
Shipped		01/2025	01/2025	ABER	DEEN SD 5(ABER	DE	250	20.0	13	JUVE	NILE
Received		05/2025	05/2025	ABER	DEEN SD 5(ABER	DE	200	18.0	11	JUVE	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num R	elease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
03/2025	05/2025	3	0,000	15.0	2,000	JUVENILE	VAN WINKLE C 22.	.0240	AD		

Memo: Program implementation is dependent on legal authority and funding. Transfer to Grays Harbor CC only if not broodstock retruns to the college.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Coo Toluo		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	250	50
Brood Origin:	HATCHERY	Received	20,200	2,067
Integrated/Segregated:		Planted	19,500	10,667

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	<b>Total Pounds</b>	Life Sta	age
Received		10/2024	10/2024	EELL	S SPRINGS		20,000	10.0	2,000	JUVEN	NILE
Shipped		05/2025	05/2025	ABER	DEEN SD 5(ABER	DE	250	5.0	50	JUVEN	NILE
Received		08/2025	08/2025	ABER	DEEN SD 5(ABER	DE	200	3.0	67	JUVEN	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
04/2025	04/2025	17	,000	3.0	5,667	JUVENILE	GRAYS HARBOR C	O LAKES	5		
04/2026	05/2026	2	,500	0.5	5,000	JUVENILE	GRAYS HARBOR C	O LAKES			

Memo: Program implementation is dependent on legal authority and funding.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Chinesela			Total #	Total Pounds
Species: Run:	Chinook Fall	Eg	g Take	75,000	
Stock:	WYNOOCHEE R 22.0260	Sh	nipping		
Brood Origin:	MIXED	Re	eceived		
Integrated/Segregated:	INTEGRATED	Pla	anted	50,000	625
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 75,	000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	50,000	80.0	625	JUVENILE	VAN WINKLE C 22.0240	AD	

Memo: Program implementation is dependent on legal authority and funding.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Coho	Faa Tako		
NA			
WYNOOCHEE R 22.0260	Shipping	2,750	13
MIXED	Received	200	11
INTEGRATED	Planted	30,000	2,000
	Coho NA WYNOOCHEE R 22.0260 MIXED	Coho NA Egg Take WYNOOCHEE R 22.0260 MIXED NTECRATER	CohoTotal #NAEgg Take50,000WYNOOCHEE R 22.0260Shipping2,750MIXEDReceived200

### **Estimated Brood Data**

Egg Take Goal 50,000

## **Estimated Transfer Data**

Shipped or F	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life St	age
Shipped		01/2025	01/2025	ABER	DEEN SD 5(ABER	DE	1,000		0	EGGS	EYED
Shipped		01/2025	01/2025	GRAY	S HARBOR STREA	AM TEAM (GRAYS	) 1,500		0	EGGS	EYED
Shipped		01/2026	01/2026	ABER	DEEN SD 5(ABER	DE	250	20.0	13	JUVE	NILE
Received		05/2026	05/2026	ABER	DEEN SD 5(ABER	DE	200	18.0	11	JUVE	NILE
<b>Estimated</b>	Release	Data									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	05/2026	3(	),000	15.0	2,000	JUVENILE	VAN WINKLE C 22.0	0240	AD		

Memo: Program implementation is dependent on legal authority and funding. Transfer to Grays Harbor CC only if not broodstock retruns to the college.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Tele		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	250	50
Brood Origin:	HATCHERY	Received	20,200	2,067
Integrated/Segregated:		Planted	19,500	10,667

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	<b>Total Pounds</b>	Life Sta	ige
Received		10/2025	10/2025	EELL	S SPRINGS		20,000	10.0	2,000	JUVEN	VILE
Shipped		05/2026	05/2026	ABER	DEEN SD 5(ABER	DE	250	5.0	50	JUVE	VILE
Received		08/2026	08/2026	ABER	DEEN SD 5(ABER	DE	200	3.0	67	JUVE	VILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
04/2026	04/2026	17	7,000	3.0	5,667	JUVENILE	GRAYS HARBOR C	O LAKES	5		
04/2027	05/2027	2	2,500	0.5	5,000	JUVENILE	GRAYS HARBOR C	O LAKES	5		

Memo: Program implementation is dependent on legal authority and funding.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead	E	gg Take		
Run:	Summer				
Stock:	LK ABERDEEN HATCHERY	S	hipping		
Brood Origin:	HATCHERY	R	eceived		
Integrated/Segregated:	SEGREGATED	Ρ	lanted	60,000	12,000
Estimated Brood Data	<u>a</u>				I
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	60,000	5.0	12,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Steelhead	Take			
Run:	Winter-Late				
Stock:	WYNOOCHEE R 22.0260	Ship	ping		
Brood Origin:	MIXED	Rece	eived		
Integrated/Segregated:	INTEGRATED	Plan	nted	170,000	34,000
Estimated Brood Data	<u>a</u>				i
Egg Take Goal					
Estimated Transfer D	<u>ata</u>				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	170,000	5.0	34,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Mitigation. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

## COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species:	Steelhead Summer		Egg Take	235,000	
Run: Stock:	LK ABERDEEN HATCHERY		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	60,000	12,000
Estimated Brood Data	<u>a</u>		<u> </u>		
Egg Take Goal 235	000				
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	60,000	5.0	12,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

## LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Stockhood			Total #	Total Pounds
Species:	Steelhead	Egg	Take	340,000	
Run:	Winter-Late		,		
Stock:	WYNOOCHEE R 22.0260	Ship	Shipping		
Brood Origin:	MIXED	Rece	eived		
Integrated/Segregated:	INTEGRATED	Plan	ted	170,000	34,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 340	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	170,000	5.0	34,000	JUVENILE	WYNOOCHEE R 22.0260	AD	

Memo: Program implementation is dependent on legal authority and funding. Mitigation. Plant excess into Vance Creek Ponds (Grays Harbor) Yearly testing for detection of regulated pathogens and obtain exemption from SDCP and co-managers. Released at various locations throughout the Wynoochee watershed.

## LONESOME CR HATCHERY

#### QUILEUTE TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chinook	с т.		
Run:	Summer	Egg Take		
Stock:	SOL DUC R 20.0096	Shipping	155,000	1,033
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Shipped	04/2024	04/2024	BEAR SP	RINGS 1 (20)		155,000	150.0	1,033	JUVENILE
Estimated Release	e Data								
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре Tagged

Memo: Depending on water and space availability at Lonesome Crk Hat., some portion of the total egg-take listed to be reared at Lonesome Cr. Hat. May be reared at Sol Duc.

Tuesday, January 16, 2024

# LONESOME CR HATCHERY

#### QUILEUTE TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	с т.		
Run:	Summer	Egg Take		
Stock:	SOL DUC R 20.0096	Shipping	155,000	1,033
Brood Origin:	MIXED	Received	170,000	0
Integrated/Segregated:	INTEGRATED	Planted		

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	2
Received	11/2024	11/2024	SOLDU	C HATCHERY		170,000		0	EGGS EY	/ED
Shipped	04/2025	04/2025	BEAR S	PRINGS 1 (20)		155,000	150.0	1,033	JUVENII	ĿE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Τνρε	Tagged

Memo: Depending on water and space availability at Lonesome Crk Hat., some portion of the total egg-take listed to be reared at Lonesome Cr. Hat. May be reared at Sol Duc.

Tuesday, January 16, 2024

## LONESOME CR HATCHERY

#### QUILEUTE TRIBE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Fee Talu		Total Total
Run:	Winter	Egg Take		
Stock:	BOGACHIEL HATCHERY	Shipping	80,000	533
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Received	02/2025	02/2025	BOGACI	BOGACHIEL HATCHERY		100,000		0	EGGS EYED	
Shipped	07/2025	07/2025	BOGACI	HIEL HATCHERY	7	80,000	150.0	533	JUVENILE	3
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре 1	Гagged

Memo: Cooperative with WDFW.

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fag Take		
Run:	NA	Egg Take		
Stock:	ELWHA R 18.0272	Shipping		
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	425,000	26,564
Estimated Brood Data				
Egg Take Goal				

Shipped or Received Start Date End Date Facility	Number FPP Total Pounds Life Stage	
--	------------------------------------	--

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	275,000	16.0	17,188	JUVENILE	ELWHA R 18.0272	AD	
03/2025	04/2025	75,000	16.0	4,688	JUVENILE	ELWHA R 18.0272	AD	$\checkmark$
03/2025	04/2025	75,000	16.0	4,688	JUVENILE	ELWHA R 18.0272		$\checkmark$

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Chum		Total #	Total Pounds
Species: Run:	NA	Egg Ta	ke 600,000	
Stock:	ELWHA R 18.0272	Shippi	ng	
Brood Origin:	MIXED	Receiv	ed	
Integrated/Segregated:	INTEGRATED	Plante	450,000	750
Estimated Brood Data	<u>a</u>			
Egg Take Goal 600	000			
Estimated Transfer D	ata			
Shipped or Received Sta	art Date End Date Facility	Number F	PP Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	450,000	600.0	750	JUVENILE	ELWHA R 18.0272	ОТ	

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	I		Total Total of
Run:	Fall	Egg Take		
Stock:	ELWHA R 18.0272	Shipping		
Brood Origin:	MIXED	Received	500,000	0
Integrated/Segregated:	INTEGRATED	Planted	475,000	7,916

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2024	09/2024	ELWHA HATCHERY	500,000		0	EGGS GREEN

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	425,000	60.0	7,083	JUVENILE	ELWHA R 18.0272	OT	
05/2025	06/2025	50,000	60.0	833	JUVENILE	ELWHA R 18.0272	AD	$\checkmark$

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Coho			Egg Take	475,000	
Run:	NA				., 0,000	
Stock:	ELWHA R 18.0272			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	425,000	27,709
Estimated Brood Data	<u>a</u>					
Egg Take Goal 475	.000					
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	04/2026	275,000	15.0	18,333	JUVENILE	ELWHA R 18.0272	AD	
03/2026	04/2026	75,000	16.0	4,688	JUVENILE	ELWHA R 18.0272	AD	$\checkmark$
03/2026	04/2026	75,000	16.0	4,688	JUVENILE	ELWHA R 18.0272		$\checkmark$

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfer Da	ta				
Egg Take Goal 1,19	7,500				
Estimated Brood Data					
Integrated/Segregated:	INTEGRATED	Р	Planted	958,000	1,916
Brood Origin:	MIXED	R	Received		
Stock:	ELWHA R 18.0272	S	hipping		
Run:	NA	E	gg Take	1,197,500	
Species:	Pink	_		Total #	Total Pounds
Brood Year:	2024				

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	958,000	500.0	1,916	JUVENILE	ELWHA R 18.0272		

Memo:

Tuesday, January 16, 2024

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Staalbaad		Total #	Total Pounds
Species:	Steelhead	Egg Take		
Run:	Winter-Late	Shipping		
Stock:	ELWHA R 18.0272			
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	175,000	29,167
Estimated Brood Dat	<u>i</u>			
Egg Take Goal				
Estimated Transfer D	<u>ata</u>			
	art Date End Date Facility	Number FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	175,000	6.0	29,167	JUVENILE	ELWHA R 18.0272	AD	

Memo: All fish identified as being in genetic excess to captive brood program needs will be planted into the Elwha River at either age 1+ or 2+.

## LOWER ELWHA HATCHERY

LOWER ELWHA KLALLAM TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Steelbaad			Total #	Total Pounds					
Species: Run:	Steelhead Winter-Late		Egg Take	200,000						
Stock:	ELWHA R 18.0272		Shipping							
Brood Origin:	MIXED		Received							
Integrated/Segregated:	INTEGRATED		Planted	175,000	29,167					
Estimated Brood Data	1		L		,					
Egg Take Goal 200	000									
Estimated Transfer Data										
Shipped or Received Sta	rt Date End Date Facili	Number	FPP	Total Pounds	Life Stage					

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2027	05/2027	175,000	6.0	29,167	JUVENILE	ELWHA R 18.0272	AD	

Memo: All fish identified as being in genetic excess to captive brood program needs will be planted into the Elwha River at either age 1+ or 2+.

# LYON ES (TACOMA)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Talks		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	SWAN CR 10.0023		

Memo: Program implementation is dependent on legal authority and funding.

## MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Estimated Transfer Da	<u>ata</u>					
national nations from						
Egg Take Goal						
Estimated Brood Data	<u>1</u>					
Integrated/Segregated:	SEGREGATED			Planted	100,000	4,762
Brood Origin:	HATCHERY			Received		
Stock:	TSOO-YESS R 2	20.0015		Shipping		
Run:	NA			Egg Take		
Brood Year: Species:	2023 Coho				Total #	Total Pounds

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
04/2025	04/2025	100,000	21.0	4,762	JUVENILE	TSOO-YESS R	20.0015	AD	

Memo: Release about May 15 at 15-20 fpp. Excess to program will be stocked on station as fry.

## MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Teles		
Run:	Fall	Egg Take	2,700,000	
Stock:	TSOO-YESS R 20.0015	Shipping	100,000	400
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	2,200,000	29,334

## **Estimated Brood Data**

**Egg Take Goal** 2,700,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2025	05/2025	EDUCKET CR HATCHERY	100,000	250.0	400	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2025	05/2025	2,000,000	75.0	26,667	JUVENILE	TSOO-YESS R	20.0015	AD	
05/2025	05/2025	200,000	75.0	2,667	JUVENILE	TSOO-YESS R	20.0015	AD	$\checkmark$

## MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species: Run:	Coho NA		Egg Take	250,000	
Stock:	TSOO-YESS R 20.0015		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	300,000	5,873
Estimated Brood Data					
Egg Take Goal 250	,000				
Estimated Transfer D	<u>ata</u>				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2025	05/2025	120,000	180.0	667	JUVENILE	TSOO-YESS R	20.0015	AD	
05/2025	05/2025	80,000	180.0	444	JUVENILE	TSOO-YESS R	20.0015	AD	$\checkmark$
04/2026	04/2026	100,000	21.0	4,762	JUVENILE	TSOO-YESS R	20.0015	AD	$\checkmark$

Memo: Release about May 15 at 15-20 fpp. Excess to program will be stocked on station as fry.

## MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	с т.		Total Total of the
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping	22,000	3,143
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	158,000	28,727

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	EDUCKET CR HATCHERY	22,000	7.0	3,143	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2025	05/2025	158,000	5.5	28,727	JUVENILE	TSOO-YESS R	20.0015		

Memo: If possible, transfer to Educket Cr for imprinting before release.

Tuesday, January 16, 2024

## MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Sockeye	Fee Take		
Run:	NA	Egg Take		
Stock:	OZETTE LK (20)	Shipping	305,000	0
Brood Origin:	MIXED	Received	305,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## Estimated Brood Data

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stag	e
Received	11/2024	12/2024	UMBRELLA CR HATCH	ERY	305,000		0	EGGS G	REEN
Shipped	02/2025	02/2025	UMBRELLA CR HATCH	ERY	122,000		0	EGGS E	YED
Shipped	03/2025	03/2025	STONY CR HATCHERY		183,000		0	EGGS E	YED
Estimated Release	e Data								
Start Date End Dat	e Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

Memo: Incubated under quarantine conditions at MNFH per NWFHP disease policy.

## MAKAH NFH ON TSOO-YESS R

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	TSOO-YESS R 20.0015	Shipping	22,000	3,143
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	158,000	28,727

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	04/2026	04/2026	EDUCKET CR HATCHERY	22,000	7.0	3,143	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2026	05/2026	158,000	5.5	28,727	JUVENILE	TSOO-YESS R	20.0015		

Memo: If possible, transfer to Educket Cr for imprinting before release.

## MANCHESTER

NATIONAL MARINE FISHERIES SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 2	024		Total #	Total Pounds
Species: S	teelhead			
Run: S	ummer	Egg Take		
Stock:	/IETHOW R 48.0002	Shipping		
Brood Origin:	VILD	Received	2,000	0
Integrated/Segregated:	NTEGRATED	Planted		

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	e	
Received	06/2024	06/2024	WINTHRO	WINTHROP NFH		2,000		0		EGGS EYED	
Estimated Release	e Data										
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark 1	Гуре	Tagged	

Memo: For research.

Tuesday, January 16, 2024

## MANCHESTER

NATIONAL MARINE FISHERIES SERVICE

### COASTAL / PUGET SOUND / HOOD CANAL

Species:     Steelhead     Egg Take	I # Total Pounds
Run: Summer	
Stock: METHOW R 48.0002 Shipping	
Brood Origin: WILD Received 2,000	0 0
Integrated/Segregated: INTEGRATED Planted	

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2025	06/2025	WINTHROP NFH	2,000		0	EGGS EYED
Estimated Release	e Data						

	Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	----------	-------------	-----	---------------------	------------	--------------	-----------	--------

Memo: For research.

Tuesday, January 16, 2024

# MARBLE CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Teles		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	15,000	0
Integrated/Segregated:	INTEGRATED	Planted	15,000	12

# **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	15,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	15,000	1,250.0	12	JUVENILE	MARBLE CR 15.0068A		

# MARSHALL MS (OLY)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Coo Tolio		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	WOODLAND CR 13.0006		

## MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Caba				Total #	Total Pounds
Species: Run:	Coho NA			Egg Take		
Stock:	WISHKAH R 22.0191			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	300,000	17,647
Estimated Brood Data	<u>a</u>					
Egg Take Goal						
Estimated Transfer D	<u>ata</u>					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	300,000	17.0	17,647	JUVENILE	WISHKAH R 22.0191	AD	

## MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Chum			Egg Take	120,000	
Run:	NA				120,000	
Stock:	WISHKAH R 22.0191			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	100,000	222
Estimated Brood Dat	<u>a</u>					
Egg Take Goal 120	,000					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	450.0	222	JUVENILE	WISHKAH R 22.0191		

## MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Caba			Total #	Total Pounds
Species:	Coho NA		Egg Take	400,000	
Run: Stock:	WISHKAH R 22.0191		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	300,000	17,647
Estimated Brood Data	<u>1</u>		L		1
Egg Take Goal 400	000				
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facilit	Numbe	r FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	300,000	17.0	17,647	JUVENILE	WISHKAH R 22.0191	AD	

# MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c		. otari ounus
Run:	Winter	Egg Take		
Stock:	HUMPTULIPS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,500	620
Integrated/Segregated:	SEGREGATED	Planted	15,000	2,143

# **Estimated Brood Data**

```
Egg Take Goal
```

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2024	10/2024	HUMPTULIPS HATCHERY	15,500	25.0	620	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	15,000	7.0	2,143	JUVENILE	WISHKAH R 22.0191	AD	

# MAYR BROTHERS REARIN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter	Egg Take		
Stock:	HUMPTULIPS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,500	620
Integrated/Segregated:	SEGREGATED	Planted	15,000	2,143

# **Estimated Brood Data**

```
Egg Take Goal
```

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	HUMPTULIPS HATCHERY	15,500	25.0	620	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	15,000	7.0	2,143	JUVENILE	WISHKAH R 22.0191	AD	

# **MCKERNAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum		18 200 000	
Run:	NA	Egg Take	18,300,000	
Stock:	HOOD CANAL STOCK	Shipping	4,983,775	1,455
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	11,500,000	25,556

### **Estimated Brood Data**

**Egg Take Goal** 18,300,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2024	12/2024	RFEG 5 SOUTH PUGET S	375		0	EGGS EYED
Shipped	12/2024	12/2024	RFEG 6 - HCSEG RSIS	155,000		0	EGGS EYED
Shipped	12/2024	12/2024	RFEG 6 - SALMON IN THE CLASSROOM	1,750		0	EGGS EYED
Shipped	12/2024	01/2025	GEORGE ADAMS HATCHERY	3,200,000		0	EGGS EYED
Shipped	12/2024	01/2025	SPRING CR COOP	20,400		0	EGGS EYED
Shipped	01/2025	01/2025	MT VIEW ES (SHELTON)	250		0	EGGS EYED
Shipped	01/2025	01/2025	N KITSAP SALMON CLUB	6,000		0	EGGS EYED
Shipped	02/2025	03/2025	RICKS PD (LLTK)	1,600,000	1,100.0	1,455	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. Balance of production taken at Hoodsport/GA if needed. Juveniles are otolith marked.

# **MCKERNAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Take		
Run:	NA	Egg Take	18,300,000	
Stock:	HOOD CANAL STOCK	Shipping	4,983,775	1,455
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	11,500,000	25,556

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	11,500,000	450.0	25,556	JUVENILE	WEAVER CR 16.0006		

Memo: Program implementation is dependent on legal authority and funding. Balance of production taken at Hoodsport/GA if needed. Juveniles are otolith marked.

# **MCKERNAN HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Coo Toluo		Total Total
Run:	Late	Egg Take		
Stock:	SKOKOMISH R 16.0001	Shipping		
Brood Origin:	MIXED	Received	112,000	102
Integrated/Segregated:	INTEGRATED	Planted	100,000	1,052

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received Start Date End Date		End Date	Facility	Number FPP		Total Pounds	Life Stage
Received	01/2025	01/2025	GEORGE ADAMS HATCHERY	112,000	1,100.0	102	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	50,000	95.0	526	JUVENILE	SKOKOMISH R -NF (16)		
04/2025	05/2025	50,000	95.0	526	JUVENILE	VANCE CR 16.0013		$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. 200K part of Skokomish chinook recovery program. These are late fall chinook.

# **MEEKER MS (TACOMA)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Face Talla		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	10,000	0
Integrated/Segregated:	INTEGRATED	Planted	10,000	7

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	10,000		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	10,000	1,500.0	7	JUVENILE	PUGET CREEK		

Memo: Program implementation is dependent on legal authority and funding. Unfed fry release into Puget Creek WRIA 10.

# MICHAEL T SIMMONS ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MOXLIE CR 13.0027		

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chum		····	Total Total as
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping	2,050	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	<b>Total Pounds</b>	Life Stag	ge
Shipped	01/2024	01/2024	EVERGREEN ES #2(LAK	E	250		0	EGGS E	EYED
Shipped	01/2024	01/2024	RFEG 5 SOUTH PUGET S	5	1,800		0	EGGS E	EYED
Estimated Release		lease	FPP Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023			Total #	Total Pounds
Species:	Chinook		Egg Take		
Run:			Shipping		
Stock:					
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	100,000	2,500
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
07/2024	07/2024	100,000	40.0	2,500	JUVENILE	MINTER CR 15.0048	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Backfill if necessary.

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Estimated Brood Data Egg Take Goal									
Integrated/Segregated:	INTEGRATED			Planted	500,000	35,539			
Brood Origin:	MIXED			Received					
Stock:	MINTER CR 15.0048			Shipping					
Run:	NA			Egg Take					
Brood Year: Species:	2023 Coho				Total #	Total Pounds			

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	06/2025	205,000	17.0	12,059	JUVENILE	MINTER CR 15.0048	AD	
03/2025	06/2025	45,000	17.0	2,647	JUVENILE	MINTER CR 15.0048	AD	$\checkmark$
07/2025	07/2025	205,000	12.0	17,083	JUVENILE	MINTER CR 15.0048	AD	
07/2025	07/2025	45,000	12.0	3,750	JUVENILE	MINTER CR 15.0048	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Loss due to predation. Shortages may be backfilled from other South Sound Coho Programs.

# MINTER CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Chum	Fee Tales		
NA	Едд таке	4,125,000	
MINTER CR 15.0048	Shipping	1,533,250	0
MIXED	Received		
INTEGRATED	Planted	2,000,000	4,444
	Chum NA MINTER CR 15.0048 MIXED	Chum     Egg Take       NA     Egg Take       MINTER CR 15.0048     Shipping       MIXED     Received	ChumTotal #NAEgg Take4,125,000MINTER CR 15.0048Shipping1,533,250MIXEDReceivedReceived

## **Estimated Brood Data**

**Egg Take Goal** 4,125,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	ARTONDALE ES(GIG HAR	200		0	EGGS EYED
Shipped	01/2025	01/2025	BELLERMINE PREP SCHL	250		0	EGGS EYED
Shipped	01/2025	01/2025	CLOVER PARK SD 400	900		0	EGGS EYED
Shipped	01/2025	01/2025	CURIOUS BY NATURE	100		0	EGGS EYED
Shipped	01/2025	01/2025	DISCOVERY ES #2(GIG	250		0	EGGS EYED
Shipped	01/2025	01/2025	GIG HARBOR ACADEMY	250		0	EGGS EYED
Shipped	01/2025	01/2025	GIG HARBOR FISHERMEN	1,000,000		0	EGGS EYED
Shipped	01/2025	01/2025	HARBOR MONTESSORI SC	250		0	EGGS EYED
Shipped	01/2025	01/2025	KOMACHIN MS (LACEY)	250		0	EGGS EYED
Shipped	01/2025	01/2025	MARBLE CR PROJECT	15,000		0	EGGS EYED
Shipped	01/2025	01/2025	MARSHALL MS (OLY)	250		0	EGGS EYED

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024					Total #	Total Pounds
Species:	Chum				Egg Take	4,125,000	
Run:	NA						
Stock:	MINTE	R CR 15.0048			Shipping	1,533,250	0
Brood Origin:	MIXED				Received		
Integrated/Segreg	gated: INTEGF	RATED			Planted	2,000,000	4,444
Shipped	01/2025	01/2025	MICHAEL T SIMMONS ES	250		0	EGGS EYED
Shipped	01/2025	01/2025	MINTER CREEK ES (GIG	250		0	EGGS EYED
Shipped	01/2025	01/2025	NELYALY CR PROJECT	20,000		0	EGGS EYED
Shipped	01/2025	01/2025	OLALLA ES (OLALLA)	20,000		0	EGGS EYED
Shipped	01/2025	01/2025	OLYMPIA SALMON CLUB	50,000		0	EGGS EYED
Shipped	01/2025	01/2025	PORT ORCHARD ROTARY	70,000		0	EGGS EYED
Shipped	01/2025	01/2025	PURDY CR PROJECT RSI	250,000		0	EGGS EYED
Shipped	01/2025	01/2025	RFEG 5 SOUTH PUGET S	1,800		0	EGGS EYED
Shipped	01/2025	01/2025	SALISH MS	250		0	EGGS EYED
Shipped	01/2025	01/2025	SALTARS PT ES(STEILA	250		0	EGGS EYED
Shipped	01/2025	01/2025	SIDNEY GLEN ES (PORT	1,000		0	EGGS EYED
Shipped	01/2025	01/2025	SOUTH KITSAP HS (POR	250		0	EGGS EYED
Shipped	01/2025	01/2025	SOUTH ROSEDALE PROJ	100,000		0	EGGS EYED
Shipped	01/2025	01/2025	ST MICHAELS SCHL(OLY	250		0	EGGS EYED
Shipped	01/2025	01/2025	SWIFT WATER ELEMENTARY (PIER)	250		0	EGGS EYED
Shipped	01/2025	01/2025	TIMBERLINE HS(OLYMPI	500		0	EGGS EYED
Shipped	01/2025	01/2025	VAUGHN ES (VAUGHN)	250		0	EGGS EYED

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	:	2024						Total #	Total Pounds
Species:		Chum					Faa Taka	4 125 000	
Run:		NA					Egg Take	4,125,000	
Stock:		MINTER CR 15.004	18				Shipping	1,533,250	0
Brood Origi	n:	MIXED					Received		
Integrated/	Segregated:	INTEGRATED					Planted	2,000,000	4,444
Shipped	01	1/2025 01/2025	WASI	HINGTON MS(OLY	MPI	250		0	EGGS EYED
<b>Estimated</b>	Release Da	ata							
Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Type Tagge
04/2025	04/2025	2,000,000	450.0	4,444	JUVENILE	MINTER CR 1	5.0048		

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping	4,500,000	4,417
Brood Origin:	HATCHERY	Received	4,850,000	0
Integrated/Segregated:	SEGREGATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage	
Received	09/2024	10/2024	TUMWATER FALLS HA	TCHERY	4,300,000		0	EGGS GREEN	
Received	11/2024	11/2024	LAKEWOOD HATCHER	Y	550,000		0	EGGS EYED	
Shipped	12/2024	01/2025	GARRISON HATCHERY		500,000	1,200.0	417	JUVENILE	
Shipped	01/2025	01/2025	COULTER CR REARING	POND	4,000,000	1,000.0	4,000	JUVENILE	
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark	Type Tagged	

Memo: Program implementation is dependent on legal authority and funding. 100% viral certified and held on pathogen free water.

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Take		
Run:	Fall	Egg Take	2,600,000	
Stock:	MINTER CR HATCHERY	Shipping	910,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	1,650,000	21,625

## **Estimated Brood Data**

**Egg Take Goal** 2,600,000

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2024	11/2024	GROVERS CR HATCHERY	910,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	100.0	1,000	JUVENILE	MINTER CR 15.0048	AD	
05/2025	05/2025	100,000	80.0	1,250	JUVENILE	MINTER CR 15.0048	AD	$\checkmark$
05/2025	05/2025	1,350,000	80.0	16,875	JUVENILE	MINTER CR 15.0048	AD	
07/2025	07/2025	100,000	40.0	2,500	JUVENILE	MINTER CR 15.0048	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Backfill if necessary.

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024					Total #	Total Pounds
Species:	Chinook				Egg Take	600,000	
Run:	Spring						550
Stock:	WHITE I	R 10.0031			Shipping	550,000	550
Brood Origin:	HATCHE	RY			Received		
Integrated/Segregate	d: SEGREG	ATED			Planted		
Estimated Brood I	<u>Data</u>					,	
Egg Take Goal	600,000						
Estimated Transfe	er Data						
Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	HUPP SPRINGS REARING	550,000	1,000.0	550	JUVENILE
Estimated Release	Data						

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
otart Date		ituili itelease		rotarr ourido	The stage		intant i jpe	

Memo: Program implementation is dependent on legal authority and funding. Excess eggs taken will be made available for W.R. SP CK Recovery Program pending funding.

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho		1 400 000	
Run:	NA	Egg Take	1,400,000	
Stock:	MINTER CR 15.0048	Shipping	675,000	1,238
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	500,000	35,539

### **Estimated Brood Data**

**Egg Take Goal** 1,400,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	DOBBS CR PROJECT	5,000		0	EGGS EYED
Shipped	01/2025	01/2025	GROVERS CR HATCHERY	330,000	0.0	0	EGGS EYED
Shipped	01/2025	01/2025	OLYMPIA SALMON CLUB	50,000		0	EGGS EYED
Shipped	01/2025	01/2025	PORT ORCHARD ROTARY	15,000		0	EGGS EYED
Shipped	02/2025	02/2025	GARRISON HATCHERY	110,000	800.0	138	JUVENILE
Shipped	05/2025	05/2025	HUPP SPRINGS REARING	165,000	150.0	1,100	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. Loss due to predation. Shortages may be backfilled from other South Sound Coho Programs.

# **MINTER CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teles		
Run:	NA	Egg Take	1,400,000	
Stock:	MINTER CR 15.0048	Shipping	675,000	1,238
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	500,000	35,539

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	06/2026	205,000	17.0	12,059	JUVENILE	MINTER CR 15.0048	AD	
03/2026	06/2026	45,000	17.0	2,647	JUVENILE	MINTER CR 15.0048	AD	
07/2026	07/2026	45,000	12.0	3,750	JUVENILE	MINTER CR 15.0048	AD	$\checkmark$
07/2026	07/2026	205,000	12.0	17,083	JUVENILE	MINTER CR 15.0048	AD	

Memo: Program implementation is dependent on legal authority and funding. Loss due to predation. Shortages may be backfilled from other South Sound Coho Programs.

# MINTER CREEK ES (GIG

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MINTER CR 15.0048		

# MONTESANO JHS HS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Tales		
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	300	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	300		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	225	500.0	0	JUVENILE	SYLVIA CR 22.0261		

# MT MEADOW ES(BUCKLEY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	225	500.0	0	JUVENILE	VOIGHT CR 10.0414		

# MT VIEW ES (SHELTON)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fag Take		
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregate	ed:	Planted	225	0
Estimated Dread	Dele			

# Estimated Brood Data

```
Egg Take Goal
```

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MCKERNAN HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	01/2025	225	500.0	0	JUVENILE	PURDY CR 16.0005		

# N KITSAP SALMON CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	6,000	0
Integrated/Segregated:	SEGREGATED	Planted	5,400	4

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MCKERNAN HATCHERY	6,000		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	5,400	1,250.0	4	JUVENILE	HAWK'S HOLE 15.0346		

# NAPAVINE JHS HS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	375	0
Integrated/Segregated:	INTEGRATED	Planted	370	1

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2025	03/2025	SKOOKUMCHUCK HATCHERY	375		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	370	500.0	1	JUVENILE	ALLEN CR 23.0883		

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023			Total #	Total Pounds
Species:	Coho		Egg Take		
Run:	Late				
Stock:	NASELLE R 24.0543		Shipping		
Brood Origin:	MIXED		Received		
Integrated/Segregated:	INTEGRATED		Planted	200,000	11,765
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	200,000	17.0	11,765	JUVENILE	NASELLE R 24.0543	AD	

Memo: Program implementation is dependent on legal authority and funding. Forks Creek Hatchery is backup egg source in short years.

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Caba		Total #	Total Pounds
Species: Run:	Coho NA	Egg Take		
Stock:	NASELLE R 24.0543	Shipping		
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	1,200,000	70,588
Estimated Brood Dat	<u>l</u>			
Egg Take Goal				
Estimated Transfer D	ata			
Shipped or Received St	rt Date End Date Facility	Number FPF	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	1,200,000	17.0	70,588	JUVENILE	NASELLE R 24.0543	AD	

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Egg Take	700,000	
Run:	NA	Lgg Take	700,000	
Stock:	NASELLE R 24.0543	Shipping	100,000	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	500,000	1,111

### **Estimated Brood Data**

Egg Take Goal 700,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2024	01/2025	RFEG 10 WILLAPA BAY	100,000		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	03/2025	500,000	450.0	1,111	JUVENILE	NASELLE R 24.0543		

Memo: Program implementation is dependent on legal authority and funding. May come from local stocks via brood stocking. Backfill with Nemah if needed.

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:					Total #	Total Pounds
Species:	Chinook			Egg Take	5,500,000	
Run:	Fall				5,500,000	
Stock:	NASELLE R 24.0543			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	5,000,000	62,500
Estimated Brood Data	<u>a</u>					
Egg Take Goal 5,50	00,000					
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	06/2025	200,000	80.0	2,500	JUVENILE	NASELLE R 24.0543	AD	
04/2025	06/2025	4,800,000	80.0	60,000	JUVENILE	NASELLE R 24.0543	AD	

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	400,000	
Run:	Late	Lgg Take	400,000	
Stock:	NASELLE R 24.0543	Shipping	150,100	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	200,000	11,765

### **Estimated Brood Data**

Egg Take Goal 400,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	NASELLE-GRAYS R VALL	100		0	EGGS EYED
Shipped	02/2025	03/2025	RFEG 10 WILLAPA BAY	150,000		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	200,000	17.0	11,765	JUVENILE	NASELLE R 24.0543	AD	

Memo: Program implementation is dependent on legal authority and funding. Forks Creek Hatchery is backup egg source in short years.

# NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take	1,450,000	
Run: Stock:	NA NASELLE R 24.0543	Shipping	350,000	1,875
Brood Origin:	MIXED	Received	300,000	5,000
Integrated/Segregated:	INTEGRATED	Planted	1,200,000	70,588

## **Estimated Brood Data**

**Egg Take Goal** 1,450,000

## **Estimated Transfer Data**

Shipped or I	Received	Start Date	End Date	Facility	/		Number	FPP	<b>Total Pounds</b>	Life St	age
Shipped		06/2024	06/2024	NEMA	NEMAH HATCHERY		300,000	160.0	1,875	JUVENILE	
Received		11/2024	11/2024	NEMAH HATCHERY			300,000	60.0	5,000	JUVENILE	
Shipped		01/2025	01/2025	RFEG	RFEG 10 WILLAPA BAY		50,000	0		EGGS EYED	
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	e Num Re	elease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	05/2026	1,20	0,000	17.0	70,588	JUVENILE	NASELLE R 24.05	43	AD		

### NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Stoolbood				Total #	Total Pounds
Species: Run:	Steelhead Winter			Egg Take		
Stock:	NASELLE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	75,000	13,636
Estimated Brood Data	<u>a</u>					
Egg Take Goal						
Estimated Transfer D	ata					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	65,000	5.5	11,818	JUVENILE	NASELLE R 24.0543	AD	
04/2025	05/2025	10,000	5.5	1,818	JUVENILE	NASELLE R 24.0543	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally released 5 - 6 fpp. May backfill from Forks.

### NASELLE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025 Staalbaad			Total #	Total Pounds	
Species: Run:	Steelhead Winter			Egg Take	100,000	
Stock:	NASELLE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	75,000	13,636
Estimated Brood Data	<u>1</u>					
Egg Take Goal 100	000					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2025	10,000	5.5	1,818	JUVENILE	NASELLE R 24.0543	AD	
04/2026	05/2026	65,000	5.5	11,818	JUVENILE	NASELLE R 24.0543	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish volitionally released 5 - 6 fpp. May backfill from Forks.

### NASELLE-GRAYS R VALL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		
Run:	Late	Egg Take		
Stock:	NASELLE R 24.0543	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	100	0

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	NASELLE HATCHERY	100		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	100	1,100.0	0	JUVENILE	JOHNSON CR 24.0603		

Memo:

Tuesday, January 16, 2024

## NATURE BRIDGE ONP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	400	0
Integrated/Segregated:	SEGREGATED	Planted	400	1

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	HURD CR HATCHERY	400		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	400	500.0	1	JUVENILE	TUMWATER CR 18.0256		

## NELYALY CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	20,000	0
Integrated/Segregated:	INTEGRATED	Planted	20,000	16

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	20,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	20,000	1,250.0	16	JUVENILE	NELYALY CR 15.0068		

### **NEMAH HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022 Deisheur		Tot	al # Total Pounds
Species:	Rainbow	Egg	g Take	
Run:			pping	
Stock:	SPRING CR-GOLDENDALE			
Brood Origin:	HATCHERY	Red	ceived	
Integrated/Segregate	ed:	Pla	nted 150	500
Estimated Brood	<u>Data</u>			
Egg Take Goal				
Estimated Transfe	er Data			
Shipped or Received	Start Date End Date Facility	Number	FPP Tota	l Pounds Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	06/2025	150	0.3	500	JUVENILE	PACIFIC CO LAKES		

### **NEMAH HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	I		
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	25,000	2,500
Integrated/Segregated:		Planted	24,150	13,300

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2024	11/2024	EELLS SPRINGS	25,000	10.0	2,500	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	22,000	2.5	8,800	JUVENILE	PACIFIC CO LAKES		
10/2025	10/2025	2,000	0.5	4,000	JUVENILE	PACIFIC CO LAKES		
04/2026	06/2026	150	0.3	500	JUVENILE	PACIFIC CO LAKES		

## **NEMAH HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Chum			Egg Take	1,650,000	
Run:	NA				, ,	
Stock:	NEMAH R 24.0460			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	1,500,000	3,333
Estimated Brood Dat	<u>a</u>				1	
Egg Take Goal 1,65	50,000					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date F	acility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	1,500,000	450.0	3,333	JUVENILE	N NEMAH R TR 24.0498		

Memo: Program implementation is dependent on legal authority and funding. Brood stock from N.Nemah and Williams Creek. Used to backfill Naselle or Forks Creek Hatcheries.

Tuesday, January 16, 2024

### **NEMAH HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Chinook			Egg Take	3,700,000	
Run: Stock:	Fall NEMAH HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	3,300,000	41,250
Estimated Brood Data	<u>a</u>					
Egg Take Goal 3,70	00,000					
Estimated Transfer D	<u>ata</u>					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	06/2025	2,900,000	80.0	36,250	JUVENILE	NORTH NEMAH R24.0460	AD	
04/2025	06/2025	200,000	80.0	2,500	JUVENILE	NORTH NEMAH R24.0460	AD	$\checkmark$
04/2025	06/2025	200,000	80.0	2,500	JUVENILE	NORTH NEMAH R24.0460		$\checkmark$

### **NEMAH HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	EggTako		
Run:	NA	Egg Take		
Stock:	NASELLE R 24.0543	Shipping	300,000	5,000
Brood Origin:	MIXED	Received	300,000	1,875
Integrated/Segregated:	INTEGRATED	Planted		

### Estimated Brood Data

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	e
Received	06/2024	06/2024	NASELL	E HATCHERY		300,000	160.0	1,875	JUVENI	LE
Shipped	11/2024	11/2024	NASELL	E HATCHERY		300,000	60.0	5,000	JUVENI	LE
Estimated Release			500						_	
Start Date End Dat	te Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

### **NEMAH HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	25,000	2,500
Integrated/Segregated:		Planted	24,150	13,300

## Estimated Brood Data

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	25,000	10.0	2,500	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	22,000	2.5	8,800	JUVENILE	PACIFIC CO LAKES		
10/2026	10/2026	2,000	0.5	4,000	JUVENILE	PACIFIC CO LAKES		
04/2027	06/2027	150	0.3	500	JUVENILE	PACIFIC CO LAKES		

## NF SKOKOMISH HATCHERY

SKOKOMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		. otali i ounus
Run:	NA	Egg Take		
Stock:	SKOKOMISH R 16.0001	Shipping		
Brood Origin:	WILD	Received	35,000	44
Integrated/Segregated:	SEGREGATED	Planted	35,000	2,333

### Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2024	04/2024	SKOKOMISH R -NF (16)	35,000	800.0	44	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	35,000	15.0	2,333	JUVENILE	SKOKOMISH R -NF (16)	AD	

## NISQUALLY MS(OLYMPIA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Fall	Egg Take		
Stock:	KALAMA CR 11.0017	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	90	1

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	KALAMA CR HATCHERY	100		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	90	150.0	1	JUVENILE	KALAMA CR 11.0017		

Memo: Program implementation is dependent on legal authority and funding. The US Fish and Wildlife Service is sponsoring this request to raise salmon in the classroom to augment student science curriculum.

Tuesday, January 16, 2024

## NOEL COLE POND (23)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	25,500	1,020
Integrated/Segregated:	INTEGRATED	Planted	25,000	1,667

### Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2025	02/2025	SKOOKUMCHUCK HATCHERY	25,500	25.0	1,020	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	25,000	15.0	1,667	JUVENILE	NEWAUKUM R-NF23.0887	AD	

## NOEL COLE POND (23)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	25,500	1,020
Integrated/Segregated:	INTEGRATED	Planted	25,000	1,667

### Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	SKOOKUMCHUCK HATCHERY	25,500	25.0	1,020	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	25,000	15.0	1,667	JUVENILE	NEWAUKUM R-NF23.0887	AD	

## OAKVILLE HS(OAKVILLE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	100	0

## Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	SKOOKUMCHUCK HATCHERY	100		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	100	500.0	0	JUVENILE	CHEHALIS R 22.0190		

## **OFFUTT LK NP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	2,500
Integrated/Segregate	ed:	Planted	10,000	4,000
Estimated Brood	Data			

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	EELLS SPRINGS	10,000	4.0	2,500	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	10,000	2.5	4,000	JUVENILE	OFFUTT LK (THUR)		

## **OFFUTT LK NP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	2,500
Integrated/Segregate	d:	Planted	10,000	4,000
Estimated Brood I	Data			

## Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	10,000	4.0	2,500	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	10,000	2.5	4,000	JUVENILE	OFFUTT LK (THUR)		

## OLALLA ES (OLALLA)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Telve		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	20,000	0
Integrated/Segregated:	INTEGRATED	Planted	20,000	16

### Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	20,000		0	EGGS EYED

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	02/2025	10,000	1,250.0	8	JUVENILE	BURLEY CR 15.0056		
02/2025	02/2025	10,000	1,250.0	8	JUVENILE	OLALLA CR 15.0107		

Memo: Program implementation is dependent on legal authority and funding. Unfed fry release.

### **OLYMPIA SALMON CLUB**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Taka		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	50,000	0
Integrated/Segregated:	INTEGRATED	Planted	50,000	40

## Estimated Brood Data

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	50,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	50,000	1,250.0	40	JUVENILE	WOODARD CR 13.0012		

### **OLYMPIA SALMON CLUB**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	50,000	0
Integrated/Segregated:	INTEGRATED	Planted	50,000	33

#### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	50,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	50,000	1,500.0	33	JUVENILE	WOODARD CR 13.0012		

Memo: Program implementation is dependent on legal authority and funding. Remote Site Incubator Project.

#### **OLYMPIC PENINSULA ACADEMY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

## Estimated Brood Data

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	250		0	EGGS EYED

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	HURD CR 18.0028		

## **ORTING COOP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	50,000	0
Integrated/Segregated:	INTEGRATED	Planted	50,000	313

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	50,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	06/2025	50,000	160.0	313	JUVENILE	BRADLEY CR 10.0477		

## **ORTING SD (ORTING)**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	200	0

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	200	500.0	0	JUVENILE	CARBON R 10.0413		

## PACIFIC CO ANGLERS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	FORKS CREEK HATCHERY	Shipping		
Brood Origin:	MIXED	Received	125,000	0
Integrated/Segregated:	INTEGRATED	Planted	125,000	83

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	01/2025	FORKS CREEK HATCHERY	125,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	50,000	1,500.0	33	JUVENILE	GREEN CR 24.0341		
04/2025	04/2025	50,000	1,500.0	33	JUVENILE	MILL CR 24.0322		
04/2025	04/2025	25,000	1,500.0	17	JUVENILE	WARD CR 24.0307		

## PACIFIC CO ANGLERS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Cas Taka		
Run:	Late	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping		
Brood Origin:	MIXED	Received	75,000	0
Integrated/Segregated:	INTEGRATED	Planted	75,000	50

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	FORKS CREEK HATCHERY	75,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
01/2025	01/2025	50,000	1,500.0	33	JUVENILE	GREEN CR 24.0341		
01/2025	01/2025	25,000	1,500.0	17	JUVENILE	WARD CR 24.0307		

Memo: Program implementation is dependent on legal authority and funding. Remote Site Incubator Project.

## PEDERSEN PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	50,000	0
Integrated/Segregated:	INTEGRATED	Planted	45,000	30

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	SKOOKUMCHUCK HATCHERY	50,000		0	EGGS EYED

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	45,000	1,500.0	30	JUVENILE	NEWAUKUM R-NF23.0887		

## POINT DEFIANCE NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Fall	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	104,000	1,040
Integrated/Segregated:	INTEGRATED	Planted	100,000	4,000

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	CLARKS CRK HATCHERY	52,000	100.0	520	JUVENILE
Received	04/2025	06/2025	VOIGHTS CR HATCHERY	52,000	100.0	520	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	100,000	25.0	4,000	JUVENILE	POINT DEFIANCE NET PENS	AD	

### PORT GAMBLE BAY PENS

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Coo Toluo		
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping		
Brood Origin:	HATCHERY	Received	550,000	22,000
Integrated/Segregated:	SEGREGATED	Planted	525,000	35,000

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	GEORGE ADAMS HATCHERY	550,000	25.0	22,000	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	480,000	15.0	32,000	JUVENILE	PORT GAMBLE BAY PENS	AD	
06/2025	06/2025	45,000	15.0	3,000	JUVENILE	PORT GAMBLE BAY PENS	AD	$\checkmark$

Memo:

### PORT GAMBLE BAY PENS

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Chum	Fee Tele		
NA			
LTL BOSTON C 15.0350	Shipping		
HATCHERY	Received	1,108,000	1,108
SEGREGATED	Planted	1,000,000	2,500
	Chum NA LTL BOSTON C 15.0350 HATCHERY	Chum     Egg Take       NA     Egg Take       LTL BOSTON C 15.0350     Shipping       HATCHERY     Received	Chum     Egg Take       NA     Egg Take       LTL BOSTON C 15.0350     Shipping       HATCHERY     Received     1,108,000

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	LITTLE BOSTON CR HAT	1,108,000	1,000.0	1,108	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	1,000,000	400.0	2,500	JUVENILE	PORT GAMBLE BAY PENS		

Memo:

Tuesday, January 16, 2024

### PORT GAMBLE BAY PENS

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Coo Toluo		
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping		
Brood Origin:	HATCHERY	Received	550,000	22,000
Integrated/Segregated:	SEGREGATED	Planted	525,000	35,000

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	GEORGE ADAMS HATCHERY	550,000	25.0	22,000	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	480,000	15.0	32,000	JUVENILE	PORT GAMBLE BAY PENS	AD	
06/2026	06/2026	45,000	15.0	3,000	JUVENILE	PORT GAMBLE BAY PENS	AD	$\checkmark$

Memo:

## PORT ORCHARD ROTARY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	70,000	0
Integrated/Segregated:	INTEGRATED	Planted	70,000	56

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	70,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	70,000	1,250.0	56	JUVENILE	BEAVER CR 15.0192		

## PORT ORCHARD ROTARY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	15,000	0
Integrated/Segregated:	INTEGRATED	Planted	15,000	10

### **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	15,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	15,000	1,500.0	10	JUVENILE	BEAVER CR 15.0192		

## PURDY CR PROJECT RSI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Tele		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250,000	0
Integrated/Segregated:	INTEGRATED	Planted	250,000	200

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	250,000	1,250.0	200	JUVENILE	PURDY CR 15.0060		

## **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022					Total #	Total Pounds
Species:	Rainbow	/		-	Egg Take		
Run:	NA	NA SPRING CR-GOLDENDALE					
Stock:	SPRING					3,000	1,200
Brood Origin:	HATCHE	RY			Received		
Integrated/Segregate	:d:				Planted		
Estimated Brood I	<u>Data</u>			L			
Egg Take Goal							
Estimated Transfe	er Data						
Estimated Transference	er Data Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
		<b>End Date</b> 09/2024	<b>Facility</b> PUYALLUP FAIR	Number 3,000	<b>FPP</b> 2.5	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date End Date Nu	um Release 🛛 🛛 🛛 🖡	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

### **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

		Egg Take		
LUP R 10.0021		Shipping		
		Received		
RATED		Planted	300,000	17,647
	L			
D	LLUP R 10.0021 D GRATED		D Received	D Received

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	250,000	17.0	14,706	JUVENILE	CLARKS CR 10.0027	AD	
04/2025	04/2025	50,000	17.0	2,941	JUVENILE	CLARKS CR 10.0027	AD	$\checkmark$

## **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,375	15,805
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	187,500	75,000

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2024	10/2024	RAINBOW RESORT NP	15,625	10.0	1,563	JUVENILE
Shipped	10/2024	10/2024	SILVER LK RESORT NP	18,750	10.0	1,875	JUVENILE
Shipped	11/2024	11/2024	CHAMBERS CR HATCHERY	45,000	10.0	4,500	JUVENILE
Shipped	11/2024	12/2024	ARLINGTON HATCHERY	40,000	6.0	6,667	JUVENILE
Shipped	09/2025	09/2025	PUYALLUP FAIR	3,000	2.5	1,200	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	100,000	2.5	40,000	JUVENILE	PIERCE CO LAKES		
03/2025	03/2025	15,000	2.5	6,000	JUVENILE	THURSTON CO LAKES		
03/2025	04/2025	62,500	2.5	25,000	JUVENILE	KING CO LAKES		
04/2025	06/2025	10,000	2.5	4,000	JUVENILE	KING CO LAKES		

## **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Tales		
Run:	Spring	Egg Take		
Stock:	WHITE R 10.0031	Shipping	800,000	5,333
Brood Origin:	MIXED	Received	900,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Received	10/2024	11/2024	WHITE I	RIVER HATCHER	RY	900,000		0	EGGS EYED
Shipped	03/2025	04/2025	WHITE I	RIVER ACCL PO	800,000	150.0	5,333	JUVENILE	
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

Memo: Program implementation is dependent on legal authority and funding. Eggs received from either Minter Creek Hatchery or the Muckleshoot tribe.

## **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Coo Toles		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	330,000	275
Integrated/Segregated:	INTEGRATED	Planted	300,000	17,647

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	03/2025	VOIGHTS CR HATCHERY	330,000	1,200.0	275	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	250,000	17.0	14,706	JUVENILE	CLARKS CR 10.0027	AD	
04/2026	04/2026	50,000	17.0	2,941	JUVENILE	CLARKS CR 10.0027	AD	$\checkmark$

## **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,375	15,805
Brood Origin:	HATCHERY	Received	575,000	0
Integrated/Segregated:		Planted	187,500	75,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	01/2025	GOLDENDALE HATCHERY	575,000		0	EGGS EYED
Shipped	10/2025	10/2025	RAINBOW RESORT NP	15,625	10.0	1,563	JUVENILE
Shipped	10/2025	10/2025	SILVER LK RESORT NP	18,750	10.0	1,875	JUVENILE
Shipped	11/2025	11/2025	CHAMBERS CR HATCHERY	45,000	10.0	4,500	JUVENILE
Shipped	11/2025	12/2025	ARLINGTON HATCHERY	40,000	6.0	6,667	JUVENILE
Shipped	09/2026	09/2026	PUYALLUP FAIR	3,000	2.5	1,200	JUVENILE

## **PUYALLUP HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Faa Tako		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,375	15,805
Brood Origin:	HATCHERY	Received	575,000	0
Integrated/Segregated:		Planted	187,500	75,000

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	100,000	2.5	40,000	JUVENILE	PIERCE CO LAKES		
03/2026	03/2026	15,000	2.5	6,000	JUVENILE	THURSTON CO LAKES		
03/2026	04/2026	62,500	2.5	25,000	JUVENILE	KING CO LAKES		
04/2026	06/2026	10,000	2.5	4,000	JUVENILE	KING CO LAKES		

## PUYALLUP HS(PUYALLUP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	500	0
Integrated/Segregated:	INTEGRATED	Planted	500	1

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	500		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	02/2025	500	500.0	1	JUVENILE	CLARKS CR 10.0027		

## PUYALLUP TRIBAL HATCHERY

#### PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

		Total #	Total Pounds
Species: Chum		· otar #	
Run: NA	Egg Take		
<b>Stock:</b> DIRU CR 10.0029	Shipping	3,800	0
Brood Origin: HATCHERY	Received		
Integrated/Segregated:	Planted		

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stag	ge
Shipped	01/2024	01/2024	FOSS W	ATERWAY SEAP	ORT	3,800		0	EGGS E	EYED
Estimated Release	Data									
Start Date End Dat		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

Memo: Unfed fry release into Puget Creek. Late Stock

## **PUYALLUP TRIBAL HATCHERY**

#### PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	F T-l		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	100,000	4,000
Integrated/Segregated:	INTEGRATED	Planted	100,000	5,556

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	VOIGHTS CR HATCHERY	100,000	25.0	4,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	100,000	18.0	5,556	JUVENILE	RUSHINGWATER 10.0625	AD	$\checkmark$

Memo:

## PUYALLUP TRIBAL HATCHERY

#### PUYALLUP TRIBE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Egg Take	3,200,000	
Run:	NA			
Stock:	DIRU CR 10.0029	Shipping	3,800	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	3,000,000	4,797

## **Estimated Brood Data**

Egg Take Goal 3,200,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2025	01/2025	FOSS WATERWAY SEAPORT	3,800		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	04/2025	1,400,000	1,100.0	1,273	JUVENILE	DIRU CR 10.0029		
02/2025	04/2025	1,600,000	454.0	3,524	JUVENILE	DIRU CR 10.0029		

Memo: Unfed fry release into Puget Creek. Late Stock

## **PUYALLUP TRIBAL HATCHERY**

#### PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Coho	Fag Taka		
NA			
PUYALLUP R 10.0021	Shipping		
MIXED	Received	100,000	4,000
INTEGRATED	Planted	100,000	5,556
	Coho NA PUYALLUP R 10.0021 MIXED	CohoEgg TakeNAFUYALLUP R 10.0021ShippingMIXEDReceived	CohoTotal #NAEgg TakePUYALLUP R 10.0021ShippingMIXEDReceived100,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	VOIGHTS CR HATCHERY	100,000	25.0	4,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	100,000	18.0	5,556	JUVENILE	RUSHINGWATER 10.0625	AD	$\checkmark$

Memo:

## QUILCENE BAY SEA PEN

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

2023		Total #	Total Pounds
Coho	Fac Taka		
NA			
BIG QUILCENE 17.0012	Shipping		
HATCHERY	Received	200,000	8,000
SEGREGATED	Planted	150,000	10,000
	Coho NA BIG QUILCENE 17.0012 HATCHERY	CohoEgg TakeNABIG QUILCENE 17.0012ShippingHATCHERYReceived	CohoTotal #NAEgg TakeBIG QUILCENE 17.0012ShippingHATCHERYReceived200,000

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2025	03/2025	QUILCENE NFH	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	110,000	15.0	7,333	JUVENILE	QUILCENE BAY SEAPENS	AD	
05/2025	05/2025	40,000	15.0	2,667	JUVENILE	QUILCENE BAY SEAPENS	AD	$\checkmark$

Memo: Skokomish Tribe, WDFW and NFH.

## QUILCENE BAY SEA PEN

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Coho	Fac Take		
NA			
BIG QUILCENE 17.0012	Shipping		
HATCHERY	Received	200,000	8,000
SEGREGATED	Planted	150,000	10,000
	Coho NA BIG QUILCENE 17.0012 HATCHERY	CohoEgg TakeNAEgg TakeBIG QUILCENE 17.0012ShippingHATCHERYReceived	CohoFotal #NAEgg TakeBIG QUILCENE 17.0012ShippingHATCHERYReceived200,000

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2026	03/2026	QUILCENE NFH	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	40,000	15.0	2,667	JUVENILE	QUILCENE BAY SEAPENS	AD	
05/2026	05/2026	110,000	15.0	7,333	JUVENILE	QUILCENE BAY SEAPENS	AD	

Memo: Skokomish Tribe, WDFW and NFH.

## QUILCENE NFH

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fee Talua		
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping	200,000	8,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	406,000	22,556

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2025	03/2025	QUILCENE BAY SEA PEN	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	75,000	18.0	4,167	JUVENILE	BIG QUILCENE 17.0012		$\checkmark$
05/2025	05/2025	75,000	18.0	4,167	JUVENILE	BIG QUILCENE 17.0012	AD	$\checkmark$
05/2025	05/2025	256,000	18.0	14,222	JUVENILE	BIG QUILCENE 17.0012	AD	

Memo:

## QUILCENE NFH

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Tako	1,300,000	
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping	800,350	8,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	406,000	22,556

## **Estimated Brood Data**

**Egg Take Goal** 1,300,000

## **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life St	age
Shipped		11/2024	11/2024	GEOR	RGE ADAMS HATC	CHERY	600,000		0	EGGS	EYED
Shipped		11/2024	11/2024	RFEG	6 - SALMON IN T	HE CLASSROOM	350		0	EGGS	EYED
Shipped		03/2026	03/2026	QUIL	CENE BAY SEA PH	EN	200,000	25.0	8,000	JUVE	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
05/2026	05/2026	75	5,000	18.0	4,167	JUVENILE	BIG QUILCENE 17.0	0012	AD		$\checkmark$
05/2026	05/2026	75	5,000	18.0	4,167	JUVENILE	BIG QUILCENE 17.	0012			$\checkmark$
05/2026	05/2026	256	5,000	18.0	14,222	JUVENILE	BIG QUILCENE 17.0	0012	AD		

Memo:

## **QUINAULT LK HATCHERY**

QUINAULT DEPARTMENT OF NATURAL RESOURCES

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 China a h			Total #	Total Pounds
Species: Run:	Chinook Fall		Egg Take	1,500,000	
Stock:	QUINAULT R 21.0398		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	1,300,000	86,666
Estimated Brood Data	<u>a</u>			1	
Egg Take Goal 1,50	0,000				
Estimated Transfer D	<u>ata</u>				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
09/2025	09/2025	200,000	15.0	13,333	JUVENILE	QUINAULT LK (GRAY)	AD	$\checkmark$
09/2025	09/2025	900,000	15.0	60,000	JUVENILE	QUINAULT LK (GRAY)	AD	
09/2025	09/2025	200,000	15.0	13,333	JUVENILE	QUINAULT LK (GRAY)		$\checkmark$

Memo:

## **QUINAULT LK HATCHERY**

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Fag Taka		
Run:	Winter	Egg Take	600,000	
Stock:	QUINAULT R 21.0398	Shipping	600,000	0
Brood Origin:	MIXED	Received	250,000	8,333
Integrated/Segregated:	INTEGRATED	Planted	250,000	50,000

## **Estimated Brood Data**

Egg Take Goal 600,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2024	01/2024	QUINAULT NFH -COOK C	600,000		0	EGGS GREEN
Received	09/2024	09/2024	QUINAULT NFH -COOK C	250,000	30.0	8,333	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	220,000	5.0	44,000	JUVENILE	QUINAULT LK (GRAY)		
04/2025	04/2025	30,000	5.0	6,000	JUVENILE	QUINAULT LK (GRAY)	AD	$\checkmark$

Memo: Broodstock captured in Lake Quinault, no hatchery rack.

## **QUINAULT LK HATCHERY**

QUINAULT DEPARTMENT OF NATURAL RESOURCES

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024	[		Total #	Total Pounds
Species:	Sockeye	-	Egg Take	1,000,000	
Run:	NA			_,,	
Stock:	QUINAULT R 21.0398		Shipping		
Brood Origin:	WILD		Received		
Integrated/Segregated:	INTEGRATED		Planted	1,000,000	285
Estimated Brood Dat	<u>a</u>	-			
Egg Take Goal 1,00	0,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	1,000,000	3,509.0	285	JUVENILE	QUINAULT LK (GRAY)		

Memo: Broodstock captured on upper river spawning grounds and Lk Quinault. No Hatchery rack.

## **QUINAULT LK HATCHERY**

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Species:SteelheadItem in the stateRun:WinterEgg Take600,000Stock:QUINAULT R 21.0398Shipping600,000	Brood Year:	2025		Total #	Total Pounds
Kun: Winter	Species:	Steelhead			
Stock: QUINAULT R 21.0398 Shipping 600,000 0	Run:	Winter		600,000	
	Stock:	QUINAULT R 21.0398	Shipping	600,000	0
Brood Origin:         MIXED         Received         250,000         8,333	Brood Origin:	MIXED	Received	250,000	8,333
Integrated/Segregated: INTEGRATED Planted 250,000 50,000	Integrated/Segregated:	INTEGRATED	Planted	250,000	50,000

## **Estimated Brood Data**

Egg Take Goal 600,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2025	01/2025	QUINAULT NFH -COOK C	600,000		0	EGGS GREEN
Received	09/2025	09/2025	QUINAULT NFH -COOK C	250,000	30.0	8,333	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	220,000	5.0	44,000	JUVENILE	QUINAULT LK (GRAY)		
04/2026	04/2026	30,000	5.0	6,000	JUVENILE	QUINAULT LK (GRAY)	AD	$\checkmark$

Memo: Broodstock captured in Lake Quinault, no hatchery rack.

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: 202	3		Total #	Total Pounds
Species: Coh	0	с т.		
Run: NA		Egg Take		
Stock: COC	DK CR 21.0429	Shipping		
Brood Origin: HAT	CHERY	Received		
Integrated/Segregated: SEG	REGATED	Planted	660,000	44,000
Estimated Brood Data			1	
Egg Take Goal				

# Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	580,000	15.0	38,667	JUVENILE	COOK CR 21.0429	AD	
05/2025	05/2025	80,000	15.0	5,333	JUVENILE	COOK CR 21.0429	AD	$\checkmark$

Memo:

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Churr			Total #	Total Pounds				
Species: Run:	Chum NA	E	gg Take	2,500,000					
Stock:	COOK CR 21.0429	Sł	hipping						
Brood Origin:	HATCHERY	Re	eceived						
Integrated/Segregated:	SEGREGATED	PI	lanted	2,000,000	3,636				
Estimated Brood Dat	<u>a</u>								
Egg Take Goal 2,50	00,000								
Estimated Transfer Data									
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage				

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	2,000,000	550.0	3,636	JUVENILE	COOK CR 21.0429		

Memo: Size range of 700-400 fpp at release separate by one week from all yearling releases.

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take	1,100,000	
Stock:	COOK CR 21.0429	Shipping	400,000	333
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	660,000	44,000

## **Estimated Brood Data**

**Egg Take Goal** 1,100,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2024	12/2024	MAKAH NFH ON TSOO-YESS R	400,000	1,200.0	333	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	580,000	15.0	38,667	JUVENILE	COOK CR 21.0429	AD	
05/2026	05/2026	80,000	15.0	5,333	JUVENILE	COOK CR 21.0429	AD	$\checkmark$

Memo:

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			Total Total
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping	450,000	16,333
Brood Origin:	MIXED	Received	600,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage		
Received	01/2024	01/2024	QUINAULT LK HATCHERY	600,000		0	EGGS GREEN		
Shipped	09/2024	09/2024	QUINAULT LK HATCHERY	250,000	30.0	8,333	JUVENILE		
Shipped	09/2024	09/2024	SALMON R FISH CULTUR	200,000	25.0	8,000	JUVENILE		
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP Total Pounds Life Stage	Release Site		Mark	Type Tagged		

Memo:

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Stoollaged			Total #	Total Pounds
Species: Run:	Steelhead Winter		Egg Take	200,000	
Stock:	COOK CR 21.0429		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	190,000	31,667
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 200	000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	190,000	6.0	31,667	JUVENILE	COOK CR 21.0429		

Memo:

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	с т.)		Total Total a
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping	450,000	16,333
Brood Origin:	MIXED	Received	600,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage		
Received	01/2025	01/2025	QUINAULT LK HATCHERY	600,000		0	EGGS GREEN		
Shipped	09/2025	09/2025	QUINAULT LK HATCHERY	250,000	30.0	8,333	JUVENILE		
Shipped	09/2025	09/2025	SALMON R FISH CULTUR	200,000	25.0	8,000	JUVENILE		
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP Total Pounds Life Stage	Release Site		Mark	Type Tagged		

Memo:

## **QUINAULT NFH -COOK C**

U.S. FISH AND WILDLIFE SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025			Total #	Total Pounds
Species: Run:	Steelhead Winter		Egg Take		
Stock:	COOK CR 21.0429		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	190,000	31,667
Estimated Brood Data	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received Sta	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	190,000	6.0	31,667	JUVENILE	COOK CR 21.0429		

Memo:

## **RAINBOW RESORT NP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	15,625	1,563
Integrated/Segregate	ed:	Planted	15,625	6,250

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	PUYALLUP HATCHERY	15,625	10.0	1,563	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	15,625	2.5	6,250	JUVENILE	TANWAX LK (PIER)		

## **RAINBOW RESORT NP**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	15,625	1,563
Integrated/Segregat	ed:	Planted	15,625	6,250

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	PUYALLUP HATCHERY	15,625	10.0	1,563	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	15,625	2.5	6,250	JUVENILE	TANWAX LK (PIER)		

## **RFEG 10 WILLAPA BAY**

WILLAPA BAY REGIONAL ENHANCEMENT GROUP

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Can Taka		
Run:	NA	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping		
Brood Origin:	MIXED	Received	225,000	0
Integrated/Segregated:	INTEGRATED	Planted	225,000	282

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	01/2025	FORKS CREEK HATCHERY	225,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	125,000	800.0	156	JUVENILE	ELK CR 24.0300		
03/2025	04/2025	50,000	800.0	63	JUVENILE	OXBOW CR 24.0344		
03/2025	04/2025	50,000	800.0	63	JUVENILE	STRINGER CR 24.0339		

Memo: Program implementation is dependent on legal authority and funding. Eggs from Forks Creek, Nemah and Naselle Hatcheries.

## **RFEG 10 WILLAPA BAY**

WILLAPA BAY REGIONAL ENHANCEMENT GROUP

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fag Taka		
Run:	NA	Egg Take		
Stock:	NASELLE R 24.0543	Shipping		
Brood Origin:	MIXED	Received	100,000	0
Integrated/Segregated:	INTEGRATED	Planted	100,000	126

## Estimated Brood Data

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	01/2025	NASELLE HATCHERY	100,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	50,000	800.0	63	EGGS EYED	BEAN CR 24.0610		
03/2025	04/2025	50,000	800.0	63	JUVENILE	CEMENT CR 24.0598		

## **RFEG 10 WILLAPA BAY**

WILLAPA BAY REGIONAL ENHANCEMENT GROUP

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Coo Tala		
Run:	Late	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping		
Brood Origin:	MIXED	Received	200,000	0
Integrated/Segregated:	INTEGRATED	Planted	200,000	180

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	FORKS CREEK HATCHERY	200,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	50,000	1,100.0	45	JUVENILE	OXBOW CR 24.0344		
04/2025	05/2025	50,000	1,100.0	45	JUVENILE	RUE CR 24.0283		
04/2025	05/2025	50,000	1,100.0	45	JUVENILE	RUE CR -WF 24.0284		
04/2025	05/2025	50,000	1,100.0	45	JUVENILE	STRINGER CR 24.0339		

## **RFEG 10 WILLAPA BAY**

WILLAPA BAY REGIONAL ENHANCEMENT GROUP

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	Late	Egg Take		
Stock:	NASELLE R 24.0543	Shipping		
Brood Origin:	MIXED	Received	150,000	0
Integrated/Segregated:	INTEGRATED	Planted	150,000	99

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	02/2025	NASELLE HATCHERY	150,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	03/2025	50,000	1,500.0	33	JUVENILE	BEAN CR 24.0610		
02/2025	03/2025	50,000	1,500.0	33	JUVENILE	CEMENT CR 24.0598		
02/2025	03/2025	50,000	1,500.0	33	JUVENILE	DAVIS CR 24.0590		

## **RFEG 10 WILLAPA BAY**

WILLAPA BAY REGIONAL ENHANCEMENT GROUP

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	WILLAPA R 24.0251	Shipping		
Brood Origin:	MIXED	Received	150,000	0
Integrated/Segregated:	INTEGRATED	Planted	135,000	90

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	FORKS CREEK HATCHERY	150,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	85,000	1,500.0	57	JUVENILE	NORTH R 24.0034		
04/2025	04/2025	50,000	1,500.0	33	JUVENILE	STRINGER CR 24.0339		

## **RFEG 10 WILLAPA BAY**

WILLAPA BAY REGIONAL ENHANCEMENT GROUP

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	NASELLE R 24.0543	Shipping		
Brood Origin:	MIXED	Received	50,000	0
Integrated/Segregated:	INTEGRATED	Planted	50,000	33

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	NASELLE HATCHERY	50,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	03/2025	50,000	1,500.0	33	JUVENILE	BEAN CR 24.0610		

## RFEG 5 SOUTH PUGET S

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chum	с т.		
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	375	0
Integrated/Segregated:	SEGREGATED	Planted	375	1

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2023	12/2023	MCKERNAN HATCHERY	375		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	375	500.0	1	JUVENILE	PURDY CR 16.0005		

## RFEG 5 SOUTH PUGET S

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Chum	Fee Tele		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	1,800	0
Integrated/Segregated:	INTEGRATED	Planted	1,800	4

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2024	01/2024	MINTER CR HATCHERY	1,800		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	1,800	500.0	4	JUVENILE	WOODLAND CR 13.0006		

## RFEG 5 SOUTH PUGET S

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	375	0
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data	<u>)</u>			

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	ge
Received	12/2024	12/2024	MCKER	NAN HATCHERY		375		0	EGGS E	EYED
Estimated Release	Data									
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

# RFEG 5 SOUTH PUGET S

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum		10001	Total Totalas
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	1,800	0
Integrated/Segregated:	INTEGRATED	Planted	1,000	2

# Estimated Brood Data

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	1,800		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	1,000	500.0	2	JUVENILE	WOODLAND CR 13.0006		

# **RFEG 6 - HCSEG RSIS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	155,000	0
Integrated/Segregated:	SEGREGATED	Planted	155,000	388

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	MCKERNAN HATCHERY	155,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	45,000	400.0	113	JUVENILE	AL ADAMS CR 14.0133		
04/2025	04/2025	90,000	400.0	225	JUVENILE	SWEETWATER CR15.0504		
04/2025	04/2025	20,000	400.0	50	JUVENILE	UNNAMED CR 14.0130		

## **RFEG 6 - SALMON IN THE CLASSROOM**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Coo Tales		
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	1,750	0
Integrated/Segregated:	SEGREGATED	Planted	1,750	4

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	MCKERNAN HATCHERY	1,750		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	500	500.0	1	JUVENILE	PURDY CR 16.0005		
05/2025	05/2025	1,250	500.0	3	JUVENILE	SWEETWATER CR15.0504		

## **RFEG 6 - SALMON IN THE CLASSROOM**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	500	0
Integrated/Segregated:	INTEGRATED	Planted	500	1

### **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	500		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	500	500.0	1	JUVENILE	SATSOP R 22.0360		

Memo: Program implementation is dependent on legal authority and funding. Mary M Knight and Satsop ES schools.

## **RFEG 6 - SALMON IN THE CLASSROOM**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping		
Brood Origin:	HATCHERY	Received	350	0
Integrated/Segregated:	SEGREGATED	Planted	350	1

# Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2024	11/2024	QUILCENE NFH	350		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	350	500.0	1	JUVENILE	BIG QUILCENE 17.0012		

## **RFEG 6 - SALMON IN THE CLASSROOM**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

# Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	HURD CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	CHIMACUM CR 17.0203		

# **RFEG 7 NORTH OLYMPIC**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	- <b>-</b> 1		
Run:	NA	Egg Take		
Stock:	DUNGENESS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	750	0
Integrated/Segregated:	SEGREGATED	Planted	750	2

# Estimated Brood Data

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	HURD CR HATCHERY	750		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	500	500.0	1	JUVENILE	CHIMACUM CR 17.0203		
05/2025	05/2025	250	500.0	1	JUVENILE	DUNGENESS R 18.0018		

# **RFEG 8 NORTH COAST**

NORTH COAST REGIONAL ENHANCEMENT GROUP

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024			Total #	Total Pounds
Species:	Coho	Eg	g Take	12,500	
Run:	NA		-	,	
Stock:	BOGACHIEL R 20.0162	Sh	ipping		
Brood Origin:	HATCHERY	Re	ceived		
Integrated/Segregate	d:	Pla	anted	12,500	8
Estimated Brood D	<u>Data</u>				
Egg Take Goal	12,500				
Estimated Transfe	<u>r Data</u>				
Shipped or Received	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	12,500	1,500.0	8	JUVENILE	BOGACHIEL R TRIBS		

Memo: Program implementation is dependent on legal authority and funding. Borde Springs Project. No more than 5 pair, brood-stocked from the Bogachiel. Backfill from Sol Duc if needed.

Tuesday, January 16, 2024

# RICKS PD (LLTK)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	1,600,000	1,455
Integrated/Segregated:	SEGREGATED	Planted	1,500,000	3,333

## Estimated Brood Data

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	03/2025	MCKERNAN HATCHERY	1,600,000	1,100.0	1,455	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	06/2025	1,500,000	450.0	3,333	JUVENILE	SKOKOMISH R 16.0001	OT	

# **RUSHINGWATER AC POND**

PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	c		
Run:	Fall	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	200,000	1,000
Integrated/Segregated:	INTEGRATED	Planted	200,000	2,500

## Estimated Brood Data

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	CLARKS CRK HATCHERY	200,000	200.0	1,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	150,000	80.0	1,875	JUVENILE	PUYALLUP R 10.0021	AD	
05/2025	05/2025	50,000	80.0	625	JUVENILE	PUYALLUP R 10.0021	AD	$\checkmark$

Memo:

# SALISH MS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Tales		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	WOODLAND CR 13.0006		

## SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SALMON R 21.0139	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	650,000	43,333
Estimated Brood Data	<u>a</u>		-	
Egg Take Goal				

Shipped or Received Start Date End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage	
---	----------	--------	-----	---------------------	------------	--

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	500,000	15.0	33,333	JUVENILE	SALMON R 21.0139	AD	
04/2025	04/2025	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139		$\checkmark$
04/2025	04/2025	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$

Memo:

## SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Chinash			Total #	Total Pounds
Species: Run:	Chinook Fall		Egg Take	250,000	
Stock:	QUEETS R 21.0016		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	200,000	5,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal 250	,000				
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
08/2025	08/2025	200,000	40.0	5,000	JUVENILE	SALMON R 21.0139	AD	

Memo: US/Canada wild indicator stock.

## SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Coho			Egg Take	800,000	
Run:	NA				800,000	
Stock:	SALMON R 21.0139			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregated:	SEGREGATED			Planted	650,000	43,333
Estimated Brood Data	<u>a</u>					
Egg Take Goal 800	.000					
Estimated Transfer D	<u>ata</u>					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139		
04/2026	04/2026	500,000	15.0	33,333	JUVENILE	SALMON R 21.0139	AD	
04/2026	04/2026	75,000	15.0	5,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$

Memo:

## SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	Coo Toluo		
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping		
Brood Origin:	MIXED	Received	200,000	8,000
Integrated/Segregated:	INTEGRATED	Planted	200,000	40,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2023	09/2023	QUINAULT NFH -COOK C	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	170,000	5.0	34,000	JUVENILE	SALMON R 21.0139		
04/2025	04/2025	30,000	5.0	6,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$

Memo: Stock originated from Quinault Stock.

Tuesday, January 16, 2024

# SALMON R FISH CULTUR

QUINAULT DEPARTMENT OF NATURAL RESOURCES

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	c		
Run:	Winter	Egg Take		
Stock:	QUINAULT R 21.0398	Shipping		
Brood Origin:	MIXED	Received	200,000	8,000
Integrated/Segregated:	INTEGRATED	Planted	200,000	40,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	09/2024	09/2024	QUINAULT NFH -COOK C	200,000	25.0	8,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	170,000	5.0	34,000	JUVENILE	SALMON R 21.0139		
04/2026	04/2026	30,000	5.0	6,000	JUVENILE	SALMON R 21.0139	AD	$\checkmark$

Memo: Stock originated from Quinault Stock.

Tuesday, January 16, 2024

# SALTARS PT ES(STEILA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

2023		Total #	Total Pounds
Chum	с т.		
NA	EggTake		
MINTER CR 15.0048	Shipping		
MIXED	Received	250	0
INTEGRATED	Planted	250	1
	Chum NA MINTER CR 15.0048 MIXED	Chum     Egg Take       NA     Egg Take       MINTER CR 15.0048     Shipping       MIXED     Received	Chum     Egg Take       NA     Egg Take       MINTER CR 15.0048     Shipping       MIXED     Received     250

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2024	01/2024	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2024	04/2024	250	500.0	1	JUVENILE	CHAMBERS CR 12.0007		

# SALTARS PT ES(STEILA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	с т.		Totalloando
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	250	1

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	250	500.0	1	JUVENILE	CHAMBERS CR 12.0007		

## SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2022 Deinterer		Total #	Total Pounds
Species: Run:	Rainbow NA	Egg Ta	ike	
Stock:	SPRING CR-GOLDENDALE	Shipp	ng	
Brood Origin:	HATCHERY	Recei	ved	
Integrated/Segregat	ted:	Plante	ed 6,050	24,200
Estimated Brood	l Data		'	
Egg Take Goal				
Estimated Trans	fer Data			
Shipped or Received	d Start Date End Date Facility	Number	PP Total Pound	s Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	4,000	0.3	16,000	JUVENILE	GRAYS HARBOR CO LAKES		
04/2025	04/2025	2,000	0.3	8,000	JUVENILE	MASON CO LAKES		
04/2025	04/2025	50	0.3	200	JUVENILE	NOEL COLE PD 23.0882		

## SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Shipped or Received Sta	rt Date End Date Facilit	Number	FPP	Total Pounds	Life Stage
Estimated Transfer D	<u>ita</u>				
Egg Take Goal					
Estimated Brood Data	L				
Integrated/Segregated:	INTEGRATED		Planted	450,000	26,471
Brood Origin:	MIXED		Received		
Stock:	SATSOP R 22.0360		Shipping		
Run:	NA		Egg Take		
Species:	Coho			Total #	Total Pounds
Brood Year:	2023			Total #	Total David

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	05/2025	450,000	17.0	26,471	JUVENILE	SATSOP R 22.0360	AD	

Memo: Program implementation is dependent on legal authority and funding. Excess coho can be planted in the either Duck Lake or Vance Crk Ponds once viral samples are negative and Co-manager approval is met.

Tuesday, January 16, 2024

# SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	7,000	2,800
Integrated/Segregate	ed:	Planted	6,050	24,200

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	06/2025	06/2025	EELLS SPRINGS	7,000	2.5	2,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	4,000	0.3	16,000	JUVENILE	GRAYS HARBOR CO LAKES		
04/2026	04/2026	2,000	0.3	8,000	JUVENILE	MASON CO LAKES		
04/2026	04/2026	50	0.3	200	JUVENILE	NOEL COLE PD 23.0882		

# SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Chum	Fag Take		
NA			
SATSOP R 22.0360	Shipping	450,000	0
MIXED	Received	210,000	140
INTEGRATED	Planted	200,000	444
	Chum NA SATSOP R 22.0360 MIXED	Chum NA SATSOP R 22.0360 MIXED NTECRATER	ChumTotal #NAEgg Take450,000SATSOP R 22.0360Shipping450,000MIXEDReceived210,000

## **Estimated Brood Data**

Egg Take Goal 450,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2024	11/2024	BINGHAM CR HATCHERY	450,000		0	EGGS GREEN
Received	12/2024	01/2025	BINGHAM CR HATCHERY	210,000	1,500.0	140	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	200,000	450.0	444	JUVENILE	SATSOP R 22.0360		

# SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Egg Take	600,000	
Run:	Fall			
Stock:	SATSOP R 22.0360	Shipping	600,000	0
Brood Origin:	MIXED	Received	310,000	3,100
Integrated/Segregated:	INTEGRATED	Planted	300,000	3,750

## **Estimated Brood Data**

Egg Take Goal 600,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2024	11/2024	BINGHAM CR HATCHERY	600,000		0	EGGS GREEN
Received	04/2025	04/2025	BINGHAM CR HATCHERY	310,000	100.0	3,100	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	300,000	80.0	3,750	JUVENILE	SATSOP R -EF 22.0360	AD	

# SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	500,000	5,000
Integrated/Segregated:	INTEGRATED	Planted	450,000	26,471

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2025	06/2025	BINGHAM CR HATCHERY	500,000	100.0	5,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	450,000	17.0	26,471	JUVENILE	SATSOP R 22.0360	AD	

Memo: Program implementation is dependent on legal authority and funding. Excess coho can be planted in the either Duck Lake or Vance Crk Ponds once viral samples are negative and Co-manager approval is met.

Tuesday, January 16, 2024

# SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	7,000	2,800
Integrated/Segregate	ed:	Planted	6,050	24,200

### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	EELLS SPRINGS	7,000	2.5	2,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	4,000	0.3	16,000	JUVENILE	GRAYS HARBOR CO LAKES		
04/2027	04/2027	2,000	0.3	8,000	JUVENILE	MASON CO LAKES		
04/2027	04/2027	50	0.3	200	JUVENILE	NOEL COLE PD 23.0882		

# SEQUIM MS (SEQUIM)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	DUNGENESS R 18.0018	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	225	0

# **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2024	01/2024	HURD CR HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2024	05/2024	225	500.0	0	JUVENILE	HURD CR 18.0028		

# SEQUIM MS (SEQUIM)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Coho	с т.		
NA	Egg Таке		
DUNGENESS R 18.0018	Shipping		
HATCHERY	Received	250	0
SEGREGATED	Planted	225	0
	Coho NA DUNGENESS R 18.0018 HATCHERY	CohoEgg TakeNAEgg TakeDUNGENESS R 18.0018ShippingHATCHERYReceived	CohoTotal #NAEgg TakeDUNGENESS R 18.0018ShippingHATCHERYReceived250

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	HURD CR HATCHERY	250		0	EGGS EYED

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	HURD CR 18.0028		

# SIDNEY GLEN ES (PORT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	1,000	0
Integrated/Segregated:	INTEGRATED	Planted	900	2

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	1,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	900	500.0	2	JUVENILE	UNNAMED CR 15.0204		

# SILVER LK RESORT NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	18,750	1,875
Integrated/Segregate	ed:	Planted	18,750	7,500

#### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2024	10/2024	PUYALLUP HATCHERY	18,750	10.0	1,875	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	18,750	2.5	7,500	JUVENILE	SILVER LK (PIER)		

Memo: Program implementation is dependent on legal authority and funding. Funded by resort.

# SILVER LK RESORT NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	18,750	1,875
Integrated/Segregate	ed:	Planted	18,750	7,500

#### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2025	10/2025	PUYALLUP HATCHERY	18,750	10.0	1,875	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	18,750	2.5	7,500	JUVENILE	SILVER LK (PIER)		

Memo: Program implementation is dependent on legal authority and funding. Funded by resort.

# SKOOKUMCHUCK DAM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	c		
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	90,000	2,250
Integrated/Segregated:	INTEGRATED	Planted	75,000	12,500

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received Start Date End Date		End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2024	09/2024	SKOOKUMCHUCK HATCHERY	90,000	40.0	2,250	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	75,000	6.0	12,500	JUVENILE	SKOOKUMCHUCK 23.0761	AD	

# SKOOKUMCHUCK DAM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping		
Brood Origin:	MIXED	Received	90,000	2,250
Integrated/Segregated:	INTEGRATED	Planted	75,000	12,500

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received Start Date End Date		End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2025	09/2025	SKOOKUMCHUCK HATCHERY	90,000	40.0	2,250	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	75,000	6.0	12,500	JUVENILE	SKOOKUMCHUCK 23.0761	AD	

# SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping	188,000	8,085
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or F	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life Sta	age
Shipped	(	03/2024	03/2024	CHEH	IALIS TRIBE		30,000	17.0	1,765	JUVEI	NILE
Shipped	(	01/2025	01/2025	CARL	ISLE LK PROJECT	27,500	25.0	1,100	JUVEI	NILE	
Shipped	(	01/2025	01/2025	EIGH	T CK/UPR CHEHA	105,000	25.0	4,200	JUVEI	NILE	
Shipped		02/2025	02/2025	NOEL	COLE POND (23)		25,500	25.0	1,020	JUVEI	NILE
<b>Estimated</b>	Release [	Data									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
04/2025	05/2025	5(	),000	17.0	2,941	JUVENILE	SKOOKUMCHUCK	23.0761	AD		

Memo: Program implementation is dependent on legal authority and funding. May backfill with Bingham Creek late Coho (Satsop R 22.0360) to achieve eggtake goals.

# SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	E Talia		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping	1,520,000	60,800
Brood Origin:	HATCHERY	Received	2,000,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2024	01/2024	WALLAC	E R HATCHERY	7	2,000,000		0	EGGS EYED
Shipped	01/2025	02/2025	SOUTH S	OUND NET PEN	IS	1,320,000	25.0	52,800	JUVENILE
Shipped	01/2025	02/2025	SQUAXIN ISLAND PENS			200,000	25.0	8,000	JUVENILE
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

Memo: Program implementation is dependent on legal authority and funding. 50K of the fish shipped to Squaxin Island Pens will be AD+CWT.

# SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping	53,375	2,100
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

### **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2024	01/2024	GRAYS HARBOR STREAM TEAM (GRAYS)	875		0	EGGS EYED
Shipped	01/2025	01/2025	CARLISLE LK PROJECT	52,500	25.0	2,100	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	50,000	17.0	2,941	JUVENILE	SKOOKUMCHUCK 23.0761	AD	

Memo: Program implementation is dependent on legal authority and funding. May backfill with Bingham fish.

# SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I	226 500	
Run:	Late	Egg Take	326,500	
Stock:	SKOOKUMCHUCK 23.0761	Shipping	213,725	8,085
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

### **Estimated Brood Data**

Egg Take Goal 326,500

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2025	03/2025	CHEHALIS TRIBE	30,000	17.0	1,765	JUVENILE
Shipped	03/2025	03/2025	EAST OLYMPIA ES	250		0	EGGS EYED
Shipped	03/2025	03/2025	LEWIS CO. CONS. DIST.	25,000		0	EGGS EYED
Shipped	03/2025	03/2025	NAPAVINE JHS HS	375		0	EGGS EYED
Shipped	03/2025	03/2025	OAKVILLE HS(OAKVILLE	100		0	EGGS EYED
Shipped	01/2026	01/2026	CARLISLE LK PROJECT	27,500	25.0	1,100	JUVENILE
Shipped	01/2026	01/2026	EIGHT CK/UPR CHEHALI	105,000	25.0	4,200	JUVENILE
Shipped	02/2026	02/2026	NOEL COLE POND (23)	25,500	25.0	1,020	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. May backfill with Bingham Creek late Coho (Satsop R 22.0360) to achieve eggtake goals.

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	Late	Egg Take	326,500	
Stock:	SKOOKUMCHUCK 23.0761	Shipping	213,725	8,085
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	50,000	17.0	2,941	JUVENILE	SKOOKUMCHUCK 23.0761	AD	

Memo: Program implementation is dependent on legal authority and funding. May backfill with Bingham Creek late Coho (Satsop R 22.0360) to achieve eggtake goals.

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Tako		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping	1,520,000	60,800
Brood Origin:	HATCHERY	Received	2,000,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	,		Number	FPP	Total Pounds	Life Stage	2
Received	01/2025	01/2025	WALL	ACE R HATCHERY	Y	2,000,000		0	EGGS G	REEN
Shipped	01/2026	02/2026	SOUT	H SOUND NET PEN	NS	1,320,000	25.0	52,800	JUVENII	LE
Shipped	01/2026	02/2026	SQUA	XIN ISLAND PENS		200,000	25.0	8,000	JUVENII	LE
Estimated Release Data										
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

Memo: Program implementation is dependent on legal authority and funding. 50K of the fish shipped to Squaxin Island Pens will be AD+CWT.

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Taka	450.000	
Run:	NA	Egg Take	450,000	
Stock:	SKOOKUMCHUCK 23.0761	Shipping	253,375	2,100
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	50,000	2,941

## **Estimated Brood Data**

Egg Take Goal 450,000

### **Estimated Transfer Data**

Shipped or I	Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Sta	ige
Shipped		01/2025	01/2025	DEEP C	R 23.0957		100,000		0	EGGS	EYED
Shipped		01/2025	01/2025	GRAYS	HARBOR STREA	AM TEAM (GRAYS	) 875		0	EGGS	EYED
Shipped		01/2025	01/2025	HEIMB	IGNER PROJECT		50,000		0	EGGS	EYED
Shipped		01/2025	01/2025	PEDERS	SEN PROJECT		50,000		0	EGGS	EYED
Shipped		01/2026	01/2026	CARLIS	LE LK PROJECT		52,500	25.0	2,100	JUVEN	JILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
04/2026	05/2026	50	),000	17.0	2,941	JUVENILE	SKOOKUMCHUCK 2	23.0761	AD		

Memo: Program implementation is dependent on legal authority and funding. May backfill with Bingham fish.

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead	I		Total Total of
Run:	Winter-Late	Egg Take		
Stock:	SKOOKUMCHUCK 23.0761	Shipping	123,000	5,917
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Shipped	09/2024	09/2024	SKOOK	UMCHUCK DAM		90,000	40.0	2,250	JUVENIL	Æ
Shipped	02/2025	02/2025	EIGHT (	CK/UPR CHEHAL	I	33,000	9.0	3,667	JUVENIL	Æ
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

## SKOOKUMCHUCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Faa Taka		
Run:	Winter-Late	Egg Take	250,000	
Stock:	SKOOKUMCHUCK 23.0761	Shipping	158,000	5,917
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal 250,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility		Number	FPP	<b>Total Pounds</b>	Life Stage	
Shipped	02/2025	02/2025	CARLISLE LK PROJECT		35,000		0	EGGS EYED	
Shipped	09/2025	09/2025	SKOOKUMCHUCK DAM		90,000	40.0	2,250	JUVENILE	
Shipped	02/2026	02/2026	EIGHT CK/UPR CHEHALI		33,000	9.0	3,667	JUVENILE	
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark	Гуре Tagged	

## SNOHOMISH SS RECOVERY ALLIANCE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	UNKNOWN	Received	5,000	0
Integrated/Segregated:	INTEGRATED	Planted	5,000	4

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	WALLACE R HATCHERY	5,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
02/2025	02/2025	5,000	1,250.0	4	JUVENILE	SKYKOMISH R 07.0012	OT	

## SNOHOMISH SS RECOVERY ALLIANCE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	MIXED	Received	3,000	0
Integrated/Segregated:	INTEGRATED	Planted	3,000	6

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	WALLACE R HATCHERY	3,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	2,000	500.0	4	JUVENILE	EAGLE CR 07.1416		
05/2025	05/2025	1,000	500.0	2	JUVENILE	ELWELL CR 07.0865		

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:2022Species:RainbowRun:NAStock:SPRING CR-GOLDENDALEBrood Origin:HATCHERYIntegrated/Segregated:							Egg Take Shipping Received Planted	<b>Total #</b> 300	Total Pounds       1,500
Egg Take Goal									
Estimated Transfe	er Data								
Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	04/2025	04/2025	BOGAG	CHIEL HATCHER	ł	300	0.2	1,500	JUVENILE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре Taggeo

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby - Westend Sportsman Club Project. Most be held on Pathogen Free Water.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Estimated Transfer D Shipped or Received Sta		Facility	Number	FPP	Total Pounds	Life Stage
Estimated Brood Data Egg Take Goal	2					
Integrated/Segregated:	INTEGRATED			Planted	920,000	47,039
Brood Origin:	MIXED			Received		
Stock:	SOL DUC R 20.0096			Shipping		
Run:	Summer			Egg Take		
Species:	Chinook				Total #	Total Pounds
Brood Year:	2023					<b>T</b> . 10 1

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2024	07/2024	70,000	65.0	1,077	JUVENILE	SOL DUC R 20.0096	AD	
06/2024	07/2024	550,000	65.0	8,462	JUVENILE	SOL DUC R 20.0096	AD	
03/2025	04/2025	80,000	8.0	10,000	JUVENILE	SOL DUC R 20.0096	AD	$\checkmark$
03/2025	04/2025	220,000	8.0	27,500	JUVENILE	SOL DUC R 20.0096	AD	

Memo: Program implementation is dependent on legal authority and funding. Quileute Tribe funds the 70k and 80k program.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Coho				Total #	Total Pounds
Species: Run:	Coho NA			Egg Take		
Stock:	SOL DUC R 20.0096			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	500,600	29,448
Estimated Brood Data	<u>a</u>			L	1	
Egg Take Goal						
Estimated Transfer D	<u>ata</u>					
Shipped or Received Sta	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	300	17.0	18	JUVENILE	BOGACHIEL R 20.0162	AD	
04/2025	04/2025	300	17.0	18	JUVENILE	DICKEY R -WF 20.0097	AD	
04/2025	04/2025	75,000	17.0	4,412	JUVENILE	SOL DUC R 20.0096	AD	$\checkmark$
04/2025	04/2025	75,000	17.0	4,412	JUVENILE	SOL DUC R 20.0096		$\checkmark$
04/2025	04/2025	350,000	17.0	20,588	JUVENILE	SOL DUC R 20.0096	AD	

Memo: Program implementation is dependent on legal authority and funding. Tribe sponsors 200k. The 600 fish released into the Bogachiel and Dickey Rivers is for a smolt trap calibration study.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023			Total #	Total Pounds
Species: Run:	Coho Summer	ΕĘ	gg Take		
Stock:	SOL DUC R 20.0096	Sł	nipping		
Brood Origin:	HATCHERY	Re	eceived		
Integrated/Segregated:	SEGREGATED	PI	lanted	100,000	6,667
Estimated Brood Data	<u>l</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	100,000	15.0	6,667	JUVENILE	SOL DUC R 20.0096	AD	

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	C T-l -		
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	3,700	4,900
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	4,900	5,000

#### **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2025	04/2025	BOGACHIEL HATCHERY	3,400	1.0	3,400	JUVENILE
Shipped	04/2026	04/2026	BOGACHIEL HATCHERY	300	0.2	1,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	04/2025	3,000	2.0	1,500	JUVENILE	WENTWORTH LK (CLAL)		
04/2025	04/2025	1,500	1.0	1,500	JUVENILE	LINCOLN PRK PD (CLAL)		
03/2026	03/2026	350	0.2	1,750	JUVENILE	WENTWORTH LK (CLAL)		
04/2026	04/2026	50	0.2	250	JUVENILE	LINCOLN PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby - Westend Sportsman Club Project. Most be held on Pathogen Free Water.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Faa Taka		
Run:	Fall	Egg Take		
Stock:	ELWHA R 18.0272	Shipping	2,300,000	5,750
Brood Origin:	MIXED	Received	2,450,000	0
Integrated/Segregated:	INTEGRATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Received	11/2024	11/2024	HURD C	R HATCHERY		2,450,000		0	EGGS EYI	ED
Shipped	02/2025	03/2025	ELWHA	HATCHERY		2,300,000	400.0	5,750	JUVENILE	Ξ
Estimated Release		elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Гagged

Memo: Program implementation is dependent on legal authority and funding. Must be maintained on regulated pathogen-free water in isolation.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Take		
Run:	Summer	Egg Take	1,500,000	
Stock:	SOL DUC R 20.0096	Shipping	320,000	1,500
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	1,140,000	50,423

#### **Estimated Brood Data**

**Egg Take Goal** 1,500,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2024	11/2024	LONESOME CR HATCHERY	170,000		0	EGGS EYED
Shipped	05/2025	06/2025	BEAR SPRINGS 1 (20)	150,000	100.0	1,500	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	07/2025	70,000	65.0	1,077	JUVENILE	SOL DUC R 20.0096	AD	
06/2025	07/2025	770,000	65.0	11,846	JUVENILE	SOL DUC R 20.0096	AD	
03/2026	04/2026	220,000	8.0	27,500	JUVENILE	SOL DUC R 20.0096	AD	
03/2026	04/2026	80,000	8.0	10,000	JUVENILE	SOL DUC R 20.0096	AD	$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Quileute Tribe funds the 70k and 80k program.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Caba				Total #	Total Pounds
Species: Run:	Coho NA			Egg Take	540,000	
Stock:	SOL DUC R 20.0096			Shipping		
Brood Origin:	MIXED			Received		
Integrated/Segregated:	INTEGRATED			Planted	500,600	29,448
Estimated Brood Data	<u>a</u>					
Egg Take Goal 540	000					
Estimated Transfer D	ata					
Shipped or Received St	art Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	300	17.0	18	JUVENILE	BOGACHIEL R 20.0162	AD	
04/2026	04/2026	300	17.0	18	JUVENILE	DICKEY R -WF 20.0097	AD	
04/2026	04/2026	75,000	17.0	4,412	JUVENILE	SOL DUC R 20.0096	AD	$\checkmark$
04/2026	04/2026	75,000	17.0	4,412	JUVENILE	SOL DUC R 20.0096		$\checkmark$
04/2026	04/2026	350,000	17.0	20,588	JUVENILE	SOL DUC R 20.0096	AD	

Memo: Program implementation is dependent on legal authority and funding. Tribe sponsors 200k. The 600 fish released into the Bogachiel and Dickey Rivers is for a smolt trap calibration study.

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024 Caba		Total #	Total Pounds
Species: Run:	Coho Summer	Egg	Take 118,000	
Stock:	SOL DUC R 20.0096	Ship	ping	
Brood Origin:	HATCHERY	Rece	eived	
Integrated/Segregated:	SEGREGATED	Plant	ted 100,000	6,667
Estimated Brood Dat	<u>a</u>			
Egg Take Goal 118	000			
Estimated Transfer D	ata			
Shipped or Received St	art Date End Date Facility	Number	FPP Total Pound	s Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	100,000	15.0	6,667	JUVENILE	SOL DUC R 20.0096	AD	$\checkmark$

## SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	3,700	4,900
Brood Origin:	HATCHERY	Received	9,000	450
Integrated/Segregated:		Planted	4,900	5,000

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or l	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Sta	age
Received		11/2025	11/2025	EELL	S SPRINGS		9,000	20.0	450	JUVE	NILE
Shipped		04/2026	04/2026	BOGA	ACHIEL HATCHER	Y	3,400	1.0	3,400	JUVEI	NILE
Shipped		04/2027	04/2027	BOGA	ACHIEL HATCHER	Y	300	0.2	1,500	JUVE	NILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Гуре	Tagged
03/2026	04/2026	3	3,000	2.0	1,500	JUVENILE	WENTWORTH LK (	CLAL)			
04/2026	04/2026	1	,500	1.0	1,500	JUVENILE	LINCOLN PRK PD (	CLAL)			
03/2027	03/2027		350	0.2	1,750	JUVENILE	WENTWORTH LK (	(CLAL)			
04/2027	04/2027		50	0.2	250	JUVENILE	LINCOLN PRK PD (	CLAL)			

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby - Westend Sportsman Club Project. Most be held on Pathogen Free Water.

## SOUTH KITSAP HS (POR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MINTER CR 15.0048		

## SOUTH ROSEDALE PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	E Talva		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	100,000	0
Integrated/Segregated:	INTEGRATED	Planted	100,000	80

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	100,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	100,000	1,250.0	80	JUVENILE	DICKSON CR (15	5)	

## SOUTH SOUND NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	1,320,000	52,800
Integrated/Segregated:	SEGREGATED	Planted	1,300,000	108,334

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	SKOOKUMCHUCK HATCHERY	1,320,000	25.0	52,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	1,250,000	12.0	104,167	JUVENILE	PEALE PASS @ SS PENS	AD	
05/2025	06/2025	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SS PENS	AD	$\checkmark$

## SOUTH SOUND NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Faa Taka		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	1,320,000	52,800
Integrated/Segregated:	SEGREGATED	Planted	1,300,000	108,334

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	02/2026	SKOOKUMCHUCK HATCHERY	1,320,000	25.0	52,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	1,250,000	12.0	104,167	JUVENILE	PEALE PASS @ SS PENS	AD	
05/2026	06/2026	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SS PENS	AD	$\checkmark$

## SOUTHWOOD ES(ENUMCLA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	HATCHERY	Received	200	0
Integrated/Segregated:	SEGREGATED	Planted	180	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	01/2025	SOOS CREEK HATCHERY	200		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	180	500.0	0	JUVENILE	GREEN R 09.0001		

# SPRING CR COOP

HOOD CANAL REGIONAL ENHANCEMENT GROUP

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Coo Toko		
Run:	NA	Egg Take		
Stock:	HOOD CANAL STOCK	Shipping		
Brood Origin:	HATCHERY	Received	20,400	0
Integrated/Segregated:	SEGREGATED	Planted	20,000	13

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	01/2025	MCKERNAN HATCHERY	20,400		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	20,000	1,500.0	13	JUVENILE	SPRING CR 15.0366		

Memo: Program implementation is dependent on legal authority and funding. First Brood 2007.

## SPRING VALLEY SCHOOL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	HYLEBOS CR 10.0006		

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	HATCHERY	Received	720,000	28,800
Integrated/Segregated:	SEGREGATED	Planted	700,000	58,334

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MARBLEMOUNT HATCHERY	720,000	25.0	28,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SI PENS	AD	$\checkmark$
05/2025	06/2025	650,000	12.0	54,167	JUVENILE	PEALE PASS @ SI PENS	AD	

Memo:

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fac Taka		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	620,000	24,800
Integrated/Segregated:	SEGREGATED	Planted	600,000	50,000

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	SKOOKUMCHUCK HATCHERY	200,000	25.0	8,000	JUVENILE
Received	01/2025	02/2025	WALLACE R HATCHERY	420,000	25.0	16,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	500,000	12.0	41,667	JUVENILE	PEALE PASS @ SI PENS	AD	
05/2025	06/2025	100,000	12.0	8,333	JUVENILE	PEALE PASS @ SI PENS	AD	$\checkmark$

Memo: Of the 100K AD+CWT tagged, 50K are from Wallace Hatchery and 50K are from Skookumchuck .

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	HATCHERY	Received	720,000	28,800
Integrated/Segregated:	SEGREGATED	Planted	700,000	58,334

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	MARBLEMOUNT HATCHERY	720,000	25.0	28,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SI PENS	AD	
05/2026	06/2026	650,000	12.0	54,167	JUVENILE	PEALE PASS @ SI PENS	AD	

Memo:

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	620,000	24,800
Integrated/Segregated:	SEGREGATED	Planted	600,000	50,000

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	02/2026	SKOOKUMCHUCK HATCHERY	200,000	25.0	8,000	JUVENILE
Received	01/2026	02/2026	WALLACE R HATCHERY	420,000	25.0	16,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	06/2026	100,000	12.0	8,333	JUVENILE	PEALE PASS @ SI PENS	AD	$\checkmark$
04/2026	06/2026	500,000	12.0	41,667	JUVENILE	PEALE PASS @ SI PENS	AD	

Memo: Of the 100K AD+CWT tagged, 50K are from Wallace Hatchery and 50K are from Skookumchuck .

# ST MICHAELS SCHL(OLY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MOXLIE CR 13.0027		

## **STONY CR HATCHERY**

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Sockeye	Fag Taka		
Run:	NA	Egg Take		
Stock:	OZETTE LK (20)	Shipping		
Brood Origin:	MIXED	Received	183,000	0
Integrated/Segregated:	INTEGRATED	Planted	183,000	305

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2025	03/2025	MAKAH NFH ON TSOO-YESS R	183,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	91,500	906.0	101	JUVENILE	STONY CR 20.0058A	ОТ	
06/2025	06/2025	45,750	450.0	102	JUVENILE	STONY CR 20.0058A	OT	
06/2025	06/2025	45,750	450.0	102	JUVENILE	STONY CR 20.0058A	AD+OT	

Memo:

Tuesday, January 16, 2024

## SURPRISE LAKE PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Telve		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	10,000	0
Integrated/Segregated:	INTEGRATED	Planted	10,000	7

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	10,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
03/2025	03/2025	10,000	1,500.0	7	JUVENILE	HYLEBOS CR 10.0006		

Memo: Program implementation is dependent on legal authority and funding. Remote Site Incubator Project.

## SWIFT WATER ELEMENTARY (PIER)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	C T-l		
Run:	ΝΑ	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MINTER CR 15.0048		

Memo:

Tuesday, January 16, 2024

## TACOMA COMMUNITY COLLEGE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	PUGET CREEK		

## THE SCIENCE AND MATH INSTITUTE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	100	0
Integrated/Segregated:	INTEGRATED	Planted	90	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	100		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	90	500.0	0	JUVENILE	PUGET CREEK		

## TIMBERLINE HS(OLYMPI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum			
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	500	0
Integrated/Segregated:	INTEGRATED	Planted	500	1

## **Estimated Brood Data**

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	500		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	500	500.0	1	JUVENILE	UNNAMED CR 13.0001		

Memo: Program implementation is dependent on legal authority and funding. Beachcrest Creek

## TUMWATER FALLS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Egg Tako	5,575,000	
Run:	Fall	Egg Take		
Stock:	TUMWATER FALLS HATCHERY	Shipping	5,400,000	0
Brood Origin:	HATCHERY	Received	3,800,000	31,667
Integrated/Segregated:	SEGREGATED	Planted	3,800,000	42,222

## **Estimated Brood Data**

**Egg Take Goal** 5,575,000

### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life Sta	ge
Shipped		09/2024	10/2024	LAKE	AKEWOOD HATCHERY		1,100,000		0	EGGS GREEN	
Shipped		09/2024	10/2024	MINT	MINTER CR HATCHERY		4,300,000		0	EGGS	GREEN
Received		03/2025	05/2025	COUL	COULTER CR REARING POND		3,800,000	120.0	31,667	JUVEN	JILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
03/2025	06/2025	3,600	),000	90.0	40,000	JUVENILE	DESCHUTES R 13.	0028	AD		
03/2025	06/2025	200	),000	90.0	2,222	JUVENILE	DESCHUTES R 13.	0028	AD		$\checkmark$

## **UMBRELLA CR HATCHERY**

#### MAKAH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Sockeye	Egg Tako	305,000	
Run:	NA	Egg Take		
Stock:	OZETTE LK (20)	Shipping	305,000	0
Brood Origin:	MIXED	Received	122,000	0
Integrated/Segregated:	INTEGRATED	Planted	122,000	268

## **Estimated Brood Data**

Egg Take Goal 305,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2024	12/2024	MAKAH NFH ON TSOO-YESS R	305,000		0	EGGS GREEN
Received	02/2025	02/2025	MAKAH NFH ON TSOO-YESS R	122,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	122,000	455.0	268	JUVENILE	UMBRELLA CR 20.0052		

Memo:

## UPR DUNGENESS ACC PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	c		101011000000
Run:	Spring	Egg Take		
Stock:	DUNGENESS R 18.0018	Shipping		
Brood Origin:	MIXED	Received	51,000	340
Integrated/Segregated:	INTEGRATED	Planted	50,000	1,000

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	HURD CR HATCHERY	51,000	150.0	340	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	50,000	50.0	1,000	JUVENILE	DUNGENESS R 18.0018		

## VAUGHN ES (VAUGHN)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fee Teles		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	<b>Release Site</b>		Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	CASE INLET	13K		

## **VOIGHTS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping	103,600	4,145
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	780,000	45,882

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or	Received S	Start Date	End Date	Facilit	y		Numbe	er FPP	Total Pounds	Life Stage	
Shipped	1	12/2023	12/2023	IMMA	ANUEL LUTHERAN	N (PIER)	15	50	0	EGGS EYED	1
Shipped	1	12/2023	12/2023	MT M	IEADOW ES(BUCK	LEY	25	50	0	EGGS EYED	)
Shipped	(	02/2025	02/2025	CLAR	KS CRK HATCHE	RY	3,20	<b>00</b> 22.0	145	JUVENILE	
Shipped	(	02/2025	02/2025	PUYA	ALLUP TRIBAL HA	TCHERY	100,00	<b>0</b> 25.0	4,000	JUVENILE	
<b>Estimated</b>	Release D	<u>Data</u>									
Start Date	End Date	Num Rel	ease	FPP	<b>Total Pounds</b>	Life Stage	<b>Release Site</b>		Mark	Туре Тад	gged
04/2025	04/2025	45	,000	17.0	2,647	JUVENILE	VOIGHT CR	10.0414	AD		✓
04/2025	04/2025	45	,000	17.0	2,647	JUVENILE	VOIGHT CR	10.0414			$\checkmark$
04/2025	04/2025	690	,000	17.0	40,588	JUVENILE	VOIGHT CR	10.0414	AD		

## **VOIGHTS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fac Take		
Run:	Fall	Egg Take	2,250,000	
Stock:	PUYALLUP R 10.0021	Shipping	852,500	521
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	1,600,000	20,000

#### **Estimated Brood Data**

**Egg Take Goal** 2,250,000

#### **Estimated Transfer Data**

Shipped or	Received	Start Date	End Date	Facilit	У		Number	FPP	Total Pounds	Life Sta	ge
Shipped		09/2024	10/2024	CLAR	RKS CRK HATCHE	RY	800,000		0	EGGS	GREEN
Shipped		02/2025	03/2025	WSU	RESEARCH (PUYA	ALLUP)	500	1,000.0	1	JUVEN	ILE
Shipped		04/2025	06/2025	POIN	T DEFIANCE NET	PENS	52,000	100.0	520	JUVEN	ILE
<b>Estimated</b>	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Туре	Tagged
05/2025	06/2025	1,400	,000	80.0	17,500	JUVENILE	VOIGHT CR 10	.0414	AD		
05/2025	06/2025	200	,000	80.0	2,500	JUVENILE	VOIGHT CR 10	.0414	AD		$\checkmark$

Memo: Program implementation is dependent on legal authority and funding. Up to 500 adult fish planted above Electron Diversion Dam. Up to 800,000 green eggs to Puyallup Tribe. Clarks Creek Hatchery ship up to 1,900,000. Excess fish shall be planted into a landlocked lake as stated in the HGMP. The WSU Research fish are sacrificed.

## **VOIGHTS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I	4 425 450	
Run:	NA	Egg Take	1,435,450	
Stock:	PUYALLUP R 10.0021	Shipping	516,525	4,464
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	780,000	45,882

### **Estimated Brood Data**

**Egg Take Goal** 1,435,450

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2024	12/2024	ALL SAINTS SCHOOL	250		0	EGGS EYED
Shipped	12/2024	12/2024	ANNIE WRIGHT SCHOOL	250		0	EGGS EYED
Shipped	12/2024	12/2024	BETHEL HS (SPANAWAY)	250		0	EGGS EYED
Shipped	12/2024	12/2024	CHARLES WRIGHT ACAD	100		0	EGGS EYED
Shipped	12/2024	12/2024	CITY OF FEDERAL WAY	6,225		0	EGGS EYED
Shipped	12/2024	12/2024	CONCORDIA LUTH SCHL	250		0	EGGS EYED
Shipped	12/2024	12/2024	ENUMCLAW HS	250		0	EGGS EYED
Shipped	12/2024	12/2024	FOSS WATERWAY SEAPORT	750		0	EGGS EYED
Shipped	12/2024	12/2024	KATHERINE G JOHNSON ES	100		0	EGGS EYED
Shipped	12/2024	12/2024	LYON ES (TACOMA)	250		0	EGGS EYED
Shipped	12/2024	12/2024	MEEKER MS (TACOMA)	10,000		0	EGGS EYED

## **VOIGHTS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024					Total #	Total Davida
Species:	Coho					Total #	Total Pounds
Run:	NA				Egg Take	1,435,450	
Stock:	PUYALL	UP R 10.0021			Shipping	516,525	4,464
Brood Origin:	MIXED				Received		
Integrated/Segregated	d: INTEGR	RATED			Planted	780,000	45,882
Shipped	12/2024	12/2024	MT MEADOW ES(BUCKLEY	250		0	EGGS EYED
Shipped	12/2024	12/2024	ORTING COOP	50,000		0	EGGS EYED
Shipped	12/2024	12/2024	ORTING SD (ORTING)	250		0	EGGS EYED
Shipped	12/2024	12/2024	PUYALLUP HS(PUYALLUP	500		0	EGGS EYED
Shipped	12/2024	12/2024	SPRING VALLEY SCHOOL	250		0	EGGS EYED
Shipped	12/2024	12/2024	SURPRISE LAKE PROJ	10,000		0	EGGS EYED
Shipped	12/2024	12/2024	TACOMA COMMUNITY COLLEGE	250		0	EGGS EYED
Shipped	12/2024	12/2024	THE SCIENCE AND MATH INSTITUTE	100		0	EGGS EYED
Shipped	12/2024	12/2024	WILKESON ES(WILKESON	250		0	EGGS EYED
Shipped	02/2025	03/2025	PUYALLUP HATCHERY	330,000	1,200.0	275	JUVENILE
Shipped	03/2025	04/2025	WSU RESEARCH (PUYALLUP)	2,000	1,200.0	2	JUVENILE
Shipped	02/2026	02/2026	CLARKS CRK HATCHERY	3,200	22.0	145	JUVENILE
Shipped	02/2026	02/2026	PUYALLUP TRIBAL HATCHERY	100,000	25.0	4,000	JUVENILE
Shipped	03/2026	04/2026	WSU RESEARCH (PUYALLUP)	800	19.0	42	JUVENILE

## **VOIGHTS CR HATCHERY**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	I		
Run:	NA	Egg Take	1,435,450	
Stock:	PUYALLUP R 10.0021	Shipping	516,525	4,464
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	780,000	45,882

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	45,000	17.0	2,647	JUVENILE	VOIGHT CR 10.0414	AD	
04/2026	04/2026	45,000	17.0	2,647	JUVENILE	VOIGHT CR 10.0414		$\checkmark$
04/2026	04/2026	690,000	17.0	40,588	JUVENILE	VOIGHT CR 10.0414	AD	

## WASHINGTON MS(OLYMPI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	I		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	MINTER CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	MOXLIE CR 13.0027		

## WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Faa Taka		
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	51,000	3,000
Integrated/Segregated:	INTEGRATED	Planted	50,000	4,167

## Estimated Brood Data

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	51,000	17.0	3,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	50,000	12.0	4,167	JUVENILE	WESTPORT BOAT BASIN	AD	$\checkmark$

## WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	105,000	6,176
Integrated/Segregated:	INTEGRATED	Planted	100,000	8,333

## Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	105,000	17.0	6,176	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	100,000	12.0	8,333	JUVENILE	WESTPORT BOAT BASIN	AD	

Memo: Program implementation is dependent on legal authority and funding. Port of Grays Harbor Cooperative.

## WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Con Talua		
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	51,000	3,000
Integrated/Segregated:	INTEGRATED	Planted	50,000	4,167

## Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	BINGHAM CR HATCHERY	51,000	17.0	3,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	50,000	12.0	4,167	JUVENILE	WESTPORT BOAT BASIN	AD	

## WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Teles		
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	105,000	6,176
Integrated/Segregated:	INTEGRATED	Planted	100,000	8,333

## Estimated Brood Data

Egg Take Goal

### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	BINGHAM CR HATCHERY	105,000	17.0	6,176	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	100,000	12.0	8,333	JUVENILE	WESTPORT BOAT BASIN	AD	

Memo: Program implementation is dependent on legal authority and funding. Port of Grays Harbor Cooperative.

## WHITE RIVER ACCL POND

PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

2024		Total #	Total Pounds
Chinook	E Talua		
Spring	Egg таке		
WHITE R 10.0031	Shipping		
MIXED	Received	800,000	5,333
INTEGRATED	Planted	750,000	7,500
	Chinook Spring WHITE R 10.0031 MIXED	Chinook Spring WHITE R 10.0031 Shipping MIXED Received	Chinook Spring WHITE R 10.0031 MIXED NUTE CRATER Received 800,000

## **Estimated Brood Data**

Egg Take Goal

## Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	04/2025	PUYALLUP HATCHERY	800,000	150.0	5,333	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	750,000	100.0	7,500	JUVENILE	WHITE R 10.0031	LV	

Memo:

## WHITE RIVER HATCHERY

#### MUCKLESHOOT TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species:	2023 Chinook			Total #	Total Pounds
Run: Stock: Brood Origin:	Spring WHITE R 10.0031 MIXED		Egg Take Shipping Received		
Integrated/Segregated:	INTEGRATED		Planted	55,000	6,875
Estimated Brood Data					
Estimated Transfer D Shipped or Received Sta	<u>ita</u> rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	55,000	8.0	6,875	JUVENILE	WHITE R 10.0031		

Memo:

## WHITE RIVER HATCHERY

#### MUCKLESHOOT TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Cee Telve		
Run:	Spring	Egg Take	1,650,000	
Stock:	WHITE R 10.0031	Shipping	900,000	0
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	700,000	8,750

## **Estimated Brood Data**

**Egg Take Goal** 1,650,000

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	10/2024	11/2024	PUYALLUP HATCHERY	900,000		0	EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	700,000	80.0	8,750	JUVENILE	WHITE R 10.0031		

Memo:

## WILKESON CREEK HATCHERY

#### PUYALLUP TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook		. o tal li	
Run:	Fall	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	400,000	2,000
Integrated/Segregated:	INTEGRATED	Planted	400,000	8,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	CLARKS CRK HATCHERY	400,000	200.0	2,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	400,000	50.0	8,000	JUVENILE	WILKESON CR 10.0432	AD	$\checkmark$

Memo:

## WILKESON ES(WILKESON

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	с т.		
Run:	NA	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	250	0
Integrated/Segregated:	INTEGRATED	Planted	225	0

## **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2024	12/2024	VOIGHTS CR HATCHERY	250		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	225	500.0	0	JUVENILE	WILKESON CR 10.0432		